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RE® | RKEQ [ XREG EEIES EEIES EEIES
RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EH% [HEGH) JTA/RAC[JAL/JTA 55,500 5% 27,750 52% 35,500 39%
RRECHA)=FRE [R’RECHA) |+ 3HBH) JAL/JTA| JTA 59,300 7% 29,650 54% 37,950 41%
KB (B FE) JAL JTA 59,300 16% 29,650 58% 37,950 46%
REF [HEGEH JTA [JAL/JTA 59,300 7% 29,650 54% 37,950 41%
pNUAGEES)) JTA JAL 59,300 16% 29,650 58% 37,950 46%
KB (7 =% 3 | KR (1) | R CRIA) JAL JAL 43,500 32% 21,750 66% 27,850 56%
S TIE N ESACRED JAL JAL 43,500 32% 21,750 66% 27.850 56%
LIR (B F i) JAL JAL 43,500 31% 21,750 65% 27,850 56%
K (BEFE) =23 Al | KBR (BEFA) 5| HLi% (3 F %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
S hE A LAt ) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KR (FFH =8I [ KBr (FFH % | 3R CHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
B  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
Khx (BE7E) =#BJIl | KBx (BE7E) % | 3R CHHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
BN  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
KR (FRFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
$iER  [HECHH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KR (FH) =5 [ KB (R F) %[ 3R CHEH) JAL JAL 40,900 33% 20,450 66% 26,200 57%
HLhF  [FECHE) JAL JAL 40,900 33% 20,450 66% 26,200 57%
NG LN HLE% [FECHE) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 41,300 23% 20,650 62% 26,450 51%
BHEER [HECHHE) JAL JAL 41,300 23% 20,650 62% 26,450 51%
KR (FH ==iR [ KB (f#F}) %[ 3R CHEH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
ZR%  [HECHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
pNUAGED) R ZR% [HECHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR (R F) =02k [ XBR (R % ] JAC JAC 20,500 35% 10,250 67% 13,100 58%
B3 = JAC JAC 20,500 35% 10,250 67% 13,100 58%
KB (D) =BF8|XR(FHF| ER JAC JAC 32,600 17% 16,300 59% 20,850 47%
BFEHE BRE JAC JAC 32,600 17% 16,300 59% 20,850 47%
KR (BFH == [ KB (fRFH) F[ 048 (BBIE;) JAL _[JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EOX [HEGH) JTA/RAC| JAL 43,000 17% 21,500 58% 27,500 47%
KR (BEE) == | KB (BE7E) F| P48 (BBIR) JAL/JTA|JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EH% [HEGH) JTA/RAC[JAL/JTA 43,000 17% 21,500 58% 27,500 47%
KR (FH =18 [ KB (RFH) F|H4E (BT JAL JTA 48,400 15% 24,200 58% 31,000 46%
AEHE [HEGER JTA JAL 48,400 15% 24,200 58% 31,000 46%
KR (BEE) =FR1E | KBx (REFE) %[ P48 (BBIR) JAL/JTA| JTA 48,400 15% 24,200 58% 31,000 46%
AEH [HEGER JTA [JAL/JTA 48,400 15% 24,200 58% 31,000 46%
LR (hE) =% 5| & EE (P &) F[4LIE (T i) JAL JAL 39,800 32% 19,900 66% 25,450 57%
ZEAFE R EFTR JAL JAL 39,800 32% 19,900 66% 25,450 57%
AHE (P ==& | £5E (hE) 4 G5 JTA _[JTA/RAC 44,000 22% 22,000 61% 28,150 50%
EH% [EGH) JTA/RAC| JTA 44,000 22% 22,000 61% 28,150 50%
AR (FE) =RiE[£5E () £ G5 JTA JTA 53,000 14% 26,500 57% 33,900 45%
AEH [HEGER) JTA JTA 53,000 14% 26,500 57% 33,900 45%
IR BT %) =/MA[ALIR i Fad) [ H X CHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
AR [FECHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
LI G T %) = Rel L1 [4L8% (T ) 3| R CHH) JAL JAL 35,000 45% 17,500 72% 22,400 65%
EIE ESACET:)) JAL JAL 35,000 45% 17,500 72% 22,400 65%
IR FT%) =L 8 [4LIR @ T 2| HR CHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
LEB% [FECHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
IR (B F#%) = IO | #LIR (B T %) | R CRH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
WOFEFE [HECHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
IR B Fi%) =HE R @ T % HR CHH) JAL JAL 37,400 42% 18,700 71% 23,950 63%
HEH [RRCRA) JAL JAL 37,400 42% 18,700 71% 23,950 63%
IR BT =B AR @ T 2| HE (CHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
mEH [FECHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
IR BT %) == [ALIR ) 2| HR CHE) JAL JAL 39,900 37% 19,950 68% 25,550 59%
=% [FECHHE) JAL JAL 39,900 37% 19,950 68% 25,550 59%
IR (BT %) == 5 ARG T ) % =R CRA) JAL JAL 41,400 36% 20,700 68% 26,500 59%
=A% [FECHH) JAL JAL 41,400 36% 20,700 68% 26,500 59%
FLIR (BT ) =L [ALIR G F#) | R CREA) JAL JAL 43,700 33% 21,850 67% 27,950 57%
WL ["ERCHEH) JAL JAL 43,700 33% 21,850 67% 27,950 57%
ALIR (BT 5% =L A [4LIR B F#%) 5| S CRIE) JAL JAL 42,000 40% 21,000 70% 26,900 62%
AMFE |RZECHEH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
LR BT %) = K5 LR F T % HR CHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
AH% [FECHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
IR BT %) =R [4LIR T 2| HR CHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
RB% [HECHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
IR GBI Fi%) = REAR [4LIR (T 2| RIR CHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
A% [FECHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
IR BT %) = =i [4LIR (T 2| R CHH) JAL JAL 44,000 37% 22,000 69% 28,150 60%
ER%E [RRCRA) JAL JAL 44,000 37% 22,000 69% 28,150 60%
AR FFR) =ERS[ ARG TR | RRCRAA) JAL JAL 49,000 32% 24,500 66% 31,350 57%
BRE% |RZE(HH) JAL JAL 49,000 32% 24,500 66% 31,350 57%
FLOR BT 2% = GBI | ALIR (BT F %) %[ R R (BIE) JAL _[JAL/JTA 51,200 31% 25,600 66% 32,750 56%
KB (BFE) JAL [JAL/JTA 51,200 32% 25,600 66% 32,750 57%
£EHE (PEH) JAL JTA 51,200 33% 25,600 66% 32,750 57%
128 JAL JTA 51,200 35% 25,600 67% 32,750 58%
HR (| F|RE (HH) JAL/JTA] JAL 51,200 31% 25,600 66% 32,750 56%
KB (BFE) JAL/JTA| JAL 51,200 32% 25,600 66% 32,750 57%
£EHE (PEH) JTA JAL 51,200 33% 25,600 66% 32,750 57%
128 JTA JAL 51,200 35% 25,600 67% 32,750 58%
12 =% 3l [EEEINEVACRT:) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
i FE | RECHEH) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (i T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
==l BE% [FECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
BII%  [FECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
1= =2 BE% [FECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
SipEs  [HECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
'l =%k BE% [FECHH) JAL JAL 52,100 31% 26,050 65% 33,350 56%
HHERE  [FECHE) JAL JAL 52,100 31% 26,050 65% 33,350 56%
12 =BKeE BE% [FECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
BHER [HFECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
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X #ad | BHBO A= BEE EFEH BEE
e 717 BEA g | g BEM e | gy BEM s
REO® | RKEQ | XREG EEIES EEIES EEIES
ER=F% BER [FECHH) JAL JAL 42,900 36% 21,450 68% 27.450 59%
AR (EFH JAL JAL 42,900 27% 21,450 63% 27,450 53%
B S ESACED) JAL JAL 42,900 36% 21,450 68% 27,450 59%
KR (EFH JAL JAL 42,900 27% 21,450 63% 27,450 53%
B ==iR BE% [FECHH) JAL JAL 42,400 36% 21,200 68% 27,150 59%
ZR% [HECHH) JAL JAL 42,400 36% 21,200 68% 27,150 59%
EE=1t5 [ e I PN A=) JAL JAL 41,400 27% 20,700 64% 26,500 54%
&R [ KRURFD JAL JAL 41,400 27% 20,700 64% 26,500 54%
BE=8[A BE%E [HER(CHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
MEFEX [REREH JAL JAL 42,300 31% 21,150 65% 27,050 56%
KR (EFH JAL JAL 42,300 23% 21,150 61% 27,050 51%
2@ =L BER [FEECHH) JAL JAL 37,000 33% 18,500 66% 23,700 57%
KR (EFH JAL JAL 37,000 31% 18,500 66% 23,700 56%
W% [RRECRA) JAL JAL 37,000 33% 18,500 66% 23,700 57%
KR (EFH JAL JAL 37,000 31% 18,500 66% 23,700 56%
=R =" BE% [ X (UFRD JAL JAL 37,000 27% 18,500 64% 23,700 53%
FR% [ KBRURFD JAL JAL 37,000 27% 18,500 64% 23,700 53%
2=/ B|EE [HER(HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
MMAFE [RHECHE) JAL JAL 36,800 37% 18,400 69% 23,550 60%
wER=2= BRI RE3) JTA [JTA/RAC 38,000 16% 19,000 58% 24,300 46%
EH% [EGH) JTA/RAC]  JTA 38,000 16% 19,000 58% 24,300 46%
RBE=FH1E e A b - 161 ) JTA JTA 38,700 23% 19,350 62% 24,750 51%
AEH [HEER JTA JTA 38,700 23% 19,350 62% 24,750 51%
Es e AT |HIREFTR) JAL JAL 30,500 39% 15,250 69% 19,500 61%
e  [+REFHFH) JAL JAL 30,500 39% 15,250 69% 19,500 61%
A =R Zimp % | RECHEH) JAL JAL 41,200 35% 20,600 67% 26,350 58%
MM [HECHH) JAL JAL 41,200 35% 20,600 67% 26,350 58%
i Al = RE Ll Zimp % | RECHEH) JAL JAL 45,000 37% 22,500 68% 28,800 60%
EIE ESACET:)) JAL JAL 45,000 37% 22,500 68% 28,800 60%
LAl =HE ZimpE | RECHEH) JAL JAL 43,500 40% 21,750 70% 27,850 62%
HEH [RRCRA) JAL JAL 43,500 40% 21,750 70% 27,850 62%
i A =l i A R (CHH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
WL [HERCHH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
JENTER A BII%  [FECHH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
M [HRECHH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
TBI=ML MBI [HECHH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
EIE ESACET:)) JAL JAL 45,000 35% 22,500 68% 28,800 59%
BINI=HE MBI  [FHECHH) JAL JAL 42,500 40% 21,250 70% 27,200 62%
EX |[ERCRHA) JAL JAL 42,500 40% 21,250 70% 27,200 62%
TENI=#211 MBI  [HECHH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
WL [FRERCHEH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
SRR =/ fipEs  [HECHHE) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMAFE R CHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
1B =Rl LI gipEse  [HECHHE) JAL JAL 45,000 35% 22,500 67% 28,800 58%
FELFE [EECRA) JAL JAL 45,000 35% 22,500 67% 28,800 58%
SR =HE fipEs  [HECHHE) JAL JAL 43,500 38% 21,750 69% 27,850 60%
EXx |[ERCRA) JAL JAL 43,500 38% 21,750 69% 27,850 60%
gipg =421 HiEFE [HECHH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
WL [FECHHE) JAL JAL 49,500 30% 24,750 65% 31,700 55%
HIE=/M2 HHFE [HERCHEH) JAL JAL 39,600 34% 19,800 67% 25,350 58%
MR [EE(CHHE) JAL JAL 39,600 34% 19,800 67% 25,350 58%
HIE=RL HLEF  [FECHHE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
EIE ESACET:)) JAL JAL 45,000 34% 22,500 67% 28,800 58%
HLh=HE HEE [ERERCHH) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HEH [RRCHA) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HIL=H10 HHFE [HERCHEH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
WL [HERCHEH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
B =/ R BHEER [HECHH) JAL JAL 34,100 36% 17,050 68% 21,800 59%
AR [FECHE) JAL JAL 34,100 36% 17,050 68% 21,800 59%
B =L BHEER [HECHH) JAL JAL 44,000 28% 22,000 64% 28,150 54%
EE ESACET:)) JAL JAL 44,000 28% 22,000 64% 28,150 54%
HEE=HE BHAER [HECHHE) JAL JAL 42,500 32% 21,250 66% 27,200 57%
EX |[ERCRHA) JAL JAL 42,500 32% 21,250 66% 27,200 57%
BEE=H1L BHEER [HECHHE) JAL JAL 48,400 24% 24,200 62% 31,000 51%
WL [FECHH) JAL JAL 48,400 24% 24,200 62% 31,000 51%
BEEE=dL M BHEER  [HECHHE) JAL JAL 40,500 41% 20,250 70% 25,900 62%
LA R (CHH) JAL JAL 40,500 41% 20,250 70% 25,900 62%
HEE=X% BHEER  [HECHH) JAL JAL 40,500 40% 20,250 70% 25,900 61%
A% [FECHH) JAL JAL 40,500 40% 20,250 70% 25,900 61%
HEE=RI& BHEER [HECHH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
RB% [HECHH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
BEE=FREA BEER  [FECHHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
A% [FECHH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=25 BEER [HECHHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
ER%E [RRCRA) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=ERS BHEER  [FECHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
BERE HR CHHE) JAL JAL 43,000 39% 21,500 69% 27,500 61%
BEH=/M EH%E  [ER(EH) JAL JAL 32,000 38% 16,000 69% 20,500 61%
AR [HEECHE) JAL JAL 32,000 38% 16,000 69% 20,500 61%
EH=RLL EHA%  [HAECHH) JAL JAL 36,000 40% 18,000 70% 23,050 62%
FELFE [EHECRA) JAL JAL 36,000 40% 18,000 70% 23,050 62%
EH=LE EHA%  [FHECHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
LEB% [FECHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
HEH=ILOFE EH%E [ER(EH) JAL JAL 39,000 40% 19,500 70% 24,950 61%
WOFERF [HECHE) JAL JAL 39,000 40% 19,500 70% 24,950 61%
EH=HE HH =R CRE) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAL JAC 36,800 34% 18,400 67% 23,550 58%
HEH [ERCRA) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAC JAL 36,800 34% 18,400 67% 23,550 58%
EH=RE BEHA%  [FECHH) JAL JAL 34,000 43% 17,000 71% 21,750 64%
mE%E [HER(CHHE) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EH=mi EH%E  [ER(EH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
=2 [HRERCHEH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
EH=2H EH%E  [ER(EH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
2% [FRERCEH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
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X #ad | BHBO A= BEE EFEH BEE
e 717 BEA g | g BEM e | gy BEM s
REO® | RKEQ | XREG EEIES EEIES EEIES
EHE=L EH%E  [ERR(EH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
Wl [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
BEHER=JdAM EH%E  [ERR(EH) JAL JAL 39,000 42% 19,500 71% 24,950 63%
A |[HRERCHHA) JAL JAL 39,000 42% 19,500 71% 24,950 63%
EH=K» EHA%  [FECHH) JAL JAL 39,000 41% 19,500 70% 24,950 62%
A% [FECHH) JAL JAL 39,000 41% 19,500 70% 24,950 62%
EH=RB B L ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAL 42,000 33% 21,000 66% 26,900 57%
RE% [HECHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAL 42,000 33% 21,000 66% 26,900 57%
EH=EX EHA%  [FAECHH) JAL JAL 40,500 39% 20,250 70% 25,900 61%
AR [HECHH) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
=24 B ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
AR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
R ESACET:)) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
EH=ERS B ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
AR (EFH JAL JAC 42,000 34% 21,000 67% 26,900 58%
BREX |[RE(HEH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
AR (EFH JAC JAL 42,000 34% 21,000 67% 26,900 58%
ZIR=/ ZR%  [HECHH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
MRFE [FECHE) JAL JAL 32,000 38% 16,000 69% 20,500 60%
=iR=EW ZiR%  [HECHH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
EE ESACET:)) JAL JAL 36,000 40% 18,000 70% 23,050 61%
ZR=IE% ZiR%  [HECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
LEB% [FECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
ZR=WOFE ZR¥ |[®RECEHA) JAL JAL 39,000 39% 19,500 70% 24,950 61%
FR CHH) JAL JAL 39,000 39% 19,500 70% 24,950 61%
ZIR=HZE £ |RE(HEH) JAL JAL 37,900 38% 18,950 69% 24,250 60%
£ [EHEFECRMA) JAL JAL 37,900 38% 18,950 69% 24,250 60%
ZR=#5 t  [RRCHA) JAL JAL 34,000 42% 17,000 71% 21,750 63%
£ |RECHEH) JAL JAL 34,000 42% 17,000 71% 21,750 63%
ZiR=@1 £ [EHEFECRMA) JAL JAL 36,000 39% 18,000 69% 23,050 61%
£ |RECHH) JAL JAL 36,000 39% 18,000 69% 23,050 61%
ZiR==4H £ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
£ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
ZiR=#1 £ |RECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
£ |RECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
ZiR=dchm £ [EHFECRMA) JAL JAL 39,000 41% 19,500 71% 24,950 62%
FR CHHE) JAL JAL 39,000 41% 19,500 71% 24,950 62%
ZIR=X% £ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
£ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
ZiR=R& £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
£ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
ZIR=RR £ |RECHH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRMA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZiR=E& £ |RECHH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRMA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZR=ERS £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
HR CHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
FE=/ PEE [FRRERCEH JAL JAL 30,900 34% 15,450 67% 19,800 57%
IR E S-A€EL:)) JAL JAL 30,900 34% 15,450 67% 19,800 57%
FE =L PEEX [FRERCEH) JAL JAL 32,000 41% 16,000 71% 20,500 63%
FELFE  [HECRA) JAL JAL 32,000 41% 16,000 71% 20,500 63%
MHE=L5 PEE [FERCEH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
LEB% [FECHH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
#EA=LAFE PEEX [FRER(CEH) JAL JAL 37,000 38% 18,500 69% 23,700 60%
WOFERFE R CHE) JAL JAL 37,000 38% 18,500 69% 23,700 60%
MHE=HE AR [HECHH) JAL JAL 33,100 41% 16,550 70% 20,500 63%
KR (EFH JAL JAC 33,100 37% 16,550 68% 20,500 61%
HE R (CHH) JAL JAL 33,100 41% 16,550 70% 20,500 63%
KR (EFH JAC JAL 33,100 37% 16,550 68% 20,500 61%
MHE=ES TR [EECHH) JAL JAL 32,000 41% 16,000 70% 20,500 62%
mE%E [HER(CHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
MHA=E1 PEE [FRERCEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
2% [HERCHEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
MHEA=2% PEE [FRRER(CEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
=A% [FECHH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
FE=#L BEE [FRERCEH) JAL JAL 36,000 36% 18,000 68% 23,050 59%
WL [FECHH) JAL JAL 36,000 36% 18,000 68% 23,050 59%
FE=dt M PEE [ERER(CEH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
LAME |RZECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
ME=X% PEE [FRRERCEH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
X% [HECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (EFH JAL JAL 37,000 29% 18,500 65% 23,700 55%
MHE=RI& AR [HECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (EFH JAL JAL 39,000 34% 19,500 67% 24,950 57%
RE% [HECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (EFH JAL JAL 39,000 34% 19,500 67% 24,950 57%
FHE=REX AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (FH JAL JAL 39,000 31% 19,500 65% 24,950 56%
AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
MEH==I& AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (FH JAL JAL 39,000 31% 19,500 65% 24,950 56%
BEFE [RRECRA) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
MHE=ERS BEEX [ERCHH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAL JAC 40,500 32% 20,250 66% 25,900 57%
EREH [HECHH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAC JAL 40,500 32% 20,250 66% 25,900 57%
Wiz =/ W% |[RECRA) JAL JAL 29,600 26% 14,800 63% 18,950 53%
MMAFE [HRECHH) JAL JAL 29,600 26% 14,800 63% 18,950 53%
IRz =R W% |[RECRA) JAL JAL 31,000 36% 15,500 68% 19,850 59%
EE ESACET:)) JAL JAL 31,000 36% 15,500 68% 19,850 59%
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st R FAEEIS| INRHBIEHREIS] SAREANVERFRIRMEES]
B A #ad | BHBO A= BEE BEE EFEH
=T =ms T orma] /177 | =5 %= 253 /1-1 | BEA 253 /11 | BR &
REO® | RKEQ | XREG EEIES EEIES EEIES
W =55 W% [RECRA) JAL JAL 32,000 35% 16,000 67% 20,500 58%
LEB% [FECHH) JAL JAL 32,000 35% 16,000 67% 20,500 58%
Wiz =1LOFER iR % |[RECRA) JAL JAL 36,000 32% 18,000 66% 23,050 56%
WOFERFE [ R CHE) JAL JAL 36,000 32% 18,000 66% 23,050 56%
WR=H=E W% [RRECRA) JAL JAL 32,000 35% 16,000 68% 20,500 59%
KR (EFH JAL JAC 32,000 37% 16,000 69% 20,500 60%
HEH [ERRCRA) JAL JAL 32,000 35% 16,000 68% 20,500 59%
KR (EFH JAC JAL 32,000 37% 16,000 69% 20,500 60%
=% W% [RECRA) JAL JAL 31,000 35% 15,500 68% 19,850 58%
mEH [FECHH) JAL JAL 31,000 35% 15,500 68% 19,850 58%
Wi =mn W% [EFECRA) JAL JAL 31,000 35% 15,500 68% 19,850 58%
2% [HERCHEH) JAL JAL 31,000 35% 15,500 68% 19,850 58%
iR =m&% W% |[RECRA) JAL JAL 32,000 35% 16,000 68% 20,500 59%
Wiz =#xL W% |[RECRA) JAL JAL 32,000 36% 16,000 68% 20,500 59%
Wl [FECHHE) JAL JAL 32,000 36% 16,000 68% 20,500 59%
Wiz =4t A W% |[RECRA) JAL JAL 37,000 33% 18,500 66% 23,700 57%
wk=X% W% |[RECRA) JAL JAL 36,000 33% 18,000 67% 23,050 57%
AH% [FECHH) JAL JAL 36,000 33% 18,000 67% 23,050 57%
Wi =Ki& W% |[RECRA) JAL JAL 39,000 32% 19,500 66% 24,950 56%
RB% [HFECHH) JAL JAL 39,000 32% 19,500 66% 24,950 56%
Wz =HEK W% [RRECRA) JAL JAL 37,000 33% 18,500 66% 23,700 57%
KR (EFH JAL JAL 37,000 33% 18,500 67% 23,700 57%
AR [HECHH) JAL JAL 37,000 33% 18,500 66% 23,700 57%
KR (EFH JAL JAL 37,000 33% 18,500 67% 23,700 57%
W =& W% [RRECRA) JAL JAL 37,000 33% 18,500 66% 23,700 57%
KR (EFH JAL JAL 37,000 33% 18,500 67% 23,700 57%
BEFE [RRECRA) JAL JAL 37,000 33% 18,500 66% 23,700 57%
AR (EFH JAL JAL 37,000 33% 18,500 67% 23,700 57%
W =ERSE W% [RRECRA) JAL JAL 39,000 32% 19,500 66% 24,950 56%
AR (EFH JAL JAC 39,000 34% 19,500 67% 24,950 57%
EREH [HECHH) JAL JAL 39,000 32% 19,500 66% 24,950 56%
KR (FEFH JAC JAL 39,000 34% 19,500 67% 24,950 57%
e =HE wEFE [ XREREEFD JAL JAC 32,000 36% 16,000 68% 20,500 59%
HEHX [ KREEF JAC JAL 32,000 36% 16,000 68% 20,500 59%
g =X &R [ KEREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
K% | KREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
i =Rig EFE [ KEREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
RIBFE [ KREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
s =HReAR &R [ KEREEFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
REAFE [ KR(EFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
& ==& &R [ KEREEFD JAL JAL 39,000 28% 19,500 64% 24,950 54%
=g [ XR(EF JAL JAL 39,000 28% 19,500 64% 24,950 54%
me=ERrRS &R [ XREREEFD JAL JAC 39,000 32% 19,500 66% 24,950 57%
BRE KR (EFH JAC JAL 39,000 32% 19,500 66% 24,950 57%
FR=HE FRR [ KERURFD JAL JAC 29,000 40% 14,500 70% 18,550 62%
ELPNTACGES)) JAC JAL 29,000 40% 14,500 70% 18,550 62%
FR=K FR% [ KERURFD JAL JAL 34,000 30% 17,000 65% 21,750 55%
X% | KREEFD JAL JAL 34,000 30% 17,000 65% 21,750 55%
FR=RIE FR% [ KERURFD JAL JAL 37,000 32% 18,500 66% 23,700 57%
RIBFE [ XREEFD JAL JAL 37,000 32% 18,500 66% 23,700 57%
FR=EEX FR% [ KBRURFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
REAFE [ KR(EFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=E4 FR% [ KERURFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
EiEFE [ XR(EF JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=ERS R [ KBRUFRFD JAL JAC 37,000 34% 18,500 67% 23,700 58%
BERS KR (EFH JAC JAL 37,000 34% 18,500 67% 23,700 58%
M= IR E S-ACEL:)) JAL JAL 30,200 42% 15,100 71% 19,350 63%
FELFE [EECRA) JAL JAL 30,200 42% 15,100 71% 19,350 63%
IMA=TRE MMAFE [RHECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
LEB% [FECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
MY =LA FE IR S-A€EL:)) JAL JAL 34,700 39% 17,350 69% 22,200 61%
WOFEF [HECHE) JAL JAL 34,700 39% 17,350 69% 22,200 61%
IMNR=HE IR E S-A€EL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
HEH [RRCRA) JAL JAL 31,500 41% 15,750 70% 20,150 62%
INR=TES N7 E GACET:)) JAL JAL 29,500 43% 14,750 71% 18,900 63%
EEH [FECHH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
INR=E IR E S-A€EL:)) JAL JAL 29,600 42% 14,800 71% 18,950 63%
2% [HER(CHEH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
M=% IR E S-ACEL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
=A% [FECHH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
MEY=HAL MRF [FEECHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
WL [FECHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
Y=L IMAFE [FHRECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
e R (CHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IMR=K5 IR E S-ACEL:)) JAL JAL 35,700 38% 17,850 69% 22,850 60%
A% [FECHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
MNR=RIE IR E S-1€EL:)) JAL JAL 39,000 36% 19,500 68% 24,950 59%
RB% [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
INR=FER MM [FHRECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
A% [HFECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
INR=FIF IR E S-1€EL:)) JAL JAL 36,800 37% 18,400 69% 23,550 60%
ER%E [RRECRA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
INR=FER IR E S-1€EL:)) JAL JAL 39,000 36% 19,500 68% 24,950 59%
ERE FR CHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMY=FTH NS [ (RER) JTA [JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EaHE [FEGR JTA/RAC| JTA 55,500 5% 27,750 52% 35,500 39%
IMNR=F1E MNFE 8 (FRER) JTA JTA 59,300 7% 29,650 54% 37,950 41%
AiEHE [HEGER) JTA JTA 59,300 7% 29,650 54% 37,950 41%
fL=&% EE €T JTA [JTA/RAC 43,000 17% 21,500 58% 27,500 47%
BEO% GRS JTA/RAC|  JTA 43,000 17% 21,500 58% 27,500 47%
[EITEE=E] G B TETE) JTA JTA 48,400 15% 24,200 58% 31,000 46%
AEH [HEER JTA JTA 48,400 15% 24,200 58% 31,000 46%
BH=EE = 12E JAL JAC 27,700 36% 13,850 68% 17,750 59%
EGES 12E JAC JAL 27,700 36% 13,850 68% 17,750 59%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 12,550 53% 12,550 53%
i ok RER JAC JAC 19,650 27% 12,550 53% 12,550 53%
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et HRIRBEE INRAR R RMEIS| SIREMNLERIRBEIE]
X #ad | BHBO A= BEE EFEH BEE
e 717 BEA g | g BEM e | gy BEM s

REO® | KEQ | XREG EEIES EEIES EEIES
BERE=HKRE| EEXEH Ea JAC JAC 16,800 43% 12,650 57% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 12,650 57% 12,650 57%
BN =F & R4 (GRER) H| 3R CHHE) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
EHA%  [HAECHHE) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPRB(INER) ==IR 48 (FRER) % | 3R CHEH) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
=] R CHH) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPB(INER) =FAE [h48 (BRER) F | 3R CHEH) JAL/JTA] JAL 45,000 31% 22,500 66% 28,800 56%
AR [FECHH) JAL _[JAL/JTA 45,000 31% 22,500 66% 28,800 56%
SPHB(INER) = LT [Sh48 (ARER) 5| 3R CHE) JAL/JTA] JAL 45,000 24% 22,500 62% 28,800 51%
I E S ACET:)) JAL _[JAL/JTA 45,000 24% 22,500 62% 28,800 51%
ARBONE) =le MEGRE |  EE JTA JAL 45,200 36% 22,600 68% 28,950 59%
& 5 128 JAL JTA 45,200 36% 22,600 68% 28,950 59%
SPAB(IRER) =/ SR8 (ARER) | 3R CHE) JAL/JTA] JAL 40,900 35% 20,450 67% 26,200 58%
AR [HECHE) JAL _[JAL/JTA 40,900 35% 20,450 67% 26,200 58%
HERB) =nM (TEGRX] & JTA JAL 31,500 38% 15,750 69% 20,150 61%
=] & JAL JTA 31,500 38% 15,750 69% 20,150 61%
ShEE(RER) =L [(MEGERIR] & JTA JAC 38,000 21% 19,000 61% 24,300 50%
FALLFE 12 JAC JTA 38,000 21% 19,000 61% 24,300 50%
HR(PHE) =#XXS|ARCHIA)%| ERS JAL JAC 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
EBEXER | ERS JAC JAL 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
ER(CABE)=ERB[Em(FA)%] ERSE JAL JAC 43,950 30% 22,000 65% 28,150 55%
BERE JAL JAC 43,950 21% 22,000 61% 28,100 50%
EREH BRS JAC JAL 43,950 30% 22,000 65% 28,150 55%
BER(CABR) =#zB[ZR(FHE) %] ERS JAL JAC 45,050 31% 22,550 66% 28,850 56%
BERE JAL JAC 45,900 23% 22,950 61% 29,400 51%
[FFAEES ERS JAC JAL 45,050 31% 22,550 66% 28,850 56%
BERE JAC JAL 45,900 23% 22,950 61% 29,400 51%
HRHE) =k RH|ERCIA) | ERS JAL JAC 46,950 31% 23,500 66% 30,050 56%
HKRERE | ERS JAC JAL 46,950 31% 23,500 66% 30,050 56%
JAC JAL 46,950 25% 23,500 63% 30,050 52%
RRCAA) =5 JAL JAC 47,350 32% 23,700 66% 30,300 57%
JAC JAL 47,350 32% 23,700 66% 30,300 57%
JAC JAL 47,300 28% 23,650 64% 30,250 54%
BEKE | JAC JAC JAL | 47.300 35% 23,650 68% 30,250 59%
KR (D) =BEAB[ AR (B E| ERS JAC JAC 38,550 23% 19,300 61% 24,700 51%
BEAEHR | BERE JAC JAC 38,550 23% 19,300 61% 24,700 51%
KR (B =ERB|XR(FM %] ERSE JAC JAC 39,000 24% 19,500 62% 25,000 51%
BERE JAL JAC 39,000 15% 19,550 57% 24,950 45%
EREH ERS JAC JAC 39,000 24% 19,500 62% 25,000 51%
BERE JAC JAL 39,000 15% 19,550 57% 24,950 45%
KR (B =B XRFM %] ERS JAC JAC 40,100 25% 20,050 63% 25,700 52%
FFAEES ERS JAC JAC 40,100 25% 20,050 63% 25,700 52%
BERE JAC JAL 41,000 17% 20,500 59% 26,250 47%
KR () =hk RE | KBR R | ER JAC JAC 41,650 26% 20,850 63% 26,700 53%
HKBEHE | BERE JAC JAC 41,650 26% 20,850 63% 26,700 53%
KRB =5# [KR(FFH%] ERS JAC JAC 42,050 27% 21,050 64% 26,950 53%
S5 BRES JAC JAC 42,050 27% 21,050 64% 26,950 53%
BE=EXXE BE % BERE JAC JAC 30,800 26% 15,400 63% 19,700 53%
EBEAEH | ERS JAC JAC 30,800 26% 15,400 63% 19,700 53%
ER=ER5 [ EEXE JAC JAC 32,250 22% 16,150 61% 20,600 50%
EREH BRES JAC JAC 32,250 25% 16,150 62% 20,600 52%
ER=z5 [EEES ERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
[EFAEES ERS JAC JAC 32,350 29% 16,200 64% 20,700 54%
BERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BE=4KBE 1B BERE JAC JAC 33,900 30% 16,950 65% 21,700 55%
HKRER | ERS JAC JAC 33,900 30% 16,950 65% 21,700 55%
BELE JAC JAC 33,900 31% 16,950 65% 21,700 56%
ER=5#H [ ERE JAC JAC 34,300 31% 17,150 65% 21,950 56%
iR PN JAC JAC 34,300 34% 17,150 67% 21,950 58%
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JAL/JTA/JAC/RAC
FFEAT:5/25TIE

it EEFE 3] INREFRI M ES| SREA NE R FHEEIS]
B o | REH 778878 |[E—0M| o |7/68/8 E—OM| oo | 7/88/1 [E—OW| Lo
XK@ | KE@ | Xm0 |8/17-8/31| EI51E " 8/17- | BIBIE R 8/17-8/31 EI3IE A

RRECHB) =2% |BRECHH) %| 4 (GR8) JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
= S8 (IBER) JTA/RAC[JAL/JTA 57,700 6% 28,850 53% 35,500 42%
RRCPHE) =R |[ERCHA)F| & FH) JAL/JTA| JTA 61,500 8% 30,750 54% 37,950 43%
A B (BEE) JAL JTA 61,500 18% 30,750 59% 37,950 50%
REHX  |MEGERH) JTA [JAL/JTA 61,500 8% 30,750 54% 37,950 43%
ABR (B8) JTA JAL 61,500 18% 30,750 59% 37,950 50%
KB (71 =23 | K MR (5 5| R (FIE) JAL JAL 45,500 33% 22,750 66% 27,850 59%
ZimplFE | ’ECHHE) JAL JAL 45,500 33% 22,750 66% 27,850 59%
LR BT F %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
Khx (BETE) =% Bl | KPR (BHFE) F& [ 4LiR B Fik) JAL JAL 45,500 32% 22,750 66% 27,850 58%
ZERIF (AL FTR) JAL JAL 45,500 32% 22,750 66% 27,850 58%
KB (FFH) =RJII | RBR ((FFD) 3[R (CFIHA) JAL JAL 43,100 35% 21,550 67% 26,200 60%
JENTE R ES-ACET=:)) JAL JAL 43,100 35% 21,550 67% 26,200 60%
KB (B8TE) =ABJIl | ABR (B87E) 5| () JAL JAL 43,100 35% 21,550 67% 26,200 60%
JENTE N ES-ACET=:)) JAL JAL 43,100 35% 21,550 67% 26,200 60%
KB (D) =8Bk | X8R (R} 3[R (CFIHA) JAL JAL 43,600 34% 21,800 67% 26,500 60%
S L A CE=:)) JAL JAL 43,600 34% 21,800 67% 26,500 60%
KB (D) =%IE | XBRFFD) [ RE () JAL JAL 42,300 35% 21,150 68% 26,200 60%
wILFE  |FERCHHE) JAL JAL 42,300 35% 21,150 68% 26,200 60%
ABx (B878) =ik HIAFE  [EE(CHHA) JAL JAL 42,300 35% 21,150 68% 26,200 60%
KR (5 =@ | KBR (FF) 5| R R (FIHA) JAL JAL 44,000 24% 22,000 62% 26,450 55%
BEERE [EFE(CHHA) JAL JAL 44,000 24% 22,000 62% 26,450 55%
KR (FH ==iR | KB (FF) % | HR CHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
R%  |HECHE) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KR (B R B EVACE:)) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KB (D) =12k | KBR(FFDFE| HE JAC JAC 20,500 37% 10,250 69% 13,100 60%
ECE HE JAC JAC 20,500 37% 10,250 69% 13,100 60%
KR () =BFS[XABREFME| BERS JAC JAC 32,600 22% 16,300 61% 20,850 50%
BEFER ERS JAC JAC 32,600 22% 16,300 61% 20,850 50%
KPR (D) == | KRR [ 48 R 5) JAL _[JTA/RAC 46,000 16% 23,000 58% 27,500 50%
EhE [ARGEHR) JTA/RAC| JAL 46,000 16% 23,000 58% 27,500 50%
ABR (B8FE) == | X8R (B9FE) 3[448 (B 8) JAL/JTA[JTA/RAC 46,000 16% 23,000 58% 27,500 50%
B T LEF) JTA/RAC|JAL/JTA 46,000 16% 23,000 58% 27,500 50%
KBR (D) =R\ | XBRUFFD 48 B B) JAL JTA 50,600 16% 25,300 58% 31,000 49%
RIEFK  [HE(ERER) JTA JAL 50,600 16% 25,300 58% 31,000 49%
ABR (B87G) =FH1E | XMk (BIFE) 5[4 4E (B H) JAL/JTA] _JTA 50,600 16% 25,300 58% 31,000 49%
RIEFK M8 (FRER) JTA [JAL/JTA 50,600 16% 25,300 58% 31,000 49%
LR (b)) =% E 5 | & EE h#f) R[4k FHF &) JAL JAL 42,000 33% 21,000 67% 25,450 60%
2 Bl FE IR (3 T 5) JAL JAL 42,000 33% 21,000 67% 25,450 60%
2HE (Fi) ==& |&EE ) %[ H4E G5 JTA [JTA/RAC 47,000 21% 23,500 60% 28,150 53%
Eh%E [AREHR) JTA/RAC| JTA 47,000 21% 23,500 60% 28,150 53%
ZHE (FE) =FiE|[2HE () %448 (FH) JTA JTA 55,200 15% 27,600 57% 33,900 48%
RIEFK MR (RER) JTA JTA 55,200 15% 27,600 57% 33,900 48%
FLIR (B F %) =/MA[ALIR B F8%) %[ = CRHE) JAL JAL 36,000 40% 18,000 70% 21,450 64%
IMAK R (CHHA) JAL JAL 36,000 40% 18,000 70% 21,450 64%
FLIR (B F %) =R [ALIR T8 %[ =z CRE) JAL JAL 37,000 46% 18,500 73% 22,400 67%
L% |[RRCRA) JAL JAL 37,000 46% 18,500 73% 22,400 67%
IR (T Fm) = LB [ALIRFHTH) %[ HFE CAE) JAL JAL 38,000 45% 19,000 72% 23,050 66%
LE% |HER(CHHA) JAL JAL 38,000 45% 19,000 72% 23,050 66%
IR (BT F %) = WO T8 [ 4LIR B F %) % S CH ) JAL JAL 43,000 41% 21,500 70% 26,900 63%
WOFERFE R CHE) JAL JAL 43,000 41% 21,500 70% 26,900 63%
IR (T Fm) =HE[ALREFHTH) X[ HF CRAE) JAL JAL 40,000 42% 20,000 71% 23,950 65%
HER |[ERHA) JAL JAL 40,000 42% 20,000 71% 23,950 65%
FLIR (T Fm) =B B[R FHTH) %[ HFE CAE) JAL JAL 41,000 39% 20,500 70% 24,950 63%
BEX |HER(CHH) JAL JAL 41,000 39% 20,500 70% 24,950 63%
FLIR (B F ) == [ALIR @ T8 %[ HE CAHE) JAL JAL 42,000 38% 21,000 69% 25,550 62%
B |[FER(CHHA) JAL JAL 42,000 38% 21,000 69% 25,550 62%
FLIR (B F %) == M| ALIR @ F %) %[ = CRAE) JAL JAL 44,000 36% 22,000 68% 26,500 62%
[=EE L A CE]=:)) JAL JAL 44,000 36% 22,000 68% 26,500 62%
AL (BT %) = KL [ ALOR B F %) %[ SR CRIE) JAL JAL 46,000 34% 23,000 67% 27,950 60%
PN B S-ACET=:)) JAL JAL 46,000 34% 23,000 67% 27,950 60%
HLIR (F ) =AU [ALIR G F8%) %[ S CRH) JAL JAL 45,000 40% 22,500 70% 26,900 64%
JAMFE |FHRCHE) JAL JAL 45,000 40% 22,500 70% 26,900 64%
FLIR (B F %) =K5 [ALIR FHF8) %[ HFE CAHE) JAL JAL 45,000 39% 22,500 69% 26,900 63%
AR% |HR(CHH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
FLIR (T F ) =RB[ALIR @ T8 %[ = CAE) JAL JAL 47,000 39% 23,500 69% 28,150 63%
RBE% |[HRCHHA) JAL JAL 47,000 39% 23,500 69% 28,150 63%
FLIR (B F %) =BEA[ALIR 5% %[ HF CRAH) JAL JAL 46,000 38% 23,000 69% 27,500 63%
A% |[HR(CHHA) JAL JAL 46,000 38% 23,000 69% 27,500 63%
FLIR (B F %) == 5[ ALIR T8 %[ = CRAHE) JAL JAL 47,000 37% 23,500 68% 28,150 62%
ElER |[EECHA) JAL JAL 47,000 37% 23,500 68% 28,150 62%
HLIR (FT T %) = ER B[ AL B T %) %[ s CRE) JAL JAL 52,000 32% 26,000 66% 31,350 50%
BRESH |HR(CHHA) JAL JAL 52,000 32% 26,000 66% 31,350 59%
IR (HF ) =4 (BRI | ALIE (T %) % R = (FIH) JAL _[JAL/JTA 54,000 31% 27,000 66% 32,750 58%
KB (BH7E) JAL _[JAL/JTA 54,000 32% 27,000 66% 32,750 59%
£ E (PER) JAL JTA 54,000 33% 27,000 66% 32,750 50%
12 JAL JTA 54,000 35% 27,000 67% 32,750 60%
SRR (BRER) F | _E (HH) JAL/JTA] JAL 54,000 31% 27,000 66% 32,750 58%
KB (B 7E) JAL/JTA| JAL 54,000 32% 27,000 66% 32,750 59%
£ E (PER) JTA JAL 54,000 33% 27,000 66% 32,750 50%
120 JTA JAL 54,000 35% 27,000 67% 32,750 60%
12 = & 3| w|EFE [ERECHHA) JAL JAL 55,000 33% 27,500 67% 33,350 50%
IR (3 F#%) JAL JAL 55,000 28% 27,500 64% 33,350 57%
ZiEplFE | HECHH) JAL JAL 55,000 33% 27,500 67% 33,350 59%
IR (3T #%) JAL JAL 55,000 28% 27,500 64% 33,350 57%
& =) wEEFE  [HEFECHA) JAL JAL 55,000 32% 27,500 66% 33,350 50%
JENTE N ES-ACET=:)) JAL JAL 55,000 32% 27,500 66% 33,350 59%
12 =gk w|EFE [HEFECHA) JAL JAL 55,000 31% 27,500 66% 33,350 58%
S L A CE]=:)) JAL JAL 55,000 31% 27,500 66% 33,350 58%
BE =55 A% [HEFECHA) JAL JAL 55,000 31% 27,500 65% 33,350 58%
wLFE  |FERCHHE) JAL JAL 55,000 31% 27,500 65% 33,350 58%
12 = EEFE [EFE(CHHA) JAL JAL 54,000 26% 27,000 63% 32,700 55%
HEX [FER(CHH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
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BE=FF R CRE) JAL JAL 45,000 37% 22,500 68% 27.450 61%
ABR (1) JAL JAL 45,000 29% 22,500 64% 27,450 56%
FR CHE) JAL JAL 45,000 37% 22,500 68% 27.450 61%
ABR (1) JAL JAL 45,000 29% 22,500 64% 27,450 56%
[ HRECRE) JAL JAL 44,500 37% 22,250 68% 27,150 62%
HR CHH) JAL JAL 44,500 37% 22,250 68% 27,150 62%
BE=1t5 AR (FFD JAL JAL 43,500 29% 21,750 65% 26,500 57%
ABR (1) JAL JAL 43,500 29% 21,750 65% 26,500 57%
1&RE = HE R (CHH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
HE CHH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
KB (5 JAL JAL 45,000 24% 22,500 62% 27,050 54%
& =17 i CHH) JAL JAL 38,900 34% 19,450 67% 23,700 60%
KB (5 JAL JAL 38,900 33% 19,450 67% 23,700 59%
HE CHH) JAL JAL 38,900 34% 19,450 67% 23,700 60%
KB (5 JAL JAL 38,900 33% 19,450 67% 23,700 59%
BE =8 KB (RFD JAL JAL 38,700 30% 19,350 65% 23,700 57%
KB (5 JAL JAL 38,700 30% 19,350 65% 23,700 57%
fEE =/ B CHH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
FR CHE) JAL JAL 39,000 38% 19,500 69% 23,550 63%
wEE==t PR (BBER) JTA [JTA/RAC 40,000 17% 20,000 59% 24,300 50%
Shi® (ARER) JTA/RAC|  JTA 40,000 17% 20,000 59% 24,300 50%
tEE=FhiE SR (BBER) JTA JTA 40,500 25% 20,250 62% 24,750 54%
Sh#E (ABER) JTA JTA 40,500 25% 20,250 62% 24,750 54%
ZiER =& LR (B F %) JAL JAL 33,000 39% 16,500 70% 19,500 64%
IR (BT JAL JAL 33,000 39% 16,500 70% 19,500 64%
i Al = MR R CHH) JAL JAL 44,000 35% 22,000 67% 26,350 61%
FR CHE) JAL JAL 44,000 35% 22,000 67% 26,350 61%
iR =W R CHH) JAL JAL 48,000 37% 24,000 68% 28,800 62%
i FR CHE) JAL JAL 48,000 37% 24,000 68% 28,800 62%
iR =HE ZiHRI%E  [HECHEA) JAL JAL 46,000 40% 23,000 70% 27,850 64%
HER |[ERERCIA) JAL JAL 46,000 40% 23,000 70% 27,850 64%
iR =#l ESTVIE A E S ACE:)) JAL JAL 52,500 32% 26,250 66% 31,700 59%
PN B S A CET=:)) JAL JAL 52,500 32% 26,250 66% 31,700 59%
JETITENA JBIN%E  [EREFECHHA) JAL JAL 44,000 33% 22,000 67% 25,350 61%
IMRFE |FRRCHE) JAL JAL 44,000 33% 22,000 67% 25,350 61%
FB)I=FEW BINFE  [EREFECHHA) JAL JAL 48,000 35% 24,000 68% 28,800 61%
L% |[RRCHA) JAL JAL 48,000 35% 24,000 68% 28,800 61%
BINI=HZE BT [EHEFECHHA) JAL JAL 45,000 40% 22,500 70% 27,200 64%
HE R (CFH) JAL JAL 45,000 40% 22,500 70% 27,200 64%
FBII=#A0 JBINZE  [ERFECHHA) JAL JAL 52,500 31% 26,250 65% 31,700 58%
NI S-ACET=:)) JAL JAL 52,500 31% 26,250 65% 31,700 58%
EIEEINA flERFE  [EHEE(CHHA) JAL JAL 41,200 37% 20,600 68% 24,950 62%
IMAFE |FRR(CHE) JAL JAL 41,200 37% 20,600 68% 24,950 62%
% =FE 0 fIERFE  [HEFE(CHMA) JAL JAL 48,000 35% 24,000 67% 28,800 61%
L% |[RRCHA) JAL JAL 48,000 35% 24,000 67% 28,800 61%
fiE == fIEEFE  [HEE(CHHA) JAL JAL 46,500 38% 23,250 69% 27,850 63%
HE R (CFH) JAL JAL 46,500 38% 23,250 69% 27,850 63%
#iEE=#x0 fERFE  [HEE(CHHA) JAL JAL 52,500 30% 26,250 65% 31,700 58%
PN B S-ACET=:)) JAL JAL 52,500 30% 26,250 65% 31,700 58%
HIR=/ HIAFE  [EE(CHHA) JAL JAL 44,000 32% 22,000 66% 25,350 61%
IMAFE | FRRCHE) JAL JAL 44,000 32% 22,000 66% 25,350 61%
HIR=RLL HILEFE  [EE(CHHA) JAL JAL 48,000 34% 24,000 67% 28,800 60%
L% |[RRCRA) JAL JAL 48,000 34% 24,000 67% 28,800 60%
HLR=HE wIEFE  [EE(CHHA) JAL JAL 45,000 39% 22,500 70% 27,200 63%
HE R (CHH) JAL JAL 45,000 39% 22,500 70% 27,200 63%
HIR=H10 wIAFE  [EE(CHHA) JAL JAL 52,500 30% 26,250 65% 31,700 58%
W%  |[FERCHH) JAL JAL 52,500 30% 26,250 65% 31,700 58%
BHEE=/ BfEF  [EFE(CHHA) JAL JAL 36,400 37% 18,200 68% 21,800 62%
IMAFE | FRR(CHE) JAL JAL 36,400 37% 18,200 68% 21,800 62%
EEE=FEWL BEEFR  [EHFE(CHHA) JAL JAL 47,000 29% 23,500 64% 28,150 57%
L% |[ERCHA) JAL JAL 47,000 29% 23,500 64% 28,150 57%
HiE=HE AR R CHH) JAL JAL 45,500 32% 22,750 66% 27,200 60%
= FR CHE) JAL JAL 45,500 32% 22,750 66% 27,200 60%
EREE=#L BfEF  [EFE(CHHA) JAL JAL 51,500 24% 25,750 62% 31,000 54%
W%  |[FERCHH) JAL JAL 51,500 24% 25,750 62% 31,000 54%
BEE=dL M BEEF  [EFE(CHHA) JAL JAL 43,000 41% 21,500 70% 25,900 64%
AMFE |FHRCHE) JAL JAL 43,000 41% 21,500 70% 25,900 64%
HiE=K5 BfEF  [EHFE(CHHA) JAL JAL 43,000 40% 21,500 70% 25,900 64%
AR% |HR(CHHA) JAL JAL 43,000 40% 21,500 70% 25,900 64%
HiE=RI& BEEFR [EFE(CHHA) JAL JAL 45,000 40% 22,500 70% 26,900 64%
RB% |[HR(CHHA) JAL JAL 45,000 40% 22,500 70% 26,900 64%
LTS BEEF  [HFE(CHHA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
BEA% |[HR(CHHA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
HiE=2IK BfEF  [EFE(CHHA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
EIEF |[EECHA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
HE=ERE BEES  [EFE(CHHA) JAL JAL 46,000 38% 23,000 69% 27,500 63%
BREESHE |HR(CHHA) JAL JAL 46,000 38% 23,000 69% 27,500 63%
BH=/M EHRFE  [EFE(CHA) JAL JAL 34,000 40% 17,000 70% 20,500 64%
IMAFE R (CHEA) JAL JAL 34,000 40% 17,000 70% 20,500 64%
HEfH=REW EH%E  [ERE(CHA) JAL JAL 38,000 41% 19,000 71% 23,050 64%
L% |[RRCHA) JAL JAL 38,000 41% 19,000 71% 23,050 64%
BEHR=L5 EH%E  [EFE(CHA) JAL JAL 39,000 40% 19,500 70% 23,700 64%
LEE% |HR(CHHA) JAL JAL 39,000 40% 19,500 70% 23,700 64%
EHR=ILOFH EH%E  [ERE(CHA) JAL JAL 41,000 41% 20,500 70% 24,950 64%
WIOFERFE R CHE) JAL JAL 41,000 41% 20,500 70% 24,950 64%
BEHR=HE EHE  [ERE(CEA) JAL JAL 38,800 41% 19,400 71% 23,550 64%
KB (5 JAL JAC 38,800 34% 19,400 67% 23,550 60%
HEX [RE(HHA) JAL JAL 38,800 41% 19,400 71% 23,550 64%
KB (5 JAC JAL 38,800 34% 19,400 67% 23,550 60%
EA=15 EH%E  [EFE(CHA) JAL JAL 36,000 44% 18,000 72% 21,750 66%
BEX |[HER(CHHA) JAL JAL 36,000 44% 18,000 72% 21,750 66%
EHR=mi EH%E  [ERE(CHA) JAL JAL 38,000 41% 19,000 70% 23,050 64%
B |[FER(CHHA) JAL JAL 38,000 41% 19,000 70% 23,050 64%
EHR=mH EH%E  [ERE(CHA) JAL JAL 39,000 41% 19,500 70% 23,700 64%
B [FER(CHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
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HFH=H EHE  [ER(CHHA) JAL JAL 39,000 41% 19,500 71% 23,700 64%
WIL%  [EHE(H) JAL JAL 39,000 41% 19,500 71% 23,700 64%
BHE =AM BEHEX  |HER(CHHA) JAL JAL 41,000 42% 20,500 71% 24,950 65%
JEAME [EFECHA) JAL JAL 41,000 42% 20,500 71% 24,950 65%
BEHR=K% EHE [ERERCHR) JAL JAL 41,000 42% 20,500 71% 24,950 64%

KR () JAL JAL 41,000 3 |ESL | 20500 66% |15t j| 24950 0% B8 B
XA% |[HRCHH) JAL JAL 41,000 42% 20,500 71% 24,950 64%

KR () JAL JAL 41,000 3 |ESL | 20500 66% |15t j| 24950 0% B8 B
BER=RIE FHE [ERER(CHHR) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KB (51 JAL JAL 45,000 33% 22,500 66% 26,900 60%
RE%  |[HR(CHHA) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KB (51 JAL JAL 45,000 33% 22,500 66% 26,900 60%
BEHR=EX EHE [ERER(CHA) JAL JAL 43,000 40% 21,500 70% 25,900 64%
A% [ERE(CHHA) JAL JAL 43,000 40% 21,500 70% 25,900 64%
KB (5 JAL JAL 43,000 33% 21,500 67% 25,900 60%
BEHR=EK EHFE  [ERE(CEA) JAL JAL 43,000 40% 21,500 70% 25,900 64%
KB (5 JAL JAL 43,000 33% 21,500 67% 25,900 60%
BEEEESETE) JAL JAL 43,000 40% 21,500 70% 25,900 64%
KB (5 JAL JAL 43,000 33% 21,500 67% 25,900 60%
EH=ERE EHFE  [ERE(CEA) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KB (5 JAL JAC 45,000 34% 22,500 67% 26,900 60%
BRER [HZECHH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KB (5 JAC JAL 45,000 34% 22,500 67% 26,900 60%
ZIR=/ 2 ZR¥FE  [EFE(CHHA) JAL JAL 34,000 39% 17,000 70% 20,500 63%
FR CHE) JAL JAL 34,000 39% 17,000 70% 20,500 63%
=iR=[& FR CHH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
FR CHE) JAL JAL 38,000 41% 19,000 70% 23,050 64%
ZiR=IE8 ZR¥FE  [EFE(CHHA) JAL JAL 39,000 40% 19,500 70% 23,700 63%
LEE% |HR(CHHA) JAL JAL 39,000 40% 19,500 70% 23,700 63%
ZIR=1LOFE ZR% [EFE(CHHA) JAL JAL 41,000 40% 20,500 70% 24,950 64%
FR CHE) JAL JAL 41,000 40% 20,500 70% 24,950 64%
SR=HEZE FUR CHH) JAL JAL 39,900 39% 19,950 69% 24,250 63%
FR CHE) JAL JAL 39,900 39% 19,950 69% 24,250 63%
ZR=185 R CHH) JAL JAL 36,000 43% 18,000 72% 21,750 66%
FR CHE) JAL JAL 36,000 43% 18,000 72% 21,750 66%
ZIR=21K i CHH) JAL JAL 38,000 40% 19,000 70% 23,050 64%
FR CHE) JAL JAL 38,000 40% 19,000 70% 23,050 64%
ZR=82% R CHH) JAL JAL 38,000 42% 19,000 71% 23,050 65%
7 ( JAL JAL 38,000 42% 19,000 71% 23,050 65%
ZIR=#W ( JAL JAL 39,000 41% 19,500 70% 23,700 64%
( JAL JAL 39,000 41% 19,500 70% 23,700 64%
ZR=4tAM ( JAL JAL 41,000 42% 20,500 71% 24,950 65%
( JAL JAL 41,000 42% 20,500 71% 24,950 65%
ZR=K% ( JAL JAL 41,000 41% 20,500 71% 24,950 64%
( JAL JAL 41,000 41% 20,500 71% 24,950 64%
ZR=F5 ( JAL JAL 45,000 38% 22,500 69% 26,900 63%
( JAL JAL 45,000 38% 22,500 69% 26,900 63%
ZIR=8X ( JAL JAL 43,000 39% 21,500 70% 25,900 63%
( JAL JAL 43,000 39% 21,500 70% 25,900 63%
ZR=821 ( JAL JAL 43,000 39% 21,500 70% 25,900 63%
( JAL JAL 43,000 39% 21,500 70% 25,900 63%
ZIR=ERS ZR%F  [EFE(CHHA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
BREESH |HR(CHHA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
=/ TEE [EFECHHA) JAL JAL 33,000 35% 16,500 68% 19,800 61%
IMAFE R (CHEA) JAL JAL 33,000 35% 16,500 68% 19,800 61%
A =FEWL AR [EFECHHA) JAL JAL 34,000 42% 17,000 71% 20,500 65%
L% |[RRCHA) JAL JAL 34,000 42% 17,000 71% 20,500 65%
MHEA=L5 AR [EFECHHA) JAL JAL 36,000 40% 18,000 70% 21,750 64%
LE% |HR(CHHA) JAL JAL 36,000 40% 18,000 70% 21,750 64%
ME=ILOFE AR [EFECHHA) JAL JAL 39,000 39% 19,500 69% 23,700 63%
WIOFERFE | R CHHE) JAL JAL 39,000 39% 19,500 69% 23,700 63%
MHA=HE MEX [ERECHHA) JAL JAL 34,000 44% 17,000 72% 20,500 66%
KB (5 JAL JAC 34,000 39% 17,000 69% 20,500 63%
HEX [RE(HHA) JAL JAL 34,000 44% 17,000 72% 20,500 66%
KB (5 JAC JAL 34,000 39% 17,000 69% 20,500 63%
MHE=E5 FEFE [EFECHHA) JAL JAL 34,000 42% 17,000 71% 20,500 65%
BEX |HER(CHHA) JAL JAL 34,000 42% 17,000 71% 20,500 65%
MHE=FR TEE [EFECHA) JAL JAL 36,000 38% 18,000 69% 21,750 63%
BMFE  |[FER(CHH) JAL JAL 36,000 38% 18,000 69% 21,750 63%
MHE=FH AR [EFECHHA) JAL JAL 36,000 40% 18,000 70% 21,750 64%
EAH%E  |FER(CHH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
A= TEE [EFECHRA) JAL JAL 38,000 38% 19,000 69% 23,050 62%
NI R S-ACET=:)) JAL JAL 38,000 38% 19,000 69% 23,050 62%
BE =t AR [EFECHHA) JAL JAL 39,000 41% 19,500 70% 23,700 64%
AMFE |HRCHHE) JAL JAL 39,000 41% 19,500 70% 23,700 64%
BHE=X% AR [EFECHHA) JAL JAL 39,000 40% 19,500 70% 23,700 63%
Xa% |[HR(CHHA) JAL JAL 39,000 40% 19,500 70% 23,700 63%
KB (51 JAL JAL 39,000 31% 19,500 66% 23,700 58%
MEA=KE ME%X |[ER(CHH) JAL JAL 41,200 39% 20,600 70% 24,950 63%
KB (51 JAL JAL 41,200 35% 20,600 67% 24,950 60%
RE% |[ERCHHA) JAL JAL 41,200 39% 20,600 70% 24,950 63%
KB (51 JAL JAL 41,200 35% 20,600 67% 24,950 60%
ME=FEX ME%X |[ER(CHH) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KB (51 JAL JAL 41,000 33% 20,500 66% 24,950 59%
BA% |[HR(CHHR) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KB (51 JAL JAL 41,000 33% 20,500 66% 24,950 50%
ME=2F ME%X |[ER(CHHR) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KB (751 JAL JAL 41,000 33% 20,500 66% 24,950 50%
EHCEE N ESACNE)) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KB (51 JAL JAL 41,000 33% 20,500 66% 24,950 50%
ME=ERE ME%X |[ER(CHHR) JAL JAL 43,000 37% 21,500 68% 25,900 62%
KB (51 JAL JAC 43,000 33% 21,500 67% 25,900 60%
BREXE |[HZR(CHH) JAL JAL 43,000 37% 21,500 68% 25,900 62%
KB (51 JAC JAL 43,000 33% 21,500 67% 25,900 60%
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LLfte = Vi [}, EGACCTE)] JAL JAL 32,000 28% 16,000 64% 18,950 57%
MMRFE  [ERFECHEA) JAL JAL 32,000 28% 16,000 64% 18,950 57%
Lz =MRl W% |[RRCREA) JAL JAL 33,000 37% 16,500 69% 19,850 62%
FEL% [EZECHA) JAL JAL 33,000 37% 16,500 69% 19,850 62%
W =L8 W% |[EECHA) JAL JAL 34,000 36% 17,000 68% 20,500 62%
LE5% [EFE(CHHA) JAL JAL 34,000 36% 17,000 68% 20,500 62%
I A=ET W% |[RRCRA) JAL JAL 38,000 33% 19,000 67% 23,050 60%
IIEESEAEGICTE) JAL JAL 38,000 33% 19,000 67% 23,050 60%
== W% [EECHA) JAL JAL 34,000 37% 17,000 69% 20,500 62%
KB (51 JAL JAC 34,000 38% 17,000 69% 20,500 62%
HE ESACE=:D) JAL JAL 34,000 37% 17,000 69% 20,500 62%
KB (51 JAC JAL 34,000 38% 17,000 69% 20,500 62%
W =E5 W% |EECHEA) JAL JAL 33,000 37% 16,500 68% 19,850 62%
mER [HEFE(CHHA) JAL JAL 33,000 37% 16,500 68% 19,850 62%
Wiz =m W% |R"R(CRA) JAL JAL 33,000 37% 16,500 68% 19,850 62%
=% [EE(CHA) JAL JAL 33,000 37% 16,500 68% 19,850 62%
Wiz =m=%0 W% |[EECHEA) JAL JAL 34,000 37% 17,000 69% 20,500 62%
Wiz =#al W% |RECRE) JAL JAL 34,000 38% 17,000 69% 20,500 62%
wIli%  |[FERCHH) JAL JAL 34,000 38% 17,000 69% 20,500 62%
WAz =dt A W% |[RZECRA) JAL JAL 39,000 34% 19,500 67% 23,700 60%
Wiz =X% Wz |[EECHA) JAL JAL 38,000 35% 19,000 67% 23,050 60%
A5F [EFE(CHHA) JAL JAL 38,000 35% 19,000 67% 23,050 60%
Wi =Ri& wWkx |[RREEHR) JAL JAL 41,000 33% 20,500 67% 24,950 59%

KB (51 JAL JAL 41,000 34% |7/8-31< | 20,500 67% 17/8-31< | 24,950 60% _|7/8-318<
RBE% |[HR(CHHA) JAL JAL 41,000 33% 20,500 67% 24,950 59%
I =gx Wk [RE(CHA) JAL JAL 39,000 34% 19,500 67% 23,700 60%
KB (5 JAL JAL 39,000 35% 19,500 67% 23,700 60%
EAFE [ERE(CHHA) JAL JAL 39,000 34% 19,500 67% 23,700 60%
KB (5 JAL JAL 39,000 35% 19,500 67% 23,700 60%
I ==k W% [RE(CHA) JAL JAL 39,000 34% 19,500 67% 23,700 60%
KB (5 JAL JAL 39,000 35% 19,500 67% 23,700 60%
BEEE N ESETE) JAL JAL 39,000 34% 19,500 67% 23,700 60%
KB (5 JAL JAL 39,000 35% 19,500 67% 23,700 60%
Wk =FERS W% [RE(CHA) JAL JAL 41,000 33% 20,500 67% 24,950 59%
KB (5 JAL JAC 41,000 35% 20,500 68% 24,950 60%
BRER [HZECHH) JAL JAL 41,000 33% 20,500 67% 24,950 59%
KB (5 JAC JAL 41,000 35% 20,500 68% 24,950 60%
E=HE (M= KB FFH JAL JAC 34,000 36% 17,000 68% 20,500 62%
HE KB (5 JAC JAL 34,000 36% 17,000 68% 20,500 62%
lE=xX% (M= KB R JAL JAL 38,000 30% 19,000 65% 23,050 58%
Aa% | KRUEEFD JAL JAL 38,000 30% 19,000 65% 23,050 58%
& =Rk [MT= KB FFH JAL JAL 41,000 33% 20,500 66% 24,950 59%
RBE% | ARGEEFD JAL JAL 41,000 33% 20,500 66% 24,950 59%
e =r%x [T KB FFH JAL JAL 39,000 34% 19,500 67% 23,700 60%
EA%E | ARGEED JAL JAL 39,000 34% 19,500 67% 23,700 60%
& ==& [T= XBR FFH JAL JAL 41,000 30% 20,500 65% 24,950 57%
=g | KBR(FF) JAL JAL 41,000 30% 20,500 65% 24,950 57%
meE=kERS [T KB (RFD JAL JAC 41,000 34% 20,500 67% 24,950 60%
BREEHE |ARGRE JAC JAL 41,000 34% 20,500 67% 24,950 60%
FR=HE RFE (KRR JAL JAC 31,000 40% 15,500 70% 18,550 64%
HE KB (5 JAC JAL 31,000 40% 15,500 70% 18,550 64%
FR=X5 FRFE [ KRUEEF JAL JAL 36,000 32% 18,000 66% 21,750 50%
Aa% | KRUEEFD JAL JAL 36,000 32% 18,000 66% 21,750 59%
FR=RI&K FRE (KRR JAL JAL 39,000 34% 19,500 67% 23,700 60%
RB% | ARGEED JAL JAL 39,000 34% 19,500 67% 23,700 60%
FR=REX FRFE [ KRUEEF JAL JAL 38,000 33% 19,000 67% 23,050 50%
EAE | ARGEEFD JAL JAL 38,000 33% 19,000 67% 23,050 59%
FR==& FRFE (KRR JAL JAL 38,000 33% 19,000 67% 23,050 50%
ElEF | KBR(FF) JAL JAL 38,000 33% 19,000 67% 23,050 59%
FR=ERS FRE [ KRUEEF JAL JAC 39,000 35% 19,500 68% 23,700 61%
BREESHE | ARG JAC JAL 39,000 35% 19,500 68% 23,700 61%
=T L IR E FACET:)) JAL JAL 32,400 43% 16,200 71% 19,350 66%
L% |[RRCHA) JAL JAL 32,400 43% 16,200 71% 19,350 66%
IMA=IEE IMAKE | ERFECRH) JAL JAL 33,000 42% 16,500 71% 19,800 65%
LEE% [EFECHA) JAL JAL 33,000 42% 16,500 71% 19,800 65%
IMA=ILOFER MRFE  [ERFE(CHEA) JAL JAL 37,000 39% 18,500 70% 22,200 63%
WIOFERFE R CHE) JAL JAL 37,000 39% 18,500 70% 22,200 63%
IMA=HE IR E FACET::)) JAL JAL 34,000 41% 17,000 71% 20,150 65%
HESR |[ERERCIA) JAL JAL 34,000 41% 17,000 71% 20,150 65%
M= IMAK | RFECRH) JAL JAL 31,700 43% 15,850 72% 18,900 66%
BEX |HER(CHHA) JAL JAL 31,700 43% 15,850 72% 18,900 66%
INA=FH IR E FACET:)) JAL JAL 32,000 43% 16,000 71% 18,950 66%
BMFE  |FER(CHH) JAL JAL 32,000 43% 16,000 71% 18,950 66%
INR=TZH MMRFE  [EREFE(CHEA) JAL JAL 34,000 41% 17,000 71% 20,150 65%
[P L A CEl=:)) JAL JAL 34,000 41% 17,000 71% 20,150 65%
M=l RN FR CHH) JAL JAL 34,200 41% 17,100 71% 20,500 65%
PN R S-ACET=:)) JAL JAL 34,200 41% 17,100 71% 20,500 65%
IR =L MRFE  [EREFE(CHEA) JAL JAL 39,000 38% 19,500 69% 23,550 63%
JEAMFE |HRCHE) JAL JAL 39,000 38% 19,500 69% 23,550 63%
IMR=K%5 MMRFE  [EFE(CHEA) JAL JAL 38,000 39% 19,000 69% 22,850 63%
AD% |HR(CHHA) JAL JAL 38,000 39% 19,000 69% 22,850 63%
IMA=RIE MRFE  [ERFECHEA) JAL JAL 41,200 37% 20,600 68% 24,950 62%
RBE% |[HR(CHHA) JAL JAL 41,200 37% 20,600 68% 24,950 62%
INA=BER IR E FACE:)) JAL JAL 39,000 38% 19,500 69% 23,550 63%
BEAE [ERE(CHHA) JAL JAL 39,000 38% 19,500 69% 23,550 63%
IMNA=FIE IR E FACE:)) JAL JAL 39,000 38% 19,500 69% 23,550 63%
ElEF |[EECHMA) JAL JAL 39,000 38% 19,500 69% 23,550 63%
IMA=EERE IR E FACET:)) JAL JAL 41,200 37% 20,600 68% 24,950 62%
BRESH |HR(CHHA) JAL JAL 41,200 37% 20,600 68% 24,950 62%
IMA=EH AMRFE | iE (ARER) JTA [JTA/RAC 57,700 6% 28,850 53% 35,500 42%
Eh%E [AREHR) JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
IMNA=F1E ANRFE [ (BRER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
AiEFK MR GRER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
== L% 85 JTA [JTA/RAC 46,000 16% 23,000 58% 27,500 50%
Eh%E [AREHR) JTA/RAC| JTA 46,000 16% 23,000 58% 27,500 50%




788H~884H.8A17TH~31 A& FEMHEE| EER

JAL/JTA/JAC/RAC
FFEAT:5/25TIE

it HRIRKEID| INRAFRI MBS SRR VBRI FAEIS|
B =L ORIk e 778878 |[E—0M| o |7/68/4 E—OM| oo | 7/88/1 [E—OW| Lo
Xm0 | KE© | Xm0 |8/17-8/31| EI5|1HE " 8/17- | BIBIE R 8/17-8/31 EI3IE A

EL=F/1E s (ARER) JTA JTA 50,600 16% 25,300 58% 31,000 49%
R (BRER) JTA JTA 50,600 16% 25,300 58% 31,000 49%
B =EE & JAL JAC 27,700 42% 13,850 71% 17,750 63%
F=Ee) JAC JAL 27,700 42% 13,850 71% 17,750 63%
BEEXKRE=5H Sk B &R JAC JAC 19,650 27% 9,850 63% 12,550 53%
hk RER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BEXE=TXKRE 5% JAC JAC 16,800 43% 8,450 72% 12,650 57%
5% JAC JAC 16,800 43% 8,450 72% 12,650 57%
(BB =F &K HRECRE) JAL/JTA[  JAL 49,500 34% 24,750 67% 29,750 60%
HR CHH) JAL _[JAL/JTA 49,500 34% 24,750 67% 29,750 60%

KB (5 JAL JAL 49,500 34% [1/8-148<_|_ 24,750 67% |7/8-148%< | 29.750 60% _|7/8-141%<
PR (BRE) ==R [RGB F[RF (RHA) JAL/JTA] JAL 49,500 34% 24,750 67% 29,750 60%
ZR%E |HR(CHHA) JAL [JAL/JTA 49,500 34% 24,750 67% 29,750 60%
SPER(RER) =R E [pEEGRB) F[RF (RHA) JAL/JTA] _JAL 48,000 31% 24,000 66% 28,800 59%
ME%X |[ERCHHR) JAL [JAL/JTA 48,000 31% 24,000 66% 28,800 59%

KB (51 JAL JAL 48,000 33% |7/8-14K%< | 24,000 66% |7/8-145< | 28,800 60% _|7/8-148<
B (&) =L P48 (FRER) R | R CRIH) JAL/JTA[  JAL 48,000 24% 24,000 62% 28,800 55%
W% [RECEA) JAL _[JAL/JTA 48,000 24% 24,000 62% 28,800 55%

KB (5 JAL JAL 48,000 32% [7/8-31<_|_ 24,000 66% 17/8-3118< | 28,800 50%  17/8-31R<
PR BE;) =IlA PR X EF JTA JAL 47,300 37% 23,650 69% 28,950 62%
=3 12 fiE] JAL JTA 47,300 37% 23,650 69% 28,950 62%
IPER(RER) =/ [p4E GRB) 3[R (FIH) JAL/JTA] JAL 43,000 36% 21,500 68% 26,200 61%
N ES-ACET:=:)) JAL [JAL/JTA 43,000 36% 21,500 68% 26,200 61%
PREBEH) =54 PR % EE JTA JAL 32,400 42% 16,200 71% 20,150 64%
S [ JAL JTA 32,400 42% 16,200 71% 20,150 64%
PR (RE) =L pEORB) X  EE JTA JAC 40,000 24% 20,000 62% 24,300 54%
NI 12 fiE] JAC JTA 40,000 24% 20,000 62% 24,300 54%
ER(HH) =8ZXS|RRCHA)®%| BERS JAL JAC 45,800 31% 22,900 66% 28,100 58%
KB 45 JAL JAL 45,800 27% 22,900 64% 28,100 55%
EBERER | BERS JAC JAL 45,800 31% 22,900 66% 28,100 58%
KB 45 JAL JAL 45,800 27% 22,900 64% 28,100 55%
RRCHE) =ER5|RACHE X| _ERS JAL JAC 45,350 31% 22,700 65% 28,150 57%
BEXE JAL JAC 45,350 22% 22,700 61% 28,100 51%
ERER ERE JAC JAL 45,350 31% 22,700 65% 28,150 57%
RRCHE) =@zB|RRCHE | ERES JAL JAC 46,950 33% 23,500 66% 28,850 59%
EERE JAL JAC 47,800 23% 23,900 61% 29,400 52%
weER BRS JAC JAL 46,950 33% 23,500 66% 28,850 59%
EERE JAC JAL 47,800 23% 23,900 61% 29,400 52%
RE(HE) =4XkEM|RRCHA)%| BRS JAL JAC 48,350 32% 24,200 66% 30,050 57%
HKRER | ERE JAC JAL 48,350 32% 24,200 66% 30,050 57%
BEXE JAC JAL 48,350 26% 24,200 63% 30,050 54%
RRCHE) =5#% [REWH)%| ERS JAL JAC 48,750 32% 24,400 66% 30,300 58%
E BRS JAC JAL 48,750 32% 24,400 66% 30,300 58%
EERS JAC JAL 48,700 28% 24,350 64% 30,250 56%
hKBE | BEKE | JAC JAC JAL 50,850 32% 25,450 66% 30,250 60%
KR (B =BEXB[ KR (FMHE| BERS JAC JAC 40,700 25% 20,350 63% 24,700 55%
BEXER | BERE JAC JAC 40,700 25% 20,350 63% 24,700 55%
KR () =ER&|XR(FM E|_ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BERE JAL JAC 40,600 15% 20,350 58% 24,950 48%
EREHR ERE JAC JAC 40,600 24% 20,300 62% 25,000 53%
BERE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KBr () =@z 8 XBREFM E| BERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
w2ER BRS JAC JAC 42,100 27% 21,050 64% 25,700 56%
EERE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KR () =k BE| KR (F %] ERS JAC JAC 43,250 26% 21,650 63% 26,700 54%
PKRERE | BERE JAC JAC 43,250 26% 21,650 63% 26,700 54%
KiR(EFH =5 | KRUFDH| EBERS JAC JAC 43,650 27% 21,850 64% 26,950 55%
Bl ERS JAC JAC 43,650 27% 21,850 64% 26,950 55%
BR=8EZXE FErED ERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
EEAER | BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
BE=ERE 12 5 BEBEAE JAC JAC 33,650 19% 16,850 59% 20,600 50%
ERER ERS JAC JAC 33,650 25% 16,850 63% 20,600 54%
B =5 RS ERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
EERE JAC JAC 34,150 25% 17,100 62% 20,700 54%
w2ER EBRS JAC JAC 34,150 31% 17,100 66% 20,700 58%
EERE JAC JAC 34,150 25% 17,100 62% 20,700 54%
=2k =k B & FErED ERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
HKRER | ERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
BEXE JAC JAC 35,300 28% 17,650 64% 21,700 56%
EE=5# [k BERS JAC JAC 35,700 31% 17,850 66% 21,950 58%
Sif%e EERES JAC JAC 35,700 31% 17,850 66% 21,950 58%




SASH~16AFAIFEMEG NEER

JAL/JTA/JAC/RAC
FRFEIFT:5/25TIE

st R FAEEIS] INRAR R FMEIS| SIREMNLERIRBEIE
X #ZH® | BHHO A E—75H E—75H E—75E

RE0 [ EEe [ KEG 8/5-16 P &% | 8/5-16 P &% | 8/5-16 P w5
RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EH% [HEGH) JTA/RAC[JAL/JTA 57,700 6% 28,850 53% 35,500 42%
RRECHA)=FRE [R’RECHA) |+ 3HBH) JAL/JTA| JTA 61,500 8% 30,750 54% 37,950 43%
KB (B FE) JAL JTA 61,500 18% 30,750 59% 37,950 50%
REF [HEGEH JTA [JAL/JTA 61,500 8% 30,750 54% 37,950 43%
pNUAGEES)) JTA JAL 61,500 18% 30,750 59% 37,950 50%
KB (7 =% 3 | KR (1) | R CRIA) JAL JAL 50,600 25% 25,300 63% 27,850 59%
S TIE N ESACRED JAL JAL 50,600 25% 25,300 63% 27,850 59%
LIR (B F i) JAL JAL 50,600 24% 25,300 62% 27,850 58%
K (BEFE) =23 Al | KBR (BEFA) 5| HLi% (3 F %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
S hE A LAt ) JAL JAL 50,600 24% 25,300 62% 27,850 58%
KR (FFH =8I [ KBr (FFH % | 3R CHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
B  [HECHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
Khx (BE7E) =#BJIl | KBx (BE7E) % | 3R CHHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
BN  [HECHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
KR (FRFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 48,400 26% 24,200 63% 26,500 60%
$iER  [HECHH) JAL JAL 48,400 26% 24,200 63% 26,500 60%
KR (FH) =5 [ KB (R F) %[ 3R CHEH) JAL JAL 46,500 29% 23,250 64% 26,200 60%
HhFE |[HERCHEH) JAL JAL 46,500 29% 23,250 64% 26,200 60%
NG LN HLE% [FECHE) JAL JAL 46,500 29% 23,250 64% 26,200 60%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 48,000 18% 24,000 59% 26,450 55%
BHEER [HECHHE) JAL JAL 48,000 18% 24,000 59% 26,450 55%
KR (FH ==iR [ KB (f#F}) %[ 3R CHEH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
ZR%  [HECHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
pNUAGED) R ZR% [HECHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KR (R F) =02k [ XBR (R % ] JAC JAC 20,500 37% 10,250 69% 13,100 60%
B3 = JAC JAC 20,500 37% 10,250 69% 13,100 60%
KB (D) =BF8|XR(FHF| ER JAC JAC 32,600 22% 16,300 61% 20,850 50%
BFEHE BRE JAC JAC 32,600 22% 16,300 61% 20,850 50%
KR (BFH == [ KB (fRFH) F[ 048 (BBIE;) JAL _[JTA/RAC 50,000 9% 25,000 55% 27,500 50%
EOX [HEGH) JTA/RAC| JAL 50,000 9% 25,000 55% 27,500 50%
KR (BEE) == | KB (BE7E) F| P48 (BBIR) JAL/JTA|JTA/RAC 50,000 9% 25,000 55% 27,500 50%
EH% [HEGH) JTA/RAC[JAL/JTA 50,000 9% 25,000 55% 27,500 50%
KR (FH =18 [ KB (RFH) F|H4E (BT JAL JTA 52,000 14% 26,000 57% 31,000 49%
AEHE [HEGER JTA JAL 52,000 14% 26,000 57% 31,000 49%
KR (BEE) =FR1E | KBx (REFE) %[ P48 (BBIR) JAL/JTA| JTA 52,000 14% 26,000 57% 31,000 49%
AEH [HEGER JTA [JAL/JTA 52,000 14% 26,000 57% 31,000 49%
LR (hE) =% 5| & EE (P &) F[4LIE (T i) JAL JAL 46,000 27% 23,000 63% 25,450 60%
ZEAFE R EFTR JAL JAL 46,000 27% 23,000 63% 25,450 60%
AHE (P ==& | £5E (hE) 4 G5 JTA _[JTA/RAC 51,000 14% 25,500 57% 28,150 53%
EH% [EGH) JTA/RAC| JTA 51,000 14% 25,500 57% 28,150 53%
2EE (P =HiE[ 2R hE) %[ 548 GLEH) JTA JTA 55,200 15% 27,600 57% 33,900 48%
AEH [HEGER) JTA JTA 55,200 15% 27,600 57% 33,900 48%
IR (BT ) =/MA[ALIR BT | R CREA) JAL JAL 39,000 35% 19,500 67% 21,450 64%
AR [FECHE) JAL JAL 39,000 35% 19,500 67% 21,450 64%
LI G T %) = Rel L1 [4L8% (T ) 3| R CHH) JAL JAL 41,000 40% 20,500 70% 22,400 67%
EIE ESACET:)) JAL JAL 41,000 40% 20,500 70% 22,400 67%
IR FT%) =L 8 [4LIR @ T 2| HR CHH) JAL JAL 42,000 39% 21,000 69% 23,050 66%
LEB% [FECHH) JAL JAL 42,000 39% 21,000 69% 23,050 66%
IR (B F#%) = IO | #LIR (B T %) | R CRH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
WOFEFE [HECHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
IR B Fi%) =HE R @ T % HR CHH) JAL JAL 44,000 36% 22,000 68% 23,950 65%
HEH [RRCRA) JAL JAL 44,000 36% 22,000 68% 23,950 65%
IR BT =B AR @ T 2| HE (CHH) JAL JAL 45,000 33% 22,500 67% 24,950 63%
mEH [FECHH) JAL JAL 45,000 33% 22,500 67% 24,950 63%
IR (BT %) == [ALR G TFR) % =R CRA) JAL JAL 46,000 32% 23,000 66% 25,550 62%
=% [FECHHE) JAL JAL 46,000 32% 23,000 66% 25,550 62%
IR (BT %) == 5 ARG T ) % =R CRA) JAL JAL 48,000 31% 24,000 65% 26,500 62%
=A% [FECHH) JAL JAL 48,000 31% 24,000 65% 26,500 62%
FLIR (BT ) =L [ALIR G F#) | R CREA) JAL JAL 51,000 27% 25,500 63% 27,950 60%
WL [FECHHE) JAL JAL 51,000 27% 25,500 63% 27,950 60%
ALIR (BT 5% =L A [4LIR B F#%) 5| S CRIE) JAL JAL 49,000 34% 24,500 67% 26,900 64%
AMFE |RZECHEH) JAL JAL 49,000 34% 24,500 67% 26,900 64%
LR BT %) = K5 LR F T % HR CHH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
AH% [FECHH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
IR BT %) =R [4LIR T 2| HR CHH) JAL JAL 51,000 34% 25,500 67% 28,150 63%
RB% [HECHH) JAL JAL 51,000 34% 25,500 67% 28,150 63%
IR GBI Fi%) = REAR [4LIR (T 2| RIR CHH) JAL JAL 50,000 33% 25,000 66% 27,500 63%
A% [FECHH) JAL JAL 50,000 33% 25,000 66% 27,500 63%
IR BT %) = =i [4LIR (T 2| R CHH) JAL JAL 51,000 32% 25,500 66% 28,150 62%
ER%E [RRCRA) JAL JAL 51,000 32% 25,500 66% 28,150 62%
AR FFR) =ERS[ ARG TR | RRCRAA) JAL JAL 57,000 26% 28,500 63% 31,350 59%
BRE% |RZE(HH) JAL JAL 57,000 26% 28,500 63% 31,350 59%
FLOR BT 2% = GBI | ALIR (BT F %) %[ R R (BIE) JAL _[JAL/JTA 59,000 25% 29,500 62% 32,750 58%
KB (BFE) JAL [JAL/JTA 59,000 26% 29,500 63% 32,750 59%
£EHE (PEH) JAL JTA 59,000 27% 29,500 63% 32,750 59%
128 JAL JTA 59,000 29% 29,500 64% 32,750 60%
HR (| F|RE (HH) JAL/JTA] JAL 59,000 25% 29,500 62% 32,750 58%
KB (BFE) JAL/JTA| JAL 59,000 26% 29,500 63% 32,750 59%
£EHE (PEH) JTA JAL 59,000 27% 29,500 63% 32,750 59%
128 JTA JAL 59,000 29% 29,500 64% 32,750 60%
12 =% 3l [EEEINEVACRT:) JAL JAL 60,000 27% 30,000 64% 33,350 59%
HLIE (T %) JAL JAL 60,000 22% 30,000 61% 33,350 57%
i FE | RECHEH) JAL JAL 60,000 27% 30,000 64% 33,350 59%
HLIE (i T %) JAL JAL 60,000 22% 30,000 61% 33,350 57%
==l BE% [FECHH) JAL JAL 60,000 25% 30,000 63% 33,350 59%
BII%  [FECHH) JAL JAL 60,000 25% 30,000 63% 33,350 59%
1= =2 BE% [FECHH) JAL JAL 60,000 25% 30,000 63% 33,350 58%
SipEs  [HECHH) JAL JAL 60,000 25% 30,000 63% 33,350 58%
'l =%k BE% [FECHH) JAL JAL 60,000 24% 30,000 62% 33,350 58%
HHERE  [FECHE) JAL JAL 60,000 24% 30,000 62% 33,350 58%
12 =BKeE BE% [FECHH) JAL JAL 59,000 19% 29,500 59% 32,700 55%
BHER [HFECHH) JAL JAL 59,000 19% 29,500 59% 32,700 55%




8A5HE~16 A EHRMBEIZ JEEER el

et HRIRBEE INRAR R RMEIS| SIREMNERIRBEIE]
XFH #ad | BHBO A= - - -
N V BT 9% wx | 8/5-16 5 9% wx | 8/5-16 5 7% w5
QD | XEQ [ KEG EIEIES EIEIES EETE S
ER=F% BER [FECHH) JAL JAL 49,000 31% 24,500 66% 27.450 61%
AR (EFH JAL JAL 49,000 22% 24,500 61% 27,450 56%
B S ESACED) JAL JAL 49,000 31% 24,500 66% 27,450 61%
KR (EFH JAL JAL 49,000 22% 24,500 61% 27,450 56%
B ==iR EE%E  [HERCHH) JAL JAL 48,500 31% 24,250 66% 27.150 62%
ZR% [HECHH) JAL JAL 48,500 31% 24,250 66% 27,150 62%
EE=1t5 [ e I PN A=) JAL JAL 47,500 23% 23,750 61% 26,500 57%
&R [ KRURFD JAL JAL 47,500 23% 23,750 61% 26,500 57%
BE=8[A BE%E [HER(CHH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
MEFEX [REREH JAL JAL 49,000 25% 24,500 63% 27,050 59%
KR (EFH JAL JAL 49,000 17% 24,500 59% 27,050 54%
2@ =L BER [FEECHH) JAL JAL 42,800 28% 21,400 64% 23,700 60%
KR (EFH JAL JAL 42,800 26% 21,400 63% 23,700 59%
W% [RRECRA) JAL JAL 42,800 28% 21,400 64% 23,700 60%
KR (EFH JAL JAL 42,800 26% 21,400 63% 23,700 59%
=R =" BE% [ X (UFRD JAL JAL 43,300 22% 21,650 61% 23,700 57%
FR% [ KBRURFD JAL JAL 43,300 22% 21,650 61% 23,700 57%
2=/ BE% [HEECHE) JAL JAL 43,000 32% 21,500 66% 23,550 63%
MMAFE [RHECHE) JAL JAL 43,000 32% 21,500 66% 23,550 63%
wER=2= BRI RE3) JTA [JTA/RAC 44,000 9% 22,000 54% 24,300 50%
EH% [EGH) JTA/RAC]  JTA 44,000 9% 22,000 54% 24,300 50%
RBE=FH1E e A b - 161 ) JTA JTA 47,100 12% 23,550 56% 24,750 54%
AiEX [R5 JTA JTA 47,100 12% 23,550 56% 24,750 54%
Es e ZHAFE IR EFHTR) JAL JAL 36,000 33% 18,000 67% 19,500 64%
e  [+REFHFH) JAL JAL 36,000 33% 18,000 67% 19,500 64%
A =R Zimp % | RECHEH) JAL JAL 48,000 29% 24,000 64% 26,350 61%
AR [FECHE) JAL JAL 48,000 29% 24,000 64% 26,350 61%
i Al = RE Ll Zimp % | RECHEH) JAL JAL 52,000 31% 26,000 66% 28,800 62%
EIE ESACET:)) JAL JAL 52,000 31% 26,000 66% 28,800 62%
LAl =HE ZimpE | RECHEH) JAL JAL 50,000 35% 25,000 67% 27,850 64%
HEH [RRCRA) JAL JAL 50,000 35% 25,000 67% 27,850 64%
i A =l i A R (CHH) JAL JAL 57,200 26% 28,600 63% 31,700 59%
WL [FECHHE) JAL JAL 57,200 26% 28,600 63% 31,700 59%
TBI=M2 BII%  [FECHH) JAL JAL 48,000 27% 24,000 63% 25,350 61%
NRFE  [FECHE) JAL JAL 48,000 27% 24,000 63% 25,350 61%
TBI=ML MBI [HECHH) JAL JAL 52,000 30% 26,000 65% 28,800 61%
EIE ESACET:)) JAL JAL 52,000 30% 26,000 65% 28,800 61%
BII=HE MBI  [FHECHH) JAL JAL 49,000 35% 24,500 67% 27,200 64%
EX |[ERCRHA) JAL JAL 49,000 35% 24,500 67% 27,200 64%
TENI=#211 MBI  [HECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
WL [FECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
SRR =/ fipEs  [HECHHE) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IMAFE R CHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
1B =Rl LI gipEse  [HECHHE) JAL JAL 52,000 29% 26,000 65% 28,800 61%
FELFE [EECRA) JAL JAL 52,000 29% 26,000 65% 28,800 61%
SR =HE fipEs  [HECHHE) JAL JAL 50,000 33% 25,000 67% 27,850 63%
EXx |[ERCRA) JAL JAL 50,000 33% 25,000 67% 27,850 63%
SRR =410 fipEs  [HECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
WL [FECHHE) JAL JAL 57,200 24% 28,600 62% 31,700 58%
HIE=/M2 HHFE [HERCHEH) JAL JAL 48,000 26% 24,000 63% 25,350 61%
MR [EE(CHHE) JAL JAL 48,000 26% 24,000 63% 25,350 61%
HIE=RL HLEF  [FECHHE) JAL JAL 52,000 29% 26,000 64% 28,800 60%
EIE ESACET:)) JAL JAL 52,000 29% 26,000 64% 28,800 60%
HLh=HE HEE [ERERCHH) JAL JAL 49,000 34% 24,500 67% 27,200 63%
HEH [RRCHA) JAL JAL 49,000 34% 24,500 67% 27,200 63%
HIL=H10 HHFE [HERCHEH) JAL JAL 57,200 23% 28,600 62% 31,700 58%
WL [FECHH) JAL JAL 57,200 23% 28,600 62% 31,700 58%
B =/ R BHEER [HECHH) JAL JAL 40,000 31% 20,000 65% 21,800 62%
AR [FECHE) JAL JAL 40,000 31% 20,000 65% 21,800 62%
B =L BHEER [HECHH) JAL JAL 51,000 23% 25,500 61% 28,150 57%
EE ESACET:)) JAL JAL 51,000 23% 25,500 61% 28,150 57%
HEE=HE BHAER [HECHHE) JAL JAL 49,000 27% 24,500 64% 27,200 60%
EX |[ERCRHA) JAL JAL 49,000 27% 24,500 64% 27,200 60%
BEE=H1L BHEER [HECHHE) JAL JAL 56,100 17% 28,050 59% 31,000 54%
WL [FECHH) JAL JAL 56,100 17% 28,050 59% 31,000 54%
BEEE=dL M BHEER  [HECHHE) JAL JAL 47,000 35% 23,500 68% 25,900 64%
LA R (CHH) JAL JAL 47,000 35% 23,500 68% 25,900 64%
HEE=X% BHEER  [HECHH) JAL JAL 47,000 34% 23,500 67% 25,900 64%
A% [FECHH) JAL JAL 47,000 34% 23,500 67% 25,900 64%
HEE=RI& BHEER [HECHH) JAL JAL 49,000 34% 24,500 67% 26,900 64%
RB% [HECHH) JAL JAL 49,000 34% 24,500 67% 26,900 64%
BEE=FREA BEER  [FECHHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
A% [FECHH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
HE=25 BEER [HECHHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
ER%E [RRCRA) JAL JAL 49,000 32% 24,500 66% 26,900 63%
HE=ERS BHEER  [FECHH) JAL JAL 50,000 33% 25,000 67% 27,500 63%
BERE HR CHHE) JAL JAL 50,000 33% 25,000 67% 27,500 63%
BEH=/M EH%E  [ER(EH) JAL JAL 37,000 34% 18,500 67% 20,500 64%
AR [HEECHE) JAL JAL 37,000 34% 18,500 67% 20,500 64%
EH=RLL EHA%  [HAECHH) JAL JAL 42,000 35% 21,000 67% 23,050 64%
FELFE [EHECRA) JAL JAL 42,000 35% 21,000 67% 23,050 64%
EH=LE EHA%  [FHECHH) JAL JAL 43,000 34% 21,500 67% 23,700 64%
LEB% [FECHH) JAL JAL 43,000 34% 21,500 67% 23,700 64%
HEH=ILOFE EH%E [ER(EH) JAL JAL 45,000 35% 22,500 67% 24,950 64%
WOFERF [HECHE) JAL JAL 45,000 35% 22,500 67% 24,950 64%
EH=HE HH =R CRE) JAL JAL 42,700 35% 21,350 68% 23,550 64%
KR (EFH JAL JAC 42,700 28% 21,350 64% 23,550 60%
HEH [ERCRA) JAL JAL 42,700 35% 21,350 68% 23,550 64%
KR (EFH JAC JAL 42,700 28% 21,350 64% 23,550 60%
EH=RE BEHA%  [FECHH) JAL JAL 40,000 38% 20,000 69% 21,750 66%
mE%E [HER(CHHE) JAL JAL 40,000 38% 20,000 69% 21,750 66%
EH=mi EH%E  [ER(EH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
=2 [HRERCHEH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
EH=2H EH%E  [ER(EH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
2% [FRERCEH) JAL JAL 43,000 35% 21,500 67% 23,700 64%




SASH~16AFAIFEMEG NEER

JAL/JTA/JAC/RAC
FRFEIFT:5/25TIE

st R FAEEIS| INRAR R RMEIS| SIREMNERIRBEIE]
XFH #ad | BHBO A= - - -
N V BT 9% wx | 8/5-16 5 9% wx | 8/5-16 5 7% w5
QD | XEQ [ KEG EIEIES EIEIES #51% | W
EHE=L EH%E  [ERR(EH) JAL JAL 43,000 35% 21,500 68% 23,700 64%
Wl [FECHH) JAL JAL 43,000 35% 21,500 68% 23,700 64%
BEHER=JdAM EH%E  [ERR(EH) JAL JAL 45,000 37% 22,500 68% 24,950 65%
EAME |RFECHH) JAL JAL 45,000 37% 22,500 68% 24,950 65%
EH=K» B L ESACED) JAL JAL 45,000 36% 22,500 68% 24,950 64%
KR (EFH JAL JAL 45,000 25% 22,500 63% 24,950 59%
X% [HECHH) JAL JAL 45,000 36% 22,500 68% 24,950 64%
KR (EFH JAL JAL 45,000 25% 22,500 63% 24,950 59%
EH=RB B ESACED) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAL JAL 49,000 27% 24,500 63% 26,900 60%
RE% [HECHH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAL JAL 49,000 27% 24,500 63% 26,900 60%
EH=EX EHA%  [FAECHH) JAL JAL 47,000 34% 23,500 67% 25,900 64%
AR [HECHH) JAL JAL 47,000 34% 23,500 67% 25,900 64%
AR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
=24 B ESACED) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
BEFE [RRECRA) JAL JAL 47,000 34% 23,500 67% 25,900 64%
AR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
EH=ERS B S ESACED) JAL JAL 49,000 33% 24,500 67% 26,900 63%
AR (EFH JAL JAC 49,000 28% 24,500 64% 26,900 60%
BREX |[RE(HH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAC JAL 49,000 28% 24,500 64% 26,900 60%
ZIR=/# £ |RECHEH) JAL JAL 37,000 34% 18,500 67% 20,500 63%
£ |RECHH) JAL JAL 37,000 34% 18,500 67% 20,500 63%
=iR=EW £ |RECHEH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
£ |RECHH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
ZR=IE% £ |RECHH) JAL JAL 43,000 34% 21,500 67% 23,700 63%
£ |RECHH) JAL JAL 43,000 34% 21,500 67% 23,700 63%
ZR=WOFE £ |RECHH) JAL JAL 45,000 34% 22,500 67% 24,950 64%
% |HECRA) JAL JAL 45,000 34% 22,500 67% 24,950 64%
ZR=HE £ [EHEFECRMA) JAL JAL 43,900 33% 21,950 66% 24,250 63%
£ [EHEFECRMA) JAL JAL 43,900 33% 21,950 66% 24,250 63%
ZR=#5 £ [ERCHA) JAL JAL 40,000 37% 20,000 68% 21,750 66%
£ |RECHH) JAL JAL 40,000 37% 20,000 68% 21,750 66%
ZiR=a1 £ [EHEFECRMA) JAL JAL 42,000 34% 21,000 67% 23,050 64%
£ |RECHH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
ZiR==4H £ |RECHH) JAL JAL 42,000 36% 21,000 68% 23,050 65%
=A% [FECHH) JAL JAL 42,000 36% 21,000 68% 23,050 65%
ZiR=#1 ZiR%  [HECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
WL [FECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
ZIR=4hM ZiR%  [HECHH) JAL JAL 45,000 36% 22,500 68% 24,950 65%
FR CHH) JAL JAL 45,000 36% 22,500 68% 24,950 65%
ZIR=X% £ |RECHH) JAL JAL 45,000 35% 22,500 68% 24,950 64%
£ |RECHH) JAL JAL 45,000 35% 22,500 68% 24,950 64%
ZiR=R& £ |RECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
£ |RECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
ZIR=RX £ |RECHH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
£ |RECHH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
ZiR=8& £ |RECHH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
£ |RECHH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
ZR=ERS ZR%  [HECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
BRE FR CHE) JAL JAL 49,000 33% 24,500 66% 26,900 63%
FE=/ PEE [FRERCEH) JAL JAL 36,000 29% 18,000 65% 19,800 61%
N [HEECHE) JAL JAL 36,000 29% 18,000 65% 19,800 61%
FE =L PEE [HER(CEH) JAL JAL 37,000 37% 18,500 69% 20,500 65%
EE ESACET:)) JAL JAL 37,000 37% 18,500 69% 20,500 65%
MHE=L5 PEE [FRERCEH) JAL JAL 40,000 33% 20,000 67% 21,750 64%
LEB% [FECHH) JAL JAL 40,000 33% 20,000 67% 21,750 64%
#EA=LAFE PEEX [FRER(CEH) JAL JAL 43,000 32% 21,500 66% 23,700 63%
WOFEF [ R CHE) JAL JAL 43,000 32% 21,500 66% 23,700 63%
MHE=HE AR [HECHH) JAL JAL 37,000 39% 18,500 69% 20,500 66%
KR (EFH JAL JAC 37,000 33% 18,500 67% 20,500 63%
HE R (CHH) JAL JAL 37,000 39% 18,500 69% 20,500 66%
KR (EFH JAC JAL 37,000 33% 18,500 67% 20,500 63%
MHE=ES TR [EECHH) JAL JAL 37,000 37% 18,500 68% 20,500 65%
mE%E [HER(CHHE) JAL JAL 37,000 37% 18,500 68% 20,500 65%
MHA=E1 PEE [HRRERCEH) JAL JAL 40,000 32% 20,000 66% 21,750 63%
2% [HERCHEH) JAL JAL 40,000 32% 20,000 66% 21,750 63%
MEA=5 PEEX [FRERCEH) JAL JAL 40,000 34% 20,000 67% 21,750 64%
2% [HERCHEH) JAL JAL 40,000 34% 20,000 67% 21,750 64%
FE=L PEE [HRERCEH) JAL JAL 42,000 31% 21,000 66% 23,050 62%
WL [FECHH) JAL JAL 42,000 31% 21,000 66% 23,050 62%
FAE=dt M PEE [FRRERCEH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
LAME |RZECHEH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
ME=X% PEE [FRRERCEH) JAL JAL 43,000 33% 21,500 67% 23,700 63%
X% [HECHH) JAL JAL 43,000 33% 21,500 67% 23,700 63%
KR (EFH JAL JAL 43,000 24% 21,500 62% 23,700 58%
MEH=RI& BER [FHECHH) JAL JAL 45,000 34% 22,500 67% 24,950 63%
KR (EFH JAL JAL 45,000 29% 22,500 64% 24,950 60%
RB% [HECHH) JAL JAL 45,000 34% 22,500 67% 24,950 63%
KR (FH JAL JAL 45,000 29% 22,500 64% 24,950 60%
FHE=REX AR [FHECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
A% [HECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
AR (FH JAL JAL 45,000 26% 22,500 63% 24,950 59%
MEH==I& AR [HECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
BEFE [RRECRA) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KRR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
MHE=ERS HEEX [ERCHH) JAL JAL 47,000 31% 23,500 65% 25,900 62%
KRR (EFH JAL JAC 47,000 27% 23,500 63% 25,900 60%
EREH [HECHH) JAL JAL 47,000 31% 23,500 65% 25,900 62%
KR (FH JAC JAL 47,000 27% 23,500 63% 25,900 60%
Wiz =/hi W% |[RECRA) JAL JAL 35,000 21% 17,500 61% 18,950 57%
MR [FECHHE) JAL JAL 35,000 21% 17,500 61% 18,950 57%




SASH~16AFAIFEMEG NEER

JAL/JTA/JAC/RAC
FRFEIFT:5/25TIE

st R FAEEIS| INREBIEHREIS] SN VERFRIRMEEIS]
BXFE #ad | BHBO A= E—55 E—5E E—5E

FE0 [ EEe [ KEG 8/5-16 P &% | 8/5-16 P &% | 8/5-16 P w5
IRz =R W% [RECRA) JAL JAL 36,000 32% 18,000 66% 19,850 62%
FELFE  [EECRA) JAL JAL 36,000 32% 18,000 66% 19,850 62%
W =55 iR % |[RECRA) JAL JAL 37,000 31% 18,500 65% 20,500 62%
LEB% [FECHH) JAL JAL 37,000 31% 18,500 65% 20,500 62%
Wiz =1LOFER iR % |[RECRA) JAL JAL 42,000 26% 21,000 63% 23,050 60%
WOFEFE [ R CHE) JAL JAL 42,000 26% 21,000 63% 23,050 60%
W =H=E W% [RRECRA) JAL JAL 37,000 31% 18,500 66% 20,500 62%
KR (EFH JAL JAC 37,000 32% 18,500 66% 20,500 62%
HE HE(CHH) JAL JAL 37,000 31% 18,500 66% 20,500 62%
KR (EFH JAC JAL 37,000 32% 18,500 66% 20,500 62%
W =%5 W% |[RECRA) JAL JAL 36,000 31% 18,000 65% 19,850 62%
mEH [FECHH) JAL JAL 36,000 31% 18,000 65% 19,850 62%
Wi =mn W% [EFECRA) JAL JAL 36,000 31% 18,000 65% 19,850 62%
2% [FER(CHEH) JAL JAL 36,000 31% 18,000 65% 19,850 62%
iR =m&% W% [RECRA) JAL JAL 37,000 31% 18,500 66% 20,500 62%
Wiz =#xL W% |[RECRA) JAL JAL 37,000 32% 18,500 66% 20,500 62%
Wl [FECHHE) JAL JAL 37,000 32% 18,500 66% 20,500 62%
iRz =4t A W% [RECRA) JAL JAL 43,000 27% 21,500 64% 23,700 60%
wk=X% W% |[RECRA) JAL JAL 42,000 28% 21,000 64% 23,050 60%
AH% [FECHH) JAL JAL 42,000 28% 21,000 64% 23,050 60%
W =Ki& W% [RRECRA) JAL JAL 45,000 27% 22,500 63% 24,950 59%
KR (EFH JAL JAL 45,000 27% 22,500 64% 24,950 60%
RB% [FECHH) JAL JAL 45,000 27% 22,500 63% 24,950 59%
Wz =HEX W% [RRECRA) JAL JAL 43,000 27% 21,500 64% 23,700 60%
KRR (EFH JAL JAL 43,000 28% 21,500 64% 23,700 60%
AR [HECHH) JAL JAL 43,000 27% 21,500 64% 23,700 60%
KR (FH JAL JAL 43,000 28% 21,500 64% 23,700 60%
W =gEi& W% [RRECRA) JAL JAL 43,000 27% 21,500 64% 23,700 60%
AR (EFH JAL JAL 43,000 28% 21,500 64% 23,700 60%
BEFE [RRECRA) JAL JAL 43,000 27% 21,500 64% 23,700 60%
KR (EFH JAL JAL 43,000 28% 21,500 64% 23,700 60%
W =ERSE W% [RRECRA) JAL JAL 45,000 27% 22,500 63% 24,950 59%
KR (EFH JAL JAC 45,000 29% 22,500 64% 24,950 60%
EREH [HECHH) JAL JAL 45,000 27% 22,500 63% 24,950 59%
KRR (EFH JAC JAL 45,000 29% 22,500 64% 24,950 60%
e =HE mEFE [ KEREEFD JAL JAC 37,000 31% 18,500 65% 20,500 62%
HEHX [ KREEF JAC JAL 37,000 31% 18,500 65% 20,500 62%
g =X &R [ XREREEFD JAL JAL 42,000 23% 21,000 61% 23,050 58%
K% | KREEFD JAL JAL 42,000 23% 21,000 61% 23,050 58%
i =RiE WEFE [ KEREEFD JAL JAL 45,000 26% 22,500 63% 24,950 59%
RIEFE [ KREEFD JAL JAL 45,000 26% 22,500 63% 24,950 59%
s =ReAR &R [ KEREEFD JAL JAL 43,000 27% 21,500 63% 23,700 60%
REAFE [ KR(EEFD JAL JAL 43,000 27% 21,500 63% 23,700 60%
& ==& &R [ KEREEFD JAL JAL 45,000 23% 22,500 62% 24,950 57%
=g [ KR(EF JAL JAL 45,000 23% 22,500 62% 24,950 57%
me=ERrRs &R [ KEREEFD JAL JAC 45,000 27% 22,500 64% 24,950 60%
BRE KR (FEFH JAC JAL 45,000 27% 22,500 64% 24,950 60%
FR=HE FR%E [ KERURFD JAL JAC 34,000 34% 17,000 67% 18,550 64%
ELEPNTACGE)) JAC JAL 34,000 34% 17,000 67% 18,550 64%
FR=K FR% [ KERURFD JAL JAL 40,000 24% 20,000 62% 21,750 59%
X% | KREEFD JAL JAL 40,000 24% 20,000 62% 21,750 59%
FR=RIE FR% [ KERURFD JAL JAL 43,000 27% 21,500 64% 23,700 60%
RIBFE [ XREEFD JAL JAL 43,000 27% 21,500 64% 23,700 60%
FR=EEX FR% [ KERURFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
REAFE [ KR(EFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=E4 FR% [ KERURFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
BB [ KR(EF JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=ERS FER [ KERURFD JAL JAC 43,000 29% 21,500 64% 23,700 61%
BERS KR (EFH JAC JAL 43,000 29% 21,500 64% 23,700 61%
M= IR E S-ACEL:)) JAL JAL 35,000 38% 17,500 69% 19,350 66%
FELFE [EECRA) JAL JAL 35,000 38% 17,500 69% 19,350 66%
IMA=TR5 MM [RECHH) JAL JAL 36,000 37% 18,000 68% 19,800 65%
LEB% [FECHH) JAL JAL 36,000 37% 18,000 68% 19,800 65%
MY =LA FE MR [FECHE) JAL JAL 40,000 34% 20,000 67% 22,200 63%
IIsES: R (CHH) JAL JAL 40,000 34% 20,000 67% 22,200 63%
IMNR=HE IR E S-A€EL:)) JAL JAL 37,000 36% 18,500 68% 20,150 65%
HEH [RRCHA) JAL JAL 37,000 36% 18,500 68% 20,150 65%
INR=1ES N7 E GACET:) JAL JAL 34,000 39% 17,000 70% 18,900 66%
EE%E [HER(CHHE) JAL JAL 34,000 39% 17,000 70% 18,900 66%
INR=EH IR E S-A€EL:)) JAL JAL 35,000 37% 17,500 69% 18,950 66%
2% [HRER(CHEH) JAL JAL 35,000 37% 17,500 69% 18,950 66%
INR=TE4 AR [FERECHE) JAL JAL 37,000 36% 18,500 68% 20,150 65%
2% [HRERCHEH) JAL JAL 37,000 36% 18,500 68% 20,150 65%
AMEY=HALL IR E S-I€EL:)) JAL JAL 37,000 36% 18,500 68% 20,500 65%
WL  [FECHHE) JAL JAL 37,000 36% 18,500 68% 20,500 65%
INR=FERM MM [FHECHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
A R (CHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
INR=K5 MRF [FECHE) JAL JAL 42,000 32% 21,000 66% 22,850 63%
A% [FECHH) JAL JAL 42,000 32% 21,000 66% 22,850 63%
MNR=RIE IR E S-A€EL:)) JAL JAL 45,000 31% 22,500 65% 24,950 62%
RB% [HECHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
INR=FER IR E S-1CEL:)) JAL JAL 43,000 32% 21,500 66% 23,550 63%
A% [HFECHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
INR=FIF IR E S-1€EL:)) JAL JAL 43,000 32% 21,500 66% 23,550 63%
ER%E [RRCRA) JAL JAL 43,000 32% 21,500 66% 23,550 63%
INR=FER IMAFE [RHRECHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
ERS FUR CHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IMA=FTH NS [ (RER) JTA [JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EaHE [FEGR JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
IMAY=F1E MNFE 8 (FRER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
AiEHE [HEGER JTA JTA 61,500 8% 30,750 54% 37,950 43%
fL=&% FELFE [ GRE3) JTA [JTA/RAC 50,000 9% 25,000 55% 27,500 50%
BEO% GRS JTA/RAC|  JTA 50,000 9% 25,000 55% 27,500 50%
[EITEE=E] BN ET 16 ) JTA JTA 52,000 14% 26,000 57% 31,000 49%
AiEH  [HEGER JTA JTA 52,000 14% 26,000 57% 31,000 49%




8A5HE~16 A EHRMBEIZ JEEER el

et HRIRBEE INRAR R RMEIS| SIREMNERIRBEIE]
R @D | R BOE= E—7% E—7% E—75

= ~T =5 T =] 8/5-16 - | f&% | 8/5-16 = | & | 8/5-16 = | EE
REO® | RKEQ | XREG EEIES EEIES EEIES
EH==5 [SHEd FE ] JAL JAC 27,700 42% 13,850 71% 17,750 63%
EAGES 12E JAC JAL 27,700 42% 13,850 71% 17,750 63%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
S5m% Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRAE| EEXEH EX JAC JAC 16,800 43% 8,450 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,450 72% 12,650 57%
BN =F & P48 (BRER) H | 3R CHHE) JAL/JTA] JAL 54,000 28% 27,000 64% 29,750 60%
B T ESACED) JAL _[JAL/JTA 54,000 28% 27,000 64% 29,750 60%
KR (EFH JAL JAL 54,000 28% 27,000 64% 29,750 60%
SPRB(INER) ==IR [h#8 (FRER) % | 3R CHEH) JAL/JTA] JAL 54,000 28% 27,000 64% 29,750 60%
ZR% [HECHH) JAL _[JAL/JTA 54,000 28% 27,000 64% 29,750 60%
SPB(INER) =FAE [h4E (BRER) H | 3R CHE) JAL/JTA] JAL 52,000 25% 26,000 63% 28,800 59%
AR [HECHH) JAL [JAL/JTA 52,000 25% 26,000 63% 28,800 59%
KR (EFH JAL JAL 52,000 27% 26,000 64% 28,800 60%
SPHB(INER) = LT [Sh48 (ARER) 5| 3R CHEH) JAL/JTA] JAL 52,000 18% 26,000 59% 28,800 55%
W% [RRECRA) JAL _[JAL/JTA 52,000 18% 26,000 59% 28,800 55%
KR (EFH JAL JAL 52,000 26% 26,000 63% 28,800 59%
B () =115 [(FEXHRHX] = JTA JAL 52,800 30% 26,400 65% 28,950 62%
& F 128 JAL JTA 52,800 30% 26,400 65% 28,950 62%
SPAB(GIRER) =/ SR8 (ARER) | 3R CHE) JAL/JTA] JAL 48,000 28% 24,000 64% 26,200 61%
AR [HE CHE) JAL _[JAL/JTA 48,000 28% 24,000 64% 26,200 61%
R E) =55 FMEGRE |  ERE JTA JAL 32,400 42% 16,200 71% 20,150 64%
=A% & JAL JTA 32,400 42% 16,200 71% 20,150 64%
ShEE(RER) =L [(MEGEBRIX] & JTA JAC 44,000 16% 22,000 58% 24,300 54%
FALLFE 12 JAC JTA 44,000 16% 22,000 58% 24,300 54%
RRCAR) =EZAB|RR (PR E| ERE JAL JAC 45,800 31% 22,900 66% 28,100 58%
KR (EFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
EBEXER | ERS JAC JAL 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
ER(CABR)=ERB[ER(FAE)%] ERSE JAL JAC 45,350 31% 22,700 65% 28,150 57%
BERE JAL JAC 45,350 22% 22,700 61% 28,100 51%
EREH BRES JAC JAL 45,350 31% 22,700 65% 28,150 57%
ER(CABR) =#zB[ZER(FHE) %] ERS JAL JAC 46,950 33% 23,500 66% 28,850 59%
BERE JAL JAC 47,800 23% 23,900 61% 29,400 52%
[EFAEES ERS JAC JAL 46,950 33% 23,500 66% 28,850 59%
BERE JAC JAL 47,800 23% 23,900 61% 29,400 52%
HRHE) =k RH|ERCIA) | ERS JAL JAC 48,350 32% 24,200 66% 30,050 57%
HKBREHE | BERE JAC JAL 48,350 32% 24,200 66% 30,050 57%
BERE JAC JAL 48,350 26% 24,200 63% 30,050 54%
RROPHE)=5# AR (PR %] ERS JAL JAC 48,750 32% 24,400 66% 30,300 58%
5w ERS JAC JAL 48,750 32% 24,400 66% 30,300 58%
BERE JAC JAL 48,700 28% 24,350 64% 30,250 56%
ShKBER | BEKAE [ JAC JAC JAL | 50,850 32% 25,450 66% 30,250 60%
KR () =BEARE[ AR (B E| ERS JAC JAC 40,700 25% 20,350 63% 24,700 55%
BEAEHR | BERE JAC JAC 40,700 25% 20,350 63% 24,700 55%
KB (D =ERE| KR (FHFE| _ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BERE JAL JAC 40,600 15% 20,350 58% 24,950 48%
EREH ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BERE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KR (B =B XRFM %] ERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
[FFAEES ERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
BERE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KR () =k BH[XR(BEDE| ERS JAC JAC 43,250 26% 21,650 63% 26,700 54%
HKBEHE | BERE JAC JAC 43,250 26% 21,650 63% 26,700 54%
KRB =5# [KR(FFH%| ERS JAC JAC 43,650 27% 21,850 64% 26,950 55%
S5 BRES JAC JAC 43,650 27% 21,850 64% 26,950 55%
BE=EXXE BEH BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
EBEAEHR | ERS JAC JAC 32,750 29% 16,400 64% 19,700 57%
ER=ER5 [ EEXE JAC JAC 33,650 19% 16,850 59% 20,600 50%
EREH BRS JAC JAC 33,650 25% 16,850 63% 20,600 54%
BE=Ez8 e BERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
BERE JAC JAC 34,150 25% 17,100 62% 20,700 54%
[FFAEES ERS JAC JAC 34,150 31% 17,100 66% 20,700 58%
BERE JAC JAC 34,150 25% 17,100 62% 20,700 54%
BE=4KBE B3 BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
HKBREHE | BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
BERE JAC JAC 35,300 28% 17,650 64% 21,700 56%
EE=5#H [ERES ERE JAC JAC 35,700 31% 17,850 66% 21,950 58%
5% EEAES JAC JAC 35,700 31% 17,850 66% 21,950 58%
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BERHE) =84 [EZECHE)F|#E JRE) [JAL/JTA[JTA/RAC| 36,000 38%
BEaf | E8FH) | JTA/RACIJAL/JTA] 36,000 38%

HRCHE)=/1E [ERCHA) #PHEJRE) [JAL/JTA[  JTA 36,300 43%
KRB (BEFE)|  JAL JTA 36,300 49%

AiEHR [P @ERE)| JTA  |JAL/JTA| 36,300 43%

RBx (BEAE)|  JTA JAL 36,300 49%

KRB (FF) =& @5l | KR (R F|ER CHE) | JAL JAL 34,800 45%
AR | EECHHE)| JAL JAL 34,800 45%
IR TR JAL JAL 34,800 44%

K (BE7) =255 3 | KBR (BEFE) FE[ALR i Fm) | JAL JAL 34,800 44%
ZERE [AR@ETs|  JAL JAL 34,800 44%

P NUACGIS RS R ESACGTEE A ES{CE: 5] N JAL 32,700 47%
MBI [EECHER)| JAL JAL 32,700 47%

KB (B8da) =n8)Il | KEx (B8FE) F|H=CHHE)[ JAL JAL 32,700 47%
I [EECHER)| JAL JAL 32,700 47%

K () =338 | KR (FD) R |E=CHAHE)|[  JAL JAL 33,500 45%
Bl  [EFECHHE)| JAL JAL 33,500 45%

K () =86 | RERFD R|ERECHAHE)|[  JAL JAL 32,700 46%
L  |[ERERCHHE)| JAL JAL 32,700 46%

R (BfE) =%k =L |[ERCHE)| JAL JAL 32,700 46%
KB (B =g [ R (FEFD R |EFECHHE)|[  JAL JAL 32,400 40%

BNEER [EECHHE)| JAL JAL 32,400 40%
KB (FFH) ==iR [RIER(FEFD R |EFECHHE)[ JAL JAL 30,200 42%
_,R% RRECHHAE)| JAL JAL 30,200 42%
Kir (Bif8) ==iR =R%E  |[ERERGEH)| JAL JAL 30,200 42%
KBR (R =R j:lﬂi( B FE| HE JAC JAC 19,500 38%
2l HE JAC JAC 19,500 38%

K (7 =BFE | XREFEM X ERE JAC JAC 31,000 21%

BFEX BERE JAC JAC 31,000 21%
K () ==1d [ KR FM FE|HEGRZE)| JAL  [JTA/RAC| 34,400 33%
BoH  [PFEGEE) | JTA/RAC|  JAL 34,400 33%
K (BfE) ==& [ KX (B3F) F| 42 (ARE) [JAL/JTA[JTA/RAC| 34,400 33%
=% [P (E8E) | JTA/RAC|JAL/JTA| 34,400 33%
K () =71\ | KR FM R HEGE)|[  JAL JTA 36,100 37%
AiEF |G| JTA JAL 36,100 37%
K (Bfe) =/iE | K (B3F) F |48 (ARE) [JAL/JTA[  JTA 36,100 37%
RIEXK [P @BE)| JTA |JAL/JTA| 36,100 37%
BEHE(PE) =%EH | 252 (P8 R EFFH) | JAL JAL 31,900 46%
ZiERE [AR@ETs|  JAL JAL 31,900 46%
ZEE(RE) == (2 5E () &P (385E)| JTA |JTA/RAC| 35,200 37%
BoF |5 |JTA/RAC|  JTA 35,200 37%
ZHE(hE) =07iE[45EFH) P EFH)| JTA JTA 36,200 41%
AiEE [ HEGRE)| JTA JTA 36,200 41%

IR GrF =) =/Ma[AUIR FFR) [ ERCHA)|  JAL JAL 25,800 53%
IR [EERERCHHE)|  JAL JAL 25,800 53%
ARG FE) =mIL IR EFFR R[ERCHIA)|  JAL JAL 31,300 51%
FLFE  |ERCHHE)| JAL JAL 31,300 51%
R EFE) =LERETFH R[ERCHIA)| JAL JAL 32,100 50%
LEFE  |[EECHHE)| JAL JAL 32,100 50%

R TR =LOFSB[ LR EFFH R ERCHE)|  JAL JAL 33,600 51%
WOFEHHE [FRCHAH)|[  JAL JAL 33,600 51%
IR G =HEMHREFEFR Z[ERCHA)| JAL JAL 30,000 54%
HEHX |ERCHH)| JAL JAL 30,000 54%
AR TR =EEHIRETFH R[EFTCHIA)| JAL JAL 31,200 50%
mEHX [EmECHAE)| JAL JAL 31,200 50%
IR G FE) =2t FF) [ ERCHA)|  JAL JAL 32,000 49%
2%  [EFEIHE)| JAL JAL 32,000 49%
IR GrF=) =S8R EFFR) [ ERCHA)| JAL JAL 33,200 49%
%  |[EFERERCHHE)| JAL JAL 33,200 49%
IR G FmE) =AU FF) [ ERCHA)|  JAL JAL 35,000 46%
WmFE  [EFECIHE)| JAL JAL 35,000 46%

IR (FFR) =dt o [ALIR G Fa) Z[ERE CHA) | JAL JAL 33,600 52%
A [ERECHE)| JAL JAL 33,600 52%
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R EFFE) =K HLUIREF TR R[EFECHA)| JAL JAL 33,600 51%
RKHFE [EECHH)| JAL JAL 33,600 51%
IR (FFr) =RIB | FLIEEF TR | TR CHIA) | JAL JAL 35,200 51%
RIBH [ERECHH)| JAL JAL 35,200 51%
IR (BT F ) =REARALIEEH T8 | TR CHA) | JAL JAL 34,400 51%
REEARE [EECHH)| JAL JAL 34,400 51%
IR (FFm) == LIEE TR | TR CHIA) | JAL JAL 35,200 50%
=BEF [EECHH)| JAL JAL 35,200 50%
IR FHFR) =EREHREFETFH X[EFECHA)| JAL JAL 39,200 46%
BEREF [EECHH)| JAL JAL 39,200 46%
IR (HF8) =@M | AR FHFR R TR CHHE)[ JAL  [JAL/JTA[ 41,000 45%
KB (BH7E)| JAL |JAL/JTA| 41,000 46%
ZHE(FE|  JAL JTA 41,000 46%
120 JAL JTA 41,000 48%
SR (BRER) | R = CFH) [JAL/JTA[  JAL 41,000 45%
KR (B78) |JAL/JTA]  JAL 41,000 46%
ZHEFEH] JTA JAL 41,000 46%
120 JTA JAL 41,000 48%
12 = 2 i Al EEE [EZR@HE)| JAL JAL 39,800 49%
HIRE TR JAL JAL 39,800 45%
ZimAlFE |EERCHE)|  JAL JAL 39,800 49%
HIRE TR JAL JAL 39,800 45%
12 = ElFE  [EFECIHE)| JAL JAL 35,700 53%
BJIF  [EECHH)| JAL JAL 35,700 53%
120 =8E& EEE  [EE@E@HE)| JAL JAL 35,200 53%
FFEFE  [EECHE)| JAL JAL 35,200 53%
Bl =%k ElE  [EE@E@HE)| JAL JAL 35,700 52%
wILhFE  [EECHHE)| JAL JAL 35,700 52%
12 =KEE EEE  [EER@E@HE)| JAL JAL 39,500 42%
BNEER [EECHHE)| JAL JAL 39,500 42%
=R =8% EEE [EZR@HE)| JAL JAL 34,300 49%
R (FFH)|  JAL JAL 34,300 41%
BEHE [EERCHH)| JAL JAL 34,300 49%
R (FFH)|  JAL JAL 34,300 41%
BRE==; EmFE  [EFECIHE)| JAL JAL 33,900 49%
=ZR¥E |[EECHH)| JAL JAL 33,900 49%
12 =145 mmFE  [RERUEFD| JAL JAL 33,100 42%
t&EHF  [RRUEFD| JAL JAL 33,100 42%
t2fE =FAH EmFE  [EFECHIHE)| JAL JAL 33,900 45%
MEx [EECHH)| JAL JAL 33,900 45%
KR (FF1)|  JAL JAL 33,900 38%
12 =% EEF [EECHR)| JAL JAL 29,600 46%
KR (FF1)|  JAL JAL 29,600 45%
Wks  |EECHHE)|  JAL JAL 29,600 46%
RERRFH|  JAL JAL 29,600 45%
=i =% EEE  [KERUEFD| JAL JAL 29,600 42%
FiaFE [ RERUEFD| JAL JAL 29,600 42%
12 =/ D fEEFE  [EECHE)| JAL JAL 29,500 50%
A [ERERCHHE)|  JAL JAL 29,500 50%
EE==194 EEHx [P ERE)| JTA |JTA/RAC| 31,200 31%
BoF | GRE)|JTA/RAC|  JTA 31,200 31%
B =/ EEE  [FEGEE)| JTA JTA 34,900 31%
AiEE [HEGRE)| JTA JTA 34,900 31%
ZEE =& il FE  [AREFH)|  JAL JAL 24,400 51%
WEH  [Am@EFs)| JAL JAL 24,400 51%
R =/ ZAlE |HEECHHE)| JAL JAL 32,700 48%
IMAFE  [EERERCHHE)|  JAL JAL 32,700 48%
2255 Bl =g LWy ZAlE |HEECHHE)| JAL JAL 36,000 49%
MILFE  |ERCHHE)| JAL JAL 36,000 49%
TiER=HE ZAlE |HEECHHE)| JAL JAL 34,700 52%
HEHX |ERCHH)| JAL JAL 34,700 52%
R =M ZAlE |HEECHHE)| JAL JAL 39,600 46%
WmFE  [EFECIHE)|  JAL JAL 39,600 46%
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TBJI =/ BIIF  [EECHEA)| JAL JAL 32,700 47%
IMVRFE [ERFECHHE)|  JAL JAL 32,700 47%
JBJI =L I [EECHE)| JAL JAL 36,000 48%
MlFE  |ERECHHE)| JAL JAL 36,000 48%
Bl=HZE I [EECHE)| JAL JAL 34,700 51%
HER  |ERERCHH)| JAL JAL 34,700 51%
TBJI=#3L I [EECHEA)| JAL JAL 39,600 45%
MILFE  [EECHE)| JAL JAL 39,600 45%
IR =/ BlEEFE  [ERFECHHE)| JAL JAL 32,700 46%
IMNRFE [ERFECHHE)|  JAL JAL 32,700 46%
&=L BlEEFE  [ERFECHHE)| JAL JAL 36,000 48%
MlFE  |ERECHHE)| JAL JAL 36,000 48%
i =H=E #IFRFE  [EmCHE)| JAL JAL 34,700 51%
HER  |ERERCHH)| JAL JAL 34,700 51%
=10 s  [ERFECHHE)| JAL JAL 39,600 44%
*'Au.l% RRCHA)| JAL JAL 39,600 44%
L=/ waFE  |[EECHHE)| JAL JAL 32,700 46%
/J\ ¥ [RECHHE)| JAL JAL 32,700 46%
wiL=[W HLhFE  |[ERCHHE)| JAL JAL 36,000 47%
MlFE  |ERECHHE)| JAL JAL 36,000 47%
wh=HE whE |EERGEH)| JAL JAL 34,700 50%
HER  |ERERCHH)| JAL JAL 34,700 50%
wL=w0 whFE  |[ERERCHHE)| JAL JAL 39,600 44%
MILFE  [EECHHE)|[  JAL JAL 39,600 44%
BEE =/ BERE [EER@E@HE)| JAL JAL 26,800 50%
IMNRFE [ERFECHHE)|  JAL JAL 26,800 50%
BRIEE ==L BHEEH  [EmCHHE)| JAL JAL 34,900 43%
MlFE  |ERECHHE)| JAL JAL 34,900 43%
EREE=HZE BHEEH  [EmCHHE)| JAL JAL 33,700 46%
HER  |ERERCHHE)| JAL JAL 33,700 46%
EEE=L EERX [EE@E@HE)| JAL JAL 38,400 39%
MILFE  [EECHE)| JAL JAL 38,400 39%
EREE =t AL EEEX [EE@E@HE)| JAL JAL 32,400 52%
A E |HECHHE)| JAL JAL 32,400 52%
EKEE =K% BHEEH  [EmCHHE)| JAL JAL 32,400 52%
RKHFE [EECHH)| JAL JAL 32,400 52%
EEE =R IF BERX [EE@E@HE)| JAL JAL 33,600 52%
RIBH [ERECHH)| JAL JAL 33,600 52%
BEE=RER BHEEH  [EmCHHE)| JAL JAL 33,600 51%
REEARFE [EECHH)| JAL JAL 33,600 51%
EKEE == 15 BHEEH  [EmCHHE)| JAL JAL 33,600 51%
BEF [ERECHH)| JAL JAL 33,600 51%
=ERE BERE [EFE@E@HE)| JAL JAL 34,400 51%
BEREF [EECHH)| JAL JAL 34,400 51%
BHE=/M FHE  [EE@E@HE)| JAL JAL 25,600 51%
IMVRFE [ERFECHHE)|  JAL JAL 25,600 51%
EHF=RWL Fa% [EFEEHE)| JAL JAL 28,800 52%
MlFE  |ERECHHE)| JAL JAL 28,800 52%
BEH=LE EHEHE  |ERERCHHE)| JAL JAL 29,600 51%
LEEF [EECHH)| JAL JAL 29,600 51%
HFH=L0O5FH FHE  [EE@E@HE)| JAL JAL 31,200 52%
WOFEF [BRECHH)[  JAL JAL 31,200 52%
BEHE=HE BFHEHX [ERERGH)| JAL JAL 28,800 53%
Rir (FFH)|  JAL JAC 28,800 48%
HEHX |ERCHH)| JAL JAL 28,800 53%
Kk F#FH)|  JAC JAL 28,800 48%
EHE=EE EFHEHX  |[FERERCGH)| JAL JAL 30,600 49%
mEHX [EECHHE)| JAL JAL 30,600 49%
EHE=a aa% [EFEGIHE)| JAL JAL 28,800 52%
=SF  [EECHHE)| JAL JAL 28,800 52%
BEH=aH Fa% [EFEEHE)| JAL JAL 29,600 52%
SEF  [EECHHE)| JAL JAL 29,600 52%
EHF=wL Fa% [EFEGHE)| JAL JAL 29,600 52%
MILFE  [EECHE)| JAL JAL 29,600 52%
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BEHE=AhM FHE  [EE@E@HE)| JAL JAL 31,200 53%
A E |HEECHHE)| JAL JAL 31,200 53%
BEHE=XH EHEHE  |ERERCHHE)| JAL JAL 31,200 53%
RKHFE [EECHH)| JAL JAL 31,200 53%
EHE=FKB BEHE [ERERCHH)| JAL JAL 33,600 51%
R (FFH)|  JAL JAL 33,600 46%
EEH [ERECHH)| JAL JAL 33,600 51%
R (FFH)|  JAL JAL 33,600 46%
BEHE=EX EHEHE  |ERERCHHE)| JAL JAL 32,400 51%
REEARFE [EECHHE)| JAL JAL 32,400 51%
KR (FF1)|  JAL JAL 32,400 46%
EH=EF FHE [ERE@HE)| JAL JAL 32,400 51%
KR (FF1)|  JAL JAL 32,400 46%
=BEH [EECHH)| JAL JAL 32,400 51%
KR (FF1)|  JAL JAL 32,400 46%
EH=ERE FHE [ERE@HE)| JAL JAL 33,600 51%
KR (FF1)|  JAL JAC 33,600 47%
BERER [EECHH)| JAL JAL 33,600 51%
KR (FF1)|  JAC JAL 33,600 47%
ZIR=/ ZR¥E |[EECHH)| JAL JAL 25,600 50%
IR FE [EEECHHE)|  JAL JAL 25,600 50%
=R=FEW ZR¥E |[EECHH)| JAL JAL 28,800 52%
MILFE  |ERCHHE)| JAL JAL 28,800 52%
ZR=ILE ZR¥E |[EECHH)| JAL JAL 29,600 51%
LEF¥  |[EECHHE)| JAL JAL 29,600 51%
ZR=LOFE ZR¥ |[EECHH)| JAL JAL 31,200 51%
WOFEHHE [FRCHAH)|[  JAL JAL 31,200 51%
ZR=HEZE =ZR¥E |[EECHH)| JAL JAL 28,800 53%
HEHX |ERCHHE)| JAL JAL 28,800 53%
=R=fE ZR¥E |[EECHH)| JAL JAL 30,100 49%
mEHX [EmECHAE)| JAL JAL 30,100 49%
=R=gm =R% |[ERCHHE)| JAL JAL 28,800 51%
=SFE  [EECHA)| JAL JAL 28,800 51%
=R=84H ZR¥E |[EECHH)| JAL JAL 28,800 53%
%  |[ERERCHH)| JAL JAL 28,800 53%
ZR=w1l ZR¥E |[EECHH)| JAL JAL 29,600 52%
WmFE  [EFECIHE)| JAL JAL 29,600 52%
=iR=4t A ZR¥E |[EECHH)| JAL JAL 31,200 53%
JdEAFE [EECHE)| JAL JAL 31,200 53%
=R=X%» ZR¥E |[EECHH)| JAL JAL 31,200 52%
KHFE  |[EECHH)| JAL JAL 31,200 52%
ZiR=RI% ZR¥E |[EECHH)| JAL JAL 33,600 51%
EBH [EECHHE)| JAL JAL 33,600 51%
ZIR=RERX ZR¥ |[EECHH)| JAL JAL 32,400 51%
REEAF [EECHHE)| JAL JAL 32,400 51%
ZIR=E% ZR¥E |[EECHH)| JAL JAL 32,400 51%
BEF  [FERECHHE)| JAL JAL 32,400 51%
=R=FERE =ZR¥E |[EECHH)| JAL JAL 33,600 51%
BEREF [ERECHH)| JAL JAL 33,600 51%
FUH =/ MEHX [EECHH)| JAL JAL 24,800 47%
IRFE [EECHHE)|  JAL JAL 24,800 47%
FUE=MW MEHX [EECHH)| JAL JAL 25,600 53%
MLFE  |ERCHHE)| JAL JAL 25,600 53%
ME=LE MEHX [EECHH)| JAL JAL 27,200 51%
LEF¥  |[EECHHE)| JAL JAL 27,200 51%
ME=LAFY MEHX [EECHH)| JAL JAL 29,600 50%
WOFEHE [FRECHHE)|[ JAL JAL 29,600 50%
MHA=HE MEx [EECHH)| JAL JAL 25,600 54%
KB R JAL JAC 25,600 51%
HER |ERERCHH)| JAL JAL 25,600 54%
KRR JAC JAL 25,600 51%
E=EE MEHX [EECHH)| JAL JAL 25,600 53%
mEHX [EmECHAE)| JAL JAL 25,600 53%
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MHE= MEHX [ERCHH)| JAL JAL 27,200 50%
=SF  [EECHHE)| JAL JAL 27,200 50%
ME=3=4% MEHX  [EECHA)| JAL JAL 27,200 51%
SEF  [EECHHE)| JAL JAL 27,200 51%
ME=®L NEFE  [ERECHHE)|  JAL JAL 28,800 49%
fALFE  [ERECHE)|  JAL JAL 28,800 49%
A =4t i NEFE  [ERECHHE)|  JAL JAL 29,600 52%
A E |HEECHHE)| JAL JAL 29,600 52%
ME=X% MEHX  [EECHHA)| JAL JAL 29,600 51%
RHFE [EECHH)| JAL JAL 29,600 51%
KR (FF1)|  JAL JAL 29,600 43%
ME=R% MEx [EECHH)| JAL JAL 31,200 51%
KB (EFD|  JAL JAL 31,200 47%
RIBF [EECHH)| JAL JAL 31,200 51%
KB (EFD|  JAL JAL 31,200 47%
FME=8EXK MEx [EECHH)| JAL JAL 31,200 49%
KB (EFDH|  JAL JAL 31,200 45%
REEARFE [EECHH)| JAL JAL 31,200 49%
KB (EFDH|  JAL JAL 31,200 45%
ME==% MEx [EECHH)| JAL JAL 31,200 49%
KB (EFDH|  JAL JAL 31,200 45%
=BEH [EECHH)| JAL JAL 31,200 49%
KB (EFDH|  JAL JAL 31,200 45%
ME=FERE MEx [EECHH)| JAL JAL 32,400 49%
KR (FF1)|  JAL JAC 32,400 46%
BERER [EECHH)| JAL JAL 32,400 49%
KR (FF1)|  JAC JAL 32,400 46%
IR =7hiR WkH  |ERECHHE)| JAL JAL 23,700 41%
IRFE [EEECHHE)|  JAL JAL 23,700 41%
iz =&l WkH  |ERECHHE)| JAL JAL 24,800 49%
MLFE  |ERCHHE)| JAL JAL 24,800 49%
N WkH  |ERECHHE)| JAL JAL 27,100 45%
LEF¥  |[EECHHE)| JAL JAL 27,100 45%
W =W0O=FE WkH  |ERECHHE)| JAL JAL 28,800 45%
WOFEH [FRECHH)|[ JAL JAL 28,800 45%
WH=HE Ws  |ERECHHE)|  JAL JAL 27,100 45%
KB (EFDH|  JAL JAC 27,100 47%
HER |ERERCHHE)| JAL JAL 27,100 45%
KER(FEFD|  JAC JAL 27,100 47%
Wk=E5 WkFE |ERECHHE)| JAL JAL 25,800 46%
mEF [EFEHE)| JAL JAL 25,800 46%
W= WkH |ERECHHE)| JAL JAL 24,800 48%
2%  [EFEIHE)| JAL JAL 24,800 48%
W ==450 WkH  |ERECHHE)| JAL JAL 25,600 48%
Wz = L% |E=CHE)| JAL JAL 25,600 49%
W FE  |EERECHHE)|  JAL JAL 25,600 49%
Wiz =de WkH  |ERCHHE)| JAL JAL 29,600 46%
Wiz =K% WkH  |ERECHHE)| JAL JAL 28,800 46%
Ao% [ERERCHHE)| JAL JAL 28,800 46%
W =RKI& WkH  |ERECHHE)| JAL JAL 31,200 45%
REBH [EEECHHE)| JAL JAL 31,200 45%
W =8=XR Wks  |ERECHHE)|  JAL JAL 29,600 46%
KR (FF1)|  JAL JAL 29,600 47%
REEARFE [EECHH)| JAL JAL 29,600 46%
KR (FF1)|  JAL JAL 29,600 47%
W == 5 Wks  |ERECHHE)|  JAL JAL 29,600 46%
KR (FF1)|  JAL JAL 29,600 47%
=BEF [EECHH)| JAL JAL 29,600 46%
KR (FF1)|  JAL JAL 29,600 47%
Wk=ERE Ws  |ERECHHE)|  JAL JAL 31,200 45%
KB (EFD|  JAL JAC 31,200 47%
BERER [EECHH)| JAL JAL 31,200 45%
KER(FEFD|  JAC JAL 31,200 47%




7TRE1B~7HI #2571 EER

JAL/JTA/JAC/RAC

FREBERT:5/25T1E

EL— P N ikh
B g | HERH - BES %
XEQD | KE® -

WE=HE e  [KRUFEM)|  JAL JAC 25,600 49%
HER | XKERUEM)| JAC JAL 25,600 49%
WE=X% WEFR  [KRUFM)|  JAL JAL 28,800 43%
RKHFE | RERUFEFD| JAL JAL 28,800 43%
WE=FK& wEH [RERUFFD| JAL JAL 31,200 45Y%
REBFE [ RKERUFM)|  JAL JAL 31,200 45%
& =rEX wEH  [RIURFD| JAL JAL 29,600 45%
EEAE [ RKERUFEMD| JAL JAL 29,600 45%
W& =g wEH [RKERUFFD| JAL JAL 31,200 43%
=BlEFE [ RKERUF)|  JAL JAL 31,200 43%
LWE=ERE weEFE  [RERUEFD| JAL JAC 31,200 46%
BEREE |XKIRUFM)| JAC JAL 31,200 46%
HiR=H=E iE%  [KIRUEFD| JAL JAC 23,200 52%
HER | XKERUEM)| JAC JAL 23,200 52%
HR=XH iEE  [KIRUEFD|  JAL JAL 27,200 445%
RKHFE | RERUFEFD| JAL JAL 27,200 44%
He=FK& iE%  [KIRUEFD| JAL JAL 29,600 46%
REBFE [ RERUF)| JAL JAL 29,600 46%
FR=REX iE%  [KIRUEFD| JAL JAL 28,800 45%
EEAE [ RKERUFEMD| JAL JAL 28,800 45%
HR==% iEE  [KIRUEFD| JAL JAL 28,800 45%
=BlEFE [ RKERUF)|  JAL JAL 28,800 45%
HE=ERE FaHE [RERUERFD| JAL JAC 29,600 47%
BEREE |XKIRUFM)| JAC JAL 29,600 47%
IR =FELL IR [EERERCHHE)|  JAL JAL 24,200 53%
MlFE  |ERECHHE)| JAL JAL 24,200 53%
IMR=TLE MR [EREREHE)| JAL JAL 24,800 53%
LEEF [EECHH)| JAL JAL 24,800 53%
I =1LOFE IRFE [EEECHHE)|  JAL JAL 27,800 51%
WOFEF [RRECHH)[  JAL JAL 27,800 51%
INA=HZE IR [ERERCHHE)|  JAL JAL 25,200 53%
HER  |ERERCHH)| JAL JAL 25,200 53%
INA=TEE IMAFE [ERERCHHE)|  JAL JAL 26,400 49%
mEHX [EECHHE)| JAL JAL 26,400 49%
IMNA=T MR [EREREE)| JAL JAL 23,700 549
=SF  [EECHHE)| JAL JAL 23,700 54%
IMNR=F% IRFE [EECHHE)|  JAL JAL 25,200 53%
SEF  [EECHHE)| JAL JAL 25,200 53%
IMR=L IMAFE  [ERERCHHE)|  JAL JAL 25,600 52%
MILFE  [EECHE)| JAL JAL 25,600 52%
NS =HE L I FE [EECHHE)|  JAL JAL 29,500 50%
A E |HECHHE)| JAL JAL 29,500 50%
IMR=K5 IR [EERERCHHE)|  JAL JAL 28,600 50%
RKHFE [EECHH)| JAL JAL 28,600 50%
IM=RIF IRFE [EEECHHE)|  JAL JAL 31,200 49%
RIBH [EECHH)| JAL JAL 31,200 49%
INA=RER IMAFE [ERERCHHE)|  JAL JAL 29,500 50%
REEARE [EECHH)| JAL JAL 29,500 50%
M= F IR [ERERCHHE)|  JAL JAL 29,500 50%
BEF [ERECHH)| JAL JAL 29,500 50%
INA=FERE IRFE [EEECHHE)|  JAL JAL 31,200 49%
BEREF [EECHH)| JAL JAL 31,200 49%
M=% INRFE hEE(IRER) | JTA  |JTA/RAC| 36,000 38%
Eof [P @EFH) |JTA/RAC]  JTA 36,000 38%
IMa=H1iE INRFE R GRER)| JTA JTA 36,300 43%
RiEFR  |HPEGEER)| JTA JTA 36,300 43%
MU== MFE  P#E@RE)| JTA  [JTA/RAC| 34,400 33%
Eof [P @EFH) |JTA/RAC]  JTA 34,400 33%
[ =%518 ] LU F& HEEGRER) | JTA JTA 37,000 35%
RiEFR  |HEGEER)| JTA JTA 37,000 35%
B =E% SEFE [ JAL JAC 26,300 39%
= 2R JAC JAL 26,300 39%
BERE=5H | EXXEX | HKEE | JAC JAC 18,700 30%
5% HKkBE | JAC JAC 18,700 30%




7TRE1B~7HI #2571 EER

JAL/JTA/JAC/RAC
FREBERT:5/25T1E

EL— P N ikh
4 g | BERH 7/1-7 fh;% iz
XEQD | KE® -

BEAE=HXKEH| EXXEH h JAC JAC 16,000 46%
Pk BERFE EE JAC JAC 16,000 46%
SRR =8F PG5 | R= CHH) [JAL/JTA[  JAL 37,200 48%
Fa&% [FEm@am)| JAL |UAL/JTA] 37,200 48%
HEGRER) ==R 8 @85 F|RH= CHH) [JAL/JTA[  JAL 37,200 47%
=R%E O|EFZEA)| JAL |JAL/JTA| 37,200 47%
S GRER) =fE PG5 F|R= CHHE) [JAL/JTA[  JAL 36,000 45%
#MEXx [FEmm|)| JAL [JAL/JTA]l 36,000 45%
R GRER) =R [ G5 F R = CFH) [JAL/JTA[  JAL 36,000 39%
WHz%  |E=EmCEHAE)| JAL  |[JAL/JTA| 36,000 39%
iR (RER) =LE (PSR R| EEHE JTA JAL 38,900 45%
=3 2 JAL JTA 38,900 45%
R (ARER) =/ 8 (BRE) R R E CFH) [JAL/JTA[  JAL 34,900 44%
M [Em(RE)| JAL  [JAL/JTA| 34,900 44%
HEGRER) =55 HEGE) | &M JTA JAL 25,200 51%
SEIF 2 JAL JTA 25,200 51%
iR (ARER) =0 (PR R ERE JTA JAC 30,000 38%
[NITE: 3 12 JAC JTA 30,000 38%
RR(PAE) =BxXE(ERCHE)X| ERBE JAL JAC 41,700 33%
R FFH)|  JAL JAL 41,700 29%
BEXRER | ERE JAC JAL 41,700 33%
R FFH)|  JAL JAL 41,700 29%
HRERCHR)=ERE|RACHE)X| EIRE JAL JAC 41,800 34%
TEXE [ JAL JAC 41,800 25%
EREX BERE JAC JAL 41,800 34%
RECHA) =f#zE|RR(PE) | ERE JAL JAC 42,800 35%
BEXEXE JAL JAC 43,600 27%
mzER BERE JAC JAL 42,800 35%
BEEKXE [ JAC JAL 43,600 27%
RECAE) =4KkBH[ERCHR)X| ERBE JAL JAC 44,600 35%
HKREE | BRE JAC JAL 44,600 35%
TEXE [ JUAC JAL 44,600 20%
HRCPHE) =5% [EEPH)EX| BRE JAL JAC 45,000 36%
Bim% ERE JAC JAL 45,000 36%
BEEXE [ JAC JAL 44,900 32%
KR(FR =\EXRE| XRF X ERE JAC JAC 36,000 28%
BEXER | BERE JAC JAC 36,000 28%
K (R =ERE|XR(FEM | ERE JAC JAC 37,100 27%
BEXEXE JAL JAC 37,100 19%
ERER ERS JAC JAC 37,100 27%
TEEXE [ JAC JAL 37,100 19%
K (R =z B XREFEM X ERE JAC JAC 38,100 29%
mzEH ERE JAC JAC 38,100 29%
TEXE [ JUAC JAL 39,000 21%
KBk () =4k BS| KRUFM | ER JAC JAC 39,600 30%
kB | BRE JAC JAC 39,600 30%
KXER(E) =5% [(RKIR(FEDE| BERE JAC JAC 39,900 31%
B ERE JAC JAC 39,900 31%
ER=8.%XXE 12 F BERE JAC JAC 29,300 30%
EEAER | BERE JAC JAC 29,300 30%
BH=E/28 12 F EEKE [ JAC JAC 30,600 26%
ERER ERS JAC JAC 30,600 20%
BEH=Ez5 RS BERE JAC JAC 30,700 32%
TEXE [ JUAC JAC 30,700 32%
mzEH BERE JAC JAC 30,700 32%
TEXE [ JUAC JAC 30,700 32%
126 = Fx REB 12 F BERE JAC JAC 32,200 33%
HKBEEHE | BRE JAC JAC 32,200 33%
BEEKXE [ JAC JAC 32,200 34%
BE=5# 1R ERE JAC JAC 32,600 34%
5 iR |BEAE | JAC JAC 32,600 37%




7A1B~8A31 AT R{#kEIGI28 sEER

JAL/JTA/JAC/RAC

FFE 5/

i

HFE:5/165TIE

Y e s 7/15 s 5
=40 0] ERH 7/1-14 %;i tﬁ\l—%@ s 7/19-8/4 tﬁ\l—%@ s 8/22-31 ZU}@ s /16 717 718 | 8/5-13 | 8/14-16

l | [ RMO | XMe i h 8/17-21 % =
HRCABR)=8% [RR( S8 (FRER) | JAL/JTA[JTA/RAG|  27.500 53% 55%  £:30,600 31,200 49%  F H:32,600, 1:34,200 28,400 54%  £:30,600 34,200 32,600 32,600 38,100 38,100
EaE % |4 (IF) [JTA/RAC[JAL/JTA| 26,900 54% 56%  H:30,100 32,700 47% __ H:33,200 28,500 54%  H:30,100 32,700 33,200 33,200 39,000 39,000
FRCHE) =FE |RRCHE) & $E8) [JAL/JTA] JTA 27,000 58% 60%  £:31,600. £:29,200 32,700 51%  £:32,800, £:35,100 27,500 59%  £:31,600. £:30,100 35,100 32,700 32,700 39,500 39,500
ABx (BAF) | JAL JTA 30,200 57% 60% £ 1:31500 32,800 56% % 1:34,100 29,400 61% % 1:30,700 34,100 32,800 32,800 36,200 36,200
RIEXE [HRE@EB)| JTA [JAL/JTA[ 28600 55% 57 B:29,100 32,800 51% 30,000 55%  H:30,200 32,800 32,800 32,800 40,300 40,300
JTA JAL 29,800 58% 60%  H:31,400 32,200 57%  H:34,600 29,800 60%  H:31,400 32,200 34,600 34,600 37,000 37,000
KR (751 =% 5 | KBR (51 % JAL JAL 26,000 59% 62 £ 1:30,000, H:26,500 29,200 57%  $1+:33200. H:29,700 26,000 62 #1:30,000. H:26,500 33,200 29,700 29,700 36.400 38,000
ST JAL JAL 26,800 58% 61% A %:28,000. 1:26,000. H:30,800 30,800 55%  A#:31,200. H:34,300 26,800 61% A #:28,000, 1:26,000. H:30,800 30,800 34,300 34,300 34,800 38,000
JAL JAL 28,000 550 58%  H:29.600 28,800 57% 28,200 58%  H:29.800 28,800 30,400 30.400 36000 38,200
Kk (A7) =% | KBk (BF) % JAL JAL 26,400 58% 61% % 1:28,000 28,000 58% 27,400 59% % +:29000 29,600 28,000 28,000 38,000 36,600
ESFIES JAL JAL 28,000 550 58%  H:29.600 28,800 57 28,200 58%  H:29,800 28,800 30,400 30.400 36000 38,200
KB (RFH =) [ KBR (5 5[5 JAL JAL 28,000 55% 58%  F:28,100. £:30,300, £:29,600, H:26.400 31,200 53% :32,200, H:29,600 28,000 58%  F:28,100. £:30,300, £:29,600, H:26.400 32,200 29,600 29,600 36.800 36,800
JENIE JAL JAL 28,000 55% 58%  A%:28600. H:28,100 32,000 52 31,200 28,000 58%  A%:28600. H:28,100 31,200 32,200 32,200 35,600 37,600
KR (B8F) =fe)Il [ KBk (BAF) % JAL JAL 28,000 55% 58%  H:28,100, £:30,300, £:29,600, H:26.400 31,200 53% :32,200, H:29,600 28,000 58%  H:28,100, £:30,300, £:29,600, H:26.400 32,200 29,600 29,600 36,800 36,800
JEIES JAL JAL 28,000 55% 58% . 32,000 52 . £:31.200 28,000 58% 8,600, H:28.100 31,200 32,200 32,200 35,600 37,600
KR (A =838 | KBk (D) % | JAL JAL 23,900 61% 64% X 27,100 59% :28,300 23,900 64% 4,700, H:25,900 27,900 28,300 28,300 35,600 37,200
IS JAL JAL 27,600 550 58% £:28,800, £:26,000, H:30.400 30.800 53 27,600 58% 8,800, £:26,000. H:30,400 29,200 33,000 33,000 34,800 37,200
KR (R =%I5 | KB (B H|? JAL JAL 28,000 54% 57% H:28,400, 1:26,400 30,400 53% 28,000 57% H:28,400, 1:26,400 29,600 30,800 30,800 37,200 37,600
HIEE JAL JAL 27.200 55% 58%  :28,400, %:29,200, £:28,800, H:28.000 30.400 53 27,200 58%  7:28,400, %:29,200, £:28,800, H:28.000 31,700 30,400 30.400 33,200 37.600
b | whE JAL JAL 27,200 55% 58%  k:28,400, £:29,200, £:28,800, H:28,000 30,400 53% 27,200 58%  :28,400, £:29,200, £:28,800, H:28,000 31,700 30,400 30,400 33,200 37,600
PNTAGIEIES JAL JAL 23,500 56% 60% % +:25800, H:23,000 25,900 559 23,500 60% 7,000, +:26,800. H:24,000 29,800 25,900 25,900 31,500 32,300
BAESE JAL JAL 24,400 55% 58%  A#:25600, £:22,800, H:27,900 27,600 53% %:28,000, 1:26,700. H:31,600 24,300 58%  A#:25,500, £:22,700. H:27,900 26,700 31,600 31,600 31,500 33,100
PCAGIEIES JAL JAL 21,800 58% 61 1.000. H:23.000 22,600 60% :23,800 22,600 60%  +:21,800, H:23800 22,600 23,800 23,800 23,400 24,200
E JAL JAL 22,600 57% 60% >:23,800, H:23,400 24,200 57% 23,400 58%  A#:24,600. H:24,200 23,400 24,200 24,200 24,200 25,000
iR E JAL JAL 2,600 57 60%  A%:23,800. H:23,400 4,200 57% 23,400 58%  A%:24,600. H:24,200 3,400 24,200 4,200 24,200 25,000
KBR (A | | JAC JAC 5,100 52% 54%  H:14,200 6,600 49% 20,000 39% 6,600 15,700 5,700 20,000 20,000
[R5 JAC JAC 5,100 52 54 6.600 49% 20,000 39 6,600 16.600 6,600 20,000 20,000
KR () =75 Xk (B % JAC JAC 0,100 49% 52% £ +:21,050. H:20,300 0,300 51% £ +:21,050. H:20,550 20,300 51% 2 1:20,800 1,050 20,550 0,550 26,000 26,400
BYER JAC JAC 20,300 48% 51%  £:20,550, £ H:22,050 20,800 50% _ £:21.050, £ H:22.500 20,800 505 22,500 22,500 22,500 26,400 26,400
KR () =88 | XU R JAL _[JTA/RAC| 22,200 57% 60% 26,200 52% 24,200 56% 26,200 26.200 26,200 32,600 34,200
=5 JTA/RAC| _JAL 23,200 55% 58" 27,200 51 25,200 54% 27,200 27,200 27.200 35,200 35,200
KR (BEE) =5& JAL/JTA[JTA/RAC| 22,200 57% 60% 26,200 52% 24,200 56% 26,200 26,200 26,200 32,600 34,200
JTA/RAC|JAL/JTA| 23,200 55% 58% 27,200 51 25,200 54% 27,200 27.200 27.200 35,200 35,200
KR () =F1E JAL JTA 23,900 58% 60% 27,800 54% 25,900 57% 27,800 27,800 27,800 33,100 34,700
JTA JAL 24,900 56% 59% 28,800 52 26,900 56% 28,800 28,800 28,800 35,900 35,900
Ak (BRE) =h"E JAL/JTA| _JTA 23,900 58% 60% 27,800 54% 25,900 57% 27,800 27,800 27,800 33,100 34,700
TiER JTA__|[JAL/JTA| 24,900 56% 59% 28,800 52 26,900 56% 28,800 28,800 28,800 35,900 35,900
BEE (PH) = %65 [ REE (P8 % JAL JAL 29,600 50% 53% &1 H:31,400 30,500 52% %+ H:31,400 29,900 53% % 1:32,200. H:31,700 31,400 31,400 31,400 40,900 38,800
2t Al 5 JAL JAL 31,400 47% 50% 31,400 50 29,000 54%  H:31,400 31,400 31,400 31,400 35,400 37,600
AEE(RE) =& JTA _[JTA/RAC| 25,200 55% 58% & 1:27,200 30,200 49% £ +:32,200 28,200 53%  £1:28,500 32,200 30,200 30,200 36,300 35,800
JTA/RAC| _JTA 25,800 54% 57% _ H:30.200 29,400 51 H:33,400 28,200 53%  H:32.000 29,400 33,400 33,400 34,600 34,600
ZHE(FH) =RE[AEE JTA JTA 26,900 56% 59% % 1:28,900 31,800 51% % 133,800 29,900 54% % +:30,200 33,800 31,800 31,800 37,600 37,100
5 JTA JTA 26,900 56% 59%  H:28.900 31,800 51 H:33.800 29,900 54 31,800 33,800 33,800 37,100 37,100
AR FTFm) =/Ma JAL JAL 23,600 57% 60%  %:24,400, H:25,300 25,300 58% 27,000 55%  £:27,800, H:31,300 25,300 25,300 25,300 34,800 36,500
N T JAL JAL 25,200 55% 58% % +:25300, H:22.800 25,300 58% 25,800 57% _ 7:26,100, %:31,300, £:30,600, H:25900 25,300 25,300 25,300 35,400 36,200
AL (F T %) =RIL LR F T8 & CRE) [ JAL JAL 24,500 61% 64%  £:25200, H:27.900 26,900 60%  %:27,600. H:30,500 25,900 62%  £:26,700, H:28,900 26,900 30,500 30,500 33,500 35,200
[T (FE) | JAL JAL 25,300 60 63% % +:29,300, H:24.200 27,700 59% % 1:30.800. H:26.300 25,500 62%  A:26,300, £:29,900, £:29,300 30.800 26,300 26,300 34,400 34,400
R GFTH) =LB[HLRFHTR R CRE) [ JAL JAL 25,200 61% 63% 6,000, H:28,000 27,600 60% 8,400, H:30,600 26,800 61%  £:27,600, H:30,600 27,600 30,600 30,600 35,900 37,600
LB% (FE) | JAL JAL 27,700 57 60 28,500, H:25,600 28,100 59% 1,100, £:31,000 26,600 61%  4:28,200, & £:29.500 31,000 28,100 28,100 35,200 37,600
FLAR BT A = L85 [ LA (B F4) 5[ BUR CRIE) | JAL JAL 26,800 61% 63% 200, H:29.800 29,200 60% 7,600, H:32,400 29,200 60% 7,600, H:31,800 27,600 32,400 32,400 35,900 38,400
=ES5ES CHH)| JAL JAL 25,800 62 64 £::29,000, 1:28,400, H:26,600 27,900 61 1,400, 1:30,800, H:28,700 28,200 61 1,400, 1:30,800. H:29,000 30,800 28,700 28,700 37,800 39,200
AR (BT ) = HE[4LIR Fr T ) s CRE) | JAL JAL 27,600 57% 60%  £:29,200, H:29,500 29,500 57% 30,900 55% 2,400, H:34,800 29,500 29,500 29,500 42,300 43,500
HER (FE) | JAL JAL 27,200 58" 61% % +:29,500, H:25.900 29,500 57 29,900 57% 0,700, £ £:35.200 29,500 29,500 29,500 43,500 43,500
HREFTTFR) =R F T %[Rm (HHE) [ JAL JAL 27,900 56% 59%  H:30,700 30,300 55%  H:30,700 30,300 55% 4,200 30,300 30,700 30,700 40,400 43,000
B CRE)[  JAL JAL 29,500 53% 56% % 1:30,700. H:27.900 30700 54% :30,300 31,100 54% 4,700, H:30.300 30700 30,300 30.300 41,900 42,200
ALIR (BT %) == [4LIR (Fr F.4) %[ m CRE) | JAL JAL 26,400 58% 61% 7,200, H:29,300 28,800 57% 9,600, H:31,500 29,200 57% 0,000, H:32,500 28,800 31,500 31,500 38,000 41,800
BN (FE) | JAL JAL 26,000 59% 61% % 1:29.800. H:25,600 28,400 58% 4 1,500, H:27.100 28,400 58% £:33,000. H:27,600 31,500 27,100 27,100 39,400 42,500
ALIR (BT %) == 20 [4LIR (B T%) %[ S CRIED | JAL JAL 26,000 60% 62%  £:26,800, H:29.800 31,600 54% 2,400, H:32,700 30,000 57% 0,800, H:32,300 31,600 32,700 32,700 40,500 43,000
= CRE)[  JAL JAL 26,800 59% 61%  ©1:31,300. H:26.400 30,300 56%  ©1:32,700. H:31.100 29,000 58% % 1:34,000. H:29,800 32,700 31,100 31,100 44,800 43,000
ALIR (BT %) =L [4LIR (3 F4) %[ CRED | JAL JAL 26,800 59% 62%  £:28,400, H:29,800 32,400 54% 30,800 56% 2,400, H:34,800 32,400 32,400 32,400 41,400 44,000
ETIES (FE) | JAL JAL 27,700 58% 60% % +:30,000, H:25600 29,700 57%  £:32.900, £:32,400. H:31.300 30.000 57 0,400, % £:34,000. H:29.000 32,400 31,300 31,300 44,000 43,200
AREFTH) =LAMN[ALR G TR %[HRCRE)| JAL JAL 27,400 61% 63%  £:28,200, H:32,200 30,600 59% 1,400, H:33,100 29,000 61% 2,600 30,600 33,100 33,100 42,600 44,300
JEAMFE (FE) | JAL JAL 27,400 61% 63 7,800, £:32,800. +:31.400. H:28,600 30,600 59% 29,000 61 9,400, % £:33,000, H:28,800 33,100 30,900 30,900 43,000 44,300
AR (FT %) =K% [4LIR FrT2) %[ 3m CRE) | JAL JAL 29,200 58% 60% 7,600, H:32,800 32,400 56% 32,000 56% 1,200, H:34,800 30,800 33,100 33,100 40,300 43,100
A5 % (FE) | JAL JAL 30.900 55% 58" 3,000, £:30,800. H:28,800 32,100 56% 31,000 58% 2,200, £:35,400, £:33,600. H:30.600 33,100 32,100 32,100 44,400 43,100
IR EFTTFR) =R [fLRFH TR % CRE) | JAL JAL 28,200 61% 63%  H:32,200 32,000 58%  H: 30,800 60% 32,000 34,700 34,700 41,900 43,600
CE (FE) | JAL JAL 29,900 59% 61%  £:32,000, £:28,800. H:27.800 32,100 58%  £:34,700, £:31.500 29,800 61% 31,500 32,100 32,100 42,400 43,600
AR FTm) =RA LR FHTR) % CRE)|[ JAL JAL 29,200 58% 61%  H:30,300 32,400 57%  H:32.900 30,800 59% 32,400 32,900 32,900 41,000 42,700
AR (FE) | JAL JAL 28,200 60 62% % +:30,800. H:28.800 31,100 58% % 1:33.400 29,800 60 33,400 31,100 31,100 43,200 42,700
AL (BT %) = =W [4LIR (Fr T4 %[ m CRE) | JAL JAL 26,600 62% 64%  %:29,000, +:27,400, H:30,300 30,500 59% 3,200, £:31,600. H:32,900 29,200 61% 1,600, +:30,000. H:33.100 31,600 32,900 32,900 42,600 44,300
B CRE)|[ JAL JAL 29,900 57 60%  £:30.800, £:28,800. H:27.800 32,100 57% _ £:33,400, £:31.400 29,800 60%  A:31.400, £:33,600, £:31,000 31,400 32,100 32,100 43,200 44,300
ARFTH) —ERB[ARFTFR)R[HRCRE)| JAL JAL 29,200 60% 62%  H:32,500 32,400 58%  H:36,100 30,800 60%  H:34,000 32,400 36,100 36,100 41,900 43,600
BERES CRE)| JAL JAL 27,800 62 64 8,200, £:31,800, +:30.800. H:28,800 31,000 60%  £:35,000. £:33,400, B:31,100 28,000 63%  £:31,200, £:30,800, H:29,600 33,400 31,100 31,100 43,200 43,600
IR =04 (B8 [1LIR (T8 %[ RE (AE) | JAL [JAL/JTA| 32,700 56% 58% 5,100, +:34,700, H:35,900 36,200 54%  H:37,200, £:39.400, £:38,600, H:40,500 33,500 57% 5,900, £:35,500, H:36,700 38,600 40,500 40,500 46,100 47,800
ABR(BHF) | JAL |JAL/JTA| 29,800 61% 63% % 1:31.400. H:30.600 33,000 59% % 1:34.600. H:33.800 33,000 59% % 1:34,600. H:33,800 34,600 33,800 33,800 43,400 47,200
AHE(RE) | JAL JTA 29,000 62% 64% % H:30,600, £:32,200 32,900 59% :34,500, +:35.400, H:34,600 32,200 60% 2,400, +:34,000, H:34,600 35,400 34,600 34,600 40,300 43,900
] JAL JTA 28,200 64% 66%  £:29,000, H:30.600 31,400 62 32,200 61% £ H:33.800 31,400 31,400 31,400 37,000 43,100
S8 (IRFR) % [ CRHE) [JAL/JTA[  JAL 33,300 55% 58% 2:36,500, 1:33,400, H:36,000 37,800 52%  £:40,500, £:37,200, H:40,100 33,300 58%  A:34,100. £:37,700, £:35,000, H:38,100 37,200 40,100 40,100 48,200 48,200
ABR (BH#E) [JAL/JTA|_ JAL 31,400 58% 61%  H:33000 34,600 57% _ H:36.200 34,600 57%  H:36.200 34,600 36,200 36.200 47,600 47,200
RHEEHH | JTA JAL 31,200 59% 61%  £:32,000, H:36.400 34,700 57%  £:34,800, H:38,.800 34,400 57% % 1:35200. H:38.400 34,700 38,800 38,800 45,400 51,100
] JTA JAL 29,800 62% 64% £ 1:32.200 33,000 60% % 1:35.400 34,400 59% % 1:36.000 35,400 33,000 33,000 43,900 43,900
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[ RE® | XEE i il 8/17-21 % =
& =% R 'A% [ERCHE)| JAL JAL 30,000 61 64 0,800, %:34,800, 1:33,200. H:30,100 34,800 58%  £:38,800. 1:38,000, H:34,900 30,800 63%  :31,600, £:37,200, £:34,000. H:30,900 38,000 34,900 34,900 48,400 49,500
REHTFR) | JAL JAL 28,800 60% 63% 30,400 28,800 63% 28,200 63% % 129800 30,400 28,800 28,800 41,900 39,800
ZimRSE [EECHE)|[ JAL JAL 30.800 60 63 £:31,600. H:34.000 34,800 58% 31,600 62%  £:34,000, £:32,400. H:35.600 35,600 37.200 37,200 46,300 49,500
BT | JAL JAL 28,800 60% 63% :30,400 28,800 63% 28,200 63%  H:29,800 28,800 30,400 30,400 36,200 36,200
EEERSE FeGES ROPHE) [ JAL JAL 29,200 62 64% 21:33.200 32,400 60% 30,000 63 #:35,600, 1:34,000 35,200 33,200 33,200 46.400 47,500
JEIES (EE)| JAL JAL 30,800 60% 62%  :32,000, £:33,100, H:32,600 35,200 56% 31,200 61%  4:32,800, %:38,100, H:35,100 33,200 35,200 35,200 44,700 47,500
1aE =HIE% FEGES CRE)| JAL JAL 28,700 62 64%  £:30,300, £:28,300, H:29,500 31,900 60%  £:34,300. H:33,500 29,500 63 :32,700, H:30,300 31,900 33,500 33,500 47,600 48,700
FlEES CRE)|[ JAL JAL 30,400 60% 62%  :31,600, 34,000 58% % H:34,700, £:33,500 30,800 62%  :32,400, £:38,000, £:31,100, H:36.400 33,500 34,700 34,700 44,300 48,700
BE =55 [HEES (FE)| JAL JAL 32,000 57 60%  £:33,600. 34,200 57% 3,600 32,800 59%  £:35200, £:31,200, H:33,600 33,600 34,200 34,200 48,000 49,100
B JAL JAL 30,400 60% 62% A H:31,200, % 1:34,200 33,600 58% % +:34,200 31,200 61% & H:32,000. £:37,600. £:35.200 34,200 33,600 33,600 43,900 48,300
BRE=KE JAL JAL 27,500 60 62% _ 7:28,300, £:32,400, £:30,300, H:26.700 30,700 58%  £:34,800, £:33,300. H:30.600 28,300 61%  7:29.100, %:34,800, +:31,600, H:28.400 33,300 30,600 30.600 41,900 43,800
JAL JAL 27,500 60% 62% % +:28300. H:31,600 30,700 58% £:31,500, H:34,000 28,300 61%  %:30, 9,100, H:32,400 31,500 34,000 34,000 41,700 42,200
BRE=%5% JAL JAL 28,200 584 60%  £:31.400, £:26,200, H:29.300 29,800 58%  £:32.600, £:27,000. H:30.300 29,800 58%  £:33400, £:28,200, H:31,300 27,000 30,300 30.300 37,000 38,100
JAL JAL 29,800 49% 53% 31,400 50% 32,200 49% 31,400 31,400 31,400 41,400 41,400
JAL JAL 27,400 59% 62% At H:28,200. %:29,300 29,000 59%  A:29.800. £:30,300 29,800 58%  A:30,600. £:34,300 29,800 29,000 29,000 38,100 38,100
JAL JAL 28,200 52% 55% % H:29,800 29,800 53% % H:31,400 29,800 53% % H:31,400 29,800 31,400 31,400 41,800 41,800
L] JAL JAL 25,800 61 63% % H:26.600. £:25.000 27.400 61% % H:29,000, £:26.600 27.400 61%  £:29.800, £:26,600. H:28.200 26,600 29,000 29,000 34,600 35,700
JAL JAL 25,800 61% 63% At H:26,600, %:31,400 27,400 61%  £:33,000, 1:28200 27,400 61% At H:28,200, %:33,800 28,200 27,400 27,400 34,900 35,700
BE=1t% JAL JAL 26,600 53 57 28,200 54 29,000 53 28,200 28,200 28,200 31,400 31,400
JAL JAL 26,600 53% 57% 28,200 54% 28,200 54% 28,200 28,200 28,200 31,800 31,800
BRE=ME JAL JAL 24,100 61 63%  £:25700, £:22,900. H:25.300 25,700 61%  £:28,100, £:23,800. H:26.800 26,000 60 :28,900, +:25,200. H:27.300 23,800 26,800 26,800 35,600 36,700
JAL JAL 24,100 61% 63%  :24,900, % £:25700 25,700 61% % +:27,300. H:24,100 26,000 60% 6,800, %:28,400 27,300 24,100 24,100 34,800 36,600
JAL JAL 28,200 499 52% % H:29.800 29,800 50% % H:31.400 29,800 50 ® H:31.400 29,800 31,400 31,400 33,400 33,400
&R =L JAL JAL 21,400 61% 64% % H:22,200. £:20,200 22,200 63% % H:23,800, £:20,200 22,200 63%  £:24,600, £:21,400, H:23,000 20,200 23,800 23,800 32,200 33,300
JAL JAL 26,600 51 54%  H:25000 28,200 52% _ H:26.600 29,000 50% _ H:27.400 28,200 26,600 26,600 29,800 29,800
JAL JAL 21,400 61% 64% % 1:22,200. H:20.200 22,200 63% % +:23,000. H:20,600 22,200 63%  £:24,600, T:23000 23,000 20,600 20,600 33,300 33,300
JAL JAL 26,600 51 54%  +:25000 28,200 52%  +:26.600 28,200 52%  +:26,600 26,600 28,200 28,200 30,200 30.200
JAL JAL 20,200 60% 63% 22,600 59% 24,200 56% 22,600 22,600 22,600 29,000 29,000
£ JAL JAL 21,800 57 61%  £:22.200 24,200 56%  :24.600 25,000 55%  %:25400 24,200 24,200 24,200 29,000 30,700
BRI JAL JAL 23,400 60% 63%  £:25800, H:25000 25,000 60% _ £:27.400, £:24,200, H:26.600 26,800 57%  £:30,000, 1:25200. H:28,400 24,200 26,600 26,600 35,100 36,200
INEASE JAL JAL 4,200 599 62 7K:25,000, £:25,300. H:22.500 25,800 59%  A:26,300, %:27,800, H:23,600 26,400 58%  A+:27.200, £:32,500, B:25,900 25,800 23,600 23,600 35,100 36,700
3 JTA__|JTA/RAC| 19,200 57% 60% 25,200 48% 24,200 50%  £:25200 25,200 25,200 25,200 28,200 28,200
JTA/RAC| _JTA 9,200 57% 60 23,200 52% 24,200 50 23,200 23,200 23,200 28,600 28,600
JTA JTA 0,900 59% 61% 24,800 54% 25,700 52%  [H:24,900 24,800 24,800 24,800 29,700 29,700
HER | JTA JTA 20,900 59% 61 27,300 49% % H:27.800 27,300 49% % H:27.500 27,300 27,800 27,800 29,900 29,900
Zimpl=1lg ESES REFTH | JAL JAL 23,900 52% 56% 23,900 56% 26,600 51%  H:27,200 23,900 23,900 23,900 32,600 33,700
WE%  [ARGTFR| JAL JAL 23,900 52 56% 23,900 56% 27,200 50% % +:29.200. H:27,400 23,900 23,900 23,900 32,800 34,000
ESERIENRA ESFES RCEE) [ JAL JAL 27,000 57% 60% 2:27,600, H:31,600 31,000 54% :31,600, H:32,200 29,600 56% 2:30,200, H:34,200 31,000 32,200 32,200 39,000 42,200
IMAFE (FE) | JAL JAL 26,800 57 60% % +:30,800, H:26,000 30.800 54% % +:32,200, H:30,000 27,900 59% % +:32.200. H:28,600 32,200 30,000 30,000 40,600 42,200
Al =Rl ESTLES CHE)[ JAL JAL 27,700 61% 63% 2:28,400, H:31,700 30,900 59% 1,600, H:34,900 28,300 63% 2:29,100, H:32,300 30,900 34,900 34,900 36.400 39,600
[EIE CRE)|[ JAL JAL 26,900 62 64% £ 1:28.500. H:27.700 30,100 60% 4 1,700, H:30.900 26,900 64 :27.700 31,700 30,900 30,900 39,800 40,400
Himp=HE ESTHES CHE)[ JAL JAL 30,800 58% 60% :32,400, H:36,400 36,400 53% :38,000, H:42,000 33,200 57% 2:34,800, H:38,800 36,400 42,000 42,000 48,100 49,500
HE CRE)|[  JAL JAL 29,600 59% 62%  %1:35200 35,200 54% % 1:40.800 32,000 58%  %1:37.600 40,800 35,200 35,200 48,100 47,400
ESEEIEE T ESES CHE)[ JAL JAL 30,000 59% 61% 1,600, H:35,600 36,400 53% 2:38,000, H:39,100 33,200 57% 4,800, H:38,800 36,400 39,100 39,100 46,800 50,000
[NITE CRE)|[ JAL JAL 30,000 59% 61 33,300 57%  %1:37.200. F:34,900 33,200 57% 37,200 34,900 34,900 50,000 50,000
JEIIEVNA EIES CEE) | JAL JAL 28,000 54% 57% :28,800. H:29,400 32,000 51% 2,200 29,800 55% 32,000 32,200 32,200 38,200 40,200
AT (FE) | JAL JAL 27.200 56% 59%  £:31,200, £:30,600. H:26.400 31,200 53% % +:32,200, H:30.400 27,800 58% 32,200 30,400 30.400 38,600 40,200
FEJI=F JEES CRE)|[ JAL JAL 28,900 58% 61%  £:29,600, H:30,200 32,100 57% 2,800, H:34,200 29,500 60% 32,100 34,200 34,200 37,200 39,200
[T (FE) | JAL JAL 27,300 61% 63%  ©1:31.300 30500 59% 27,300 63% 34,500 30,500 30,500 38,400 38,400
TEI=HE JEIES CRE) [ JAL JAL 28,400 60% 62% % H:30,000 34,000 55% 30,800 59% 34,000 35,600 35,600 46,100 48,500
HE (FE) | JAL JAL 29,200 59% 61%  ©1:34.800 34,800 54% 31,600 58% 40,400 34,800 34,800 48,100 48,500
JENI=#x1l JENIE: CRE)[ JAL JAL 31,100 56% 59% x H:32,100 36,100 52% 34,400 55% 36,100 36.100 36,100 44,800 48,000
[NITE CRE)|[ JAL JAL 30.400 57% 60%  £:34,300, £:33,600. H:28.800 33,600 56% 33,600 56% 37,600 33,200 33,200 48,000 48,000
SR =/ SR 3 CRBE)| JAL JAL 27,600 55% 58% 2:28,400, H:31,700 30,800 53% 30,200 54% 30,800 32,200 32,200 37.700 41,400
MRS (FE) | JAL JAL 24,700 59% 62% % +:25500, H:25400 27,900 57% 27,300 58% 28,700 28,600 28,600 39,800 41,400
$l% =Fel Ll S8 3¢ CRE)[ JAL JAL 28,500 59% 61% 9,200, H:32,500 30,900 58% 1,600, H:34,900 29,100 60% 30,900 34,900 34,900 36,400 39,600
[ CRE)|[ JAL JAL 26.300 62% 64 H:27.100 28,700 61% %+ H:20,500 26,300 64 29,500 29,500 29,500 39,000 39,600
SRR =HE S8 3 CRE)[ JAL JAL 31,600 55% 58% 3,200, H:34,500 36,400 51% 2:38,000, H:41,400 34,000 54% 36,400 41,400 41,400 46,100 49,500
HE CRE)|[ JAL JAL 27,500 61% 63%  %1:29.900 32,300 57%  %&1:34,700 29,900 60% % +:32.300 34,700 32,300 32,300 47,300 46,600
fllgg =421 FE S CRBE)| JAL JAL 30,800 56% 59% 2,400, H:34,400 36,400 52% > H:37.400 34,000 55% 5,600, H:38,400 36,400 37.400 37,400 44,800 49,200
[NITE CRE)|[ JAL JAL 27,900 61% 63% 31,900 58% % 1:32,700. H:33.500 31,100 59% 32,700 33,500 33,500 49,200 49,200
wL=IMA BIL%E ()| JAL JAL 27,200 55% 58% 29,800, H:28,000 30,400 53% % 1:32,200. H:31,200 29,800 54% 32,200 31,200 31,200 36,600 41,000
INEFE CRE)|[ JAL JAL 27,200 55% 58%  H:27.900 30.400 53%  H:31.100 29,800 54%  H:30.500 30.400 31,100 31,100 40,200 41,800
L =FE Wl HIL%E CRE) [ JAL JAL 28,100 59% 61% % 1:30500 30,500 58% % +:32.900 28,700 61% % +:30500 32,900 30,500 30,500 34,800 39,200
[EIE CRE)|[ JAL JAL 28,800 58% 60% H:29.600 31,200 57% _H:32.000 28,800 60% _ H:29.600 31,200 32,000 32,000 39,400 40,000
HLE=HE BHE%E CRE) | JAL JAL 31,200 55% 58% % H:32,800, £:32,100 36,000 51% 1 H:37.600 33,600 55% %t H:35,200 37,600 37,600 37,600 45,700 48,500
HE (FE) | JAL JAL 30700 56% 59% £ 1:31,600 36.900 50 34,500 53% 36,900 36.900 36,900 48,500 48,500
wIL=H BIL%E CRE) | JAL JAL 30,400 57% 59% % H:32,000, £:31,200 36,000 5% % H:37,600 33,600 55% % H:35200, £:34,400 36,000 37,600 37,600 44,400 48,800
[T CRE)|[ JAL JAL 30.400 57 59% 34,400 54%  H:36,000 33,600 55% 34,400 36000 36.000 49,600 49,600
BE=/MA EEER CRE) [ JAL JAL 24,400 54% 58%  £:25200, H:26,300 26,300 54% 26,900 53%  £:27,700, H:31,800 26,300 26,300 26,300 34,400 36,000
AT (FE) | JAL JAL 24,300 54 58% % +:26,300, H:23500 26.300 54 25,400 56% % +:29.800. H:26,100 26.300 26.300 26,300 34,900 35,600
I B CRE)|[ JAL JAL 25,300 59% 62%  £:26,000, H:29,300 27,700 58%  %:28,400. H:31,700 25,800 61% 6,600, H:29,900 27,700 31,700 31,700 33,100 34,700
i 1L 5E CRE)|[ JAL JAL 25,100 59% 62% £:28,800 27,500 58% 1,600 25,100 62% % +:29.200. H:25.200 31,600 27,500 27,500 34,700 34,700
REE=HE BEER CRE) [ JAL JAL 28,400 55% 58% 0,000, H:32,000 33,200 51% 4,800, H:38,800 30,700 54% 2,300, H:35,900 33,200 38,800 38,800 43,500 43,700
HE CRE)|[ JAL JAL 27,100 57% 60% % +:32.800 31,900 53% % 1:37.600 29,500 56% % +:35200 37,600 31,900 31,900 43,200 42,500
EEE=HL B CRE) | JAL JAL 27,600 56% 59% 2:29,200, H:31,900 33,200 51% 4,800, H:34,900 30,700 55% 2:32,300, H:35,900 33,200 34,900 34,900 42,200 42,700
[NITE CRE)|[ JAL JAL 25,900 59% 62% % 1:30,000 29,000 57 29,200 57%  %1:33.200 32,400 30,600 30.600 42,700 42,700
g =4t M B CRE)[ JAL JAL 28,200 59% 61% 2:29,000. H:31,900 31,400 57% 28,900 60% F:33,000 31,400 31,900 31,900 42,200 43,800
FEAMFE CRHE)| JAL JAL 27,200 60% 62 £ H:28.000 30,400 58 29,000 60% 30,400 31,200 31,200 40,600 41,900
HE=K% EEES CRE)[ JAL JAL 30,000 55% 58% 8,400, H:31,900 31,900 55%  1+:31,600 31,900 55%  1:30,300. H:36,000 31,600 31,900 31,900 41,300 41,500
RH% (FE) | JAL JAL 29,900 55% 58% :31,900. H:28,300 31,900 55%  H:31,500 31,900 55% % 1:36.000. H:30.800 31,900 31,500 31,500 43,900 41,900
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iR =R BAESE CRHE) | JAL JAL 28,900 59% 61%  H:32,200 32,700 56%  H:33,100 30,700 59%  H:34,000 32,700 33,100 33,100 42,600 43,100
Ri5% CRE) [ JAL JAL 27,200 61% 64% % +:30,400 31,400 58% % +:32.800 30,000 60% % +:32,.800 32,800 31,400 31,400 41,600 42,800
=K BAESE (FE)| JAL JAL 29,900 56% 59%  H:33,100 33,100 54% 30,700 58%  H:34,000 33,100 33,100 33,100 41,700 42,200
AR CRE)|[ JAL JAL 26,300 61% 64% % 1:30,300 28,700 60% % 1:32.800. H:29.400 27,900 62% % 1:32.000. H:28.400 32,800 29,400 29,400 41,100 42,200
EWE=2K BEER CRE)|[  JAL JAL 26,400 61% 64% _ £:29,800, £:28,100. H:32,400 28,800 60% % H:33,100, £:32,300 28,700 60% _ £:31,500, +:29,900, H:34,000 32,300 33,100 33,100 42,200 43,800
G CRE) [ JAL JAL 28,100 59% 61% % 132200 31,300 57% % 133,100 30,000 59% % 133,600 33,100 31,300 31,300 42,700 43,800
EHEE=FER BAESE CRHE)| JAL JAL 29,900 57% 60" 8:32,200 33,100 56%  H:33.900 30,700 59% :33,200 33,100 33,900 33,900 41,500 43,100
ERER CRE) | JAL JAL 29,300 58% 61% % +:32500 32,500 56% % +:33,900 28,000 63% % 131,600 33,900 32,500 32,500 41,900 43,100
FHE=/M EHER CRHE)| JAL JAL 25,100 52% 55Y% 25,100 55% 26,800 52 £:28,800. H:27.600 25,100 25,100 25,100 30,800 30,800
IMAFE CRE)|[ JAL JAL 24,200 53% 57%  %:25000, H:25100 25,100 55% 26,800 52% _ £:28,000, H:27.500 25,100 25,100 25,100 29,200 30,800
HH=MEL EHE CRE)|[ JAL JAL 25,100 58% 61%  %:26,900, £:23500 25,900 60% _ %:27,800, £:24,300 26,500 59%  £:27,900, £:24,900 24,300 25,900 25,900 29,000 29,000
[EIES CRE) [ JAL JAL 25,000 58% 61%  £:26,600 7,400 25,800 60%  %:27,000, 25,800 60% _ £:27,000, H:27.800 25,800 27,800 27,800 28,400 29,000
EH=L5 BEHRE CRE)|[ JAL JAL 25,800 58% 60%  £:28,200, +:25,000, H:26.600 26,600 59%  £:28,600, 27,400 58%  £:29.400, H:28,200 25,800 27,400 27,400 31,400 31,400
LE% CRE) [ JAL JAL 26,600 56% 59%  £:28,800, £:25,000, H:27,000 27,400 58%  £:20,100, 28,200 57%  £:29,600, 1:26,600. H:28,800 25,800 28,000 28,000 29,800 31,000
HFH=ILOFH HHR (FE)| JAL JAL 27,400 58% 60%  £:28,800. £:25,000 28,200 59%  £:29,400. 29,800 57%  £:30,800. £:26,600 25,800 28,200 28,200 32,600 32,600
N=EZTE3 CRE) [ JAL JAL 27,400 58% 60%  £:29,000, H:28,800 28,200 59%  £:29,400, H:29,800 29,800 57% _ £:31,000, H:31,800 28,200 29,800 29,800 31,600 34,600
HAHR=—HE HFHERE [ERCEE)| JAL JAL 25,900 58% 61% £ H:27.400 28,300 57% 30,700 53 28,300 28,300 28,300 39,100 39,100
KRB JAL JAC 26,600 52% 55% 28,200 52% 33,600 43% 28,200 28,200 28,200 42,200 42,200
HE R (HE) [ JAL JAL 26,900 56% 59% % H:28,300. £:27,800 28,300 57% 31,500 52% % H:32,700 28,300 28,300 28,300 38,700 39,900
KER(FFD| JAC JAL 25,000 55% 58%  H:28,200 26,600 55%  H:28,300 33,600 43% _ H:35200 26,600 28,300 28,300 39,800 39,800
AHR=E HHR RCHE)|[ JAL JAL 28,500 52% 55% 2 H:30.100, £:27,700 29,300 54% £ H:30.100, £:28,500 30900 52%  £:32,100. £:30,100. H:32.500 28,500 30,100 30,100 37,600 37,600
EEH CRE) [ JAL JAL 28,500 52% 55% % H:30,100 29,300 54% % H:30,100 30,900 5% % H:32,100 29,300 30,100 30,100 36,500 37,600
AHx=mi HHRR (FE)| JAL JAL 27,000 550 58%  £:28,300. £:25,800. H:27.800 21,800 57% £ H:28,300. £:26,600 29,800 53%  £:31,000. £:28,400 26,600 28,300 28,300 35,600 35,600
BINE CRE) [ JAL JAL 26,600 55% 58%  £::28,200, H:26,800 27,400 57%  £:28,300, H:27.800 29,200 54%  £:30,400, H:30,000 27,400 27,800 27,800 34,000 35,600
HH=mH EHE CRE)|[ JAL JAL 26,600 57% 60% _ %:28,800, £:25,000, H:27.400 28,800 56% £ H:29.100 30,600 54% _ %:31,800, £:29,800. H:31,400 28,800 29,100 29,100 37,600 37,600
BAFE CRE) [ JAL JAL 26,600 57% 60%  £:29,000, H:28,800 29,100 56% 30,600 54% % H:32,600 29,100 29,100 29,100 38,600 38,400
HHE=RU HEHRE CRE)|[ JAL JAL 27,400 56% 59% _ £:29,000, £:25800 29,100 56% 31,400 53% _ %:34,200, £:29,800. H:33,000 29,100 29,100 29,100 38,600 38,600
NIt CRE) [ JAL JAL 27,400 56% 59% % H:28,200 29,000 56% % H:29,100 31,400 53% % H:31,800 29,000 29,100 29,100 38,600 38,600
FEH=ALAM HEHER CRHE)| JAL JAL 28,000 58% 61 £:30,400, £:27,200 29,600 58%  £:30,700. £:28,800 29,600 58%  :30,800. £:28,000 28,800 29,600 29,600 38,100 38,100
EIZ R ES CRE) [ JAL JAL 28,800 57% 60% % H:30,700 30,400 57% % H:30,700 30,400 57% % H:31,600 30,400 30,700 30,700 36,800 38,100
FH=KS EHER CRHE)| JAL JAL 29,800 55% 57 £:30,700. £:29,000 30,700 56%  1:30,600 32,600 53%  £:33,800, £:31,800 30,600 30,700 30,700 37.700 37,700
AR CRE) [ JAL JAL 29,800 55% 57% % H:30,700, £:29,400 30,700 56% 32,200 54% : 30,700 30,700 30,700 37,400 37,700
EH=RIEZ EHE [ERCEE)| JAL JAL 28,000 59% 62 £:29,600 30,200 59% 30,600 58% 30,200 30,200 30,200 39,000 39,000
RER(FFD | JAL JAL 29,800 52% 55%  +:30,600 30,600 54% &1 H:31,000 32,200 52% 31,000 31,000 31,000 47,700 47,700
RIEsE [ERCRE)| JAL JAL 28,000 59% 62% 30,600 58% 31,400 57 30,600 30,600 30,600 37,800 39,000
RER(FFD [ JAL JAL 28,600 54% 57% % 129,000, H:30,600 30,600 54% 2 1:31,000. H:32,600 32,700 51% 31,000 32,600 32,600 36,600 41,100
AHR=MEX HHRE  [HECRE)| JAL JAL 29,000 57% 59% 30,300 57% % H:30,600 30,600 57 30,300 30,600 30,600 38,100 38,100
A% [Ez(EE)| JAL JAL 29,800 55% 58%  %:31,400, H:31,300 31,400 56% % H:31,900 31,400 56% 31,400 31,900 31,900 37,800 38,100
ABR(BFD | JAL JAL 29,300 51 55%  H:31,700 31,700 51 H:31,900 32,200 50% _ H:33.400 31,700 31,900 31,900 41,300 40,900
HEH=2k EHE [Rz@E@E)| JAL JAL 26,200 61% 63%  £:31,200, £:27,200, H:28,800 28,200 60%  £:31,900, £:29.800 29,400 59%  £:33,400, £:29.800 29,800 28,200 28,200 38,100 38,100
KER(BFD [ JAL JAL 29,800 50 54%  £:31,800, H:31.400 31,800 51% £ H:31,900 32,200 50% _ %:34,200, H:33,.800 31,800 31,900 31,900 46,500 46,500
R (HE) | JAL JAL 28,000 58% 61% 30,600 57% 31,400 56% % H:32,600 30,600 30,600 30,600 37,800 38,100
ABR(BFD | JAL JAL 29,800 50% 54%  %:30,600, H:31,900 31,800 51% % H:31,900 33,400 48% % +:33,800. H:34,600 31,800 31,900 31,900 44,600 46,500
R (HE) | JAL JAL 29,000 58% 60%  £:30,800, H:29,200 30,300 59%  £:32,000, H:30,800 30,600 58%  £:31,000 30,300 30,800 30,800 38,200 38,200
R ()| JAL JAC 28,600 55% 58% % H:29.000 30.600 55% % H:31,000 30,900 54% % H:31,000 30.600 31,000 31,000 43,900 43,900
R (HE) | JAL JAL 28,400 59% 61%  £:29,800, H:30,300 29,800 59%  £:31,000, H:31,300 29,600 60%  £:30,800, H:31,800 29,800 31,300 31,300 37,000 39,000
RFM| JAC JAL 30.200 52% 56% _ %:31,400, £:31,000, H:33,000 32,200 53% % 1:33,000. H:33,100 31,400 54 33,000 33,100 33,100 43,300 42,800
H(EE)|[ JAL JAL 22,600 56% 59% % H:23,400 24,200 57% % H:25000 26,000 53% 24,200 25,000 25,000 27,600 28,400
CRE) | JAL JAL 21,800 58% 61 H:22,500 23,400 58%  H:24,100 25,200 55¢ 23,400 24,100 24,100 26,800 28,400
CRE) | JAL JAL 23,500 61% 63%  £:24,200 24,300 62%  £:25000 24,900 61% 24,300 24,300 24,300 25,800 26,600
CRE)|[ JAL JAL 23,400 61 63%  H:24,200 24,200 62% _ H:25000 24,200 62% _ H:25000 24,200 25,000 25,000 26,600 26,600
CRE) [ JAL JAL 24,200 60% 63% % H:25,000 25,000 61% % H:25800 24,800 62% % H:25,600 25,000 25,800 25,800 28,200 29,000
CRE)|[ JAL JAL 22,800 62 65¢ 23,600 64 24,200 63 23,600 23,600 23,600 26,600 27,400
CRE) [ JAL JAL 25,800 60% 62%  +:24,200 26,600 61%  £:25000 28,200 59%  +:26,600 25,000 26,600 26,600 29,400 30,200
CRE) | JAL JAL 25,800 60° 62% _ H:26.600 26,600 61 H:27.400 28,200 59%  H:29,000 26,600 27,400 27,400 29,200 32,200
CRE) [ JAL JAL 26,600 56% 59% % H:28,200 28,300 57% 29,800 54% % H:31.400 28,300 28,300 28,300 36,700 37,500
CRE)|[ JAL JAL 25,400 58% 61%  %£1:27,000 28,300 57 28,600 56% % 1:30,200 28,300 28,300 28,300 36.300 37,500
CRE) | JAL JAL 26,900 54% 58%  H:28,500 27,700 56%  H:29,300 29,300 54%  [H:30,900 27,700 29,300 29,300 34,400 35,200
CRE)|[ JAL JAL 26,100 56% 59% 26,900 58% 28,500 55% 26,900 26,900 26,900 33,300 35,200
CRE)|[ JAL JAL 25,400 57% 60% % H:26,200 26,200 59% % H:27,000 28,200 56% 2 H:29,000 26,200 27,000 27,000 32,400 33,200
CRE)|[ JAL JAL 23,800 60% 62 24,600 61% 26,400 58% 24,600 24,600 24,600 30,400 33,200
CRE) [ JAL JAL 25,000 59% 62% 28,300 57% 29,000 56% 2 H:29.800 28,300 28,300 28,300 34,400 35,200
(FE) | JAL JAL 23,400 62% 64% % 1:25000 27,400 58% % 1:28.300 27,400 58% % 1:29,000 28,300 27,400 27,400 35,400 35,200
CRE) | JAL JAL 25,800 58% 61% % H:27,400 29,100 56% 29,800 55% % H:31,400 29,100 29,100 29,100 35,400 36,200
CRE)|[ JAL JAL 25,000 59% 62 27,400 58%  H:29,000 29,000 56% 27,400 29,000 29,000 36,200 36,200
CRE) | JAL JAL 26,400 60% 63%  £:27.200 28,000 60%  £:28,800 28,000 60% 28,000 28,000 28,000 34,900 35,700
CRE)|[ JAL JAL 26,400 60% 63 28,000 60% 28,000 60%  H:26.400 28,000 28,000 28,000 34,000 35,700
E CRE) | JAL JAL 28,200 57% 59%  +:26,600 29,800 57%  £:28,200 31,000 55%  +:29,400 28,200 29,800 29,800 34,500 35,300
5 CRE)|[ JAL JAL 28,200 57 59% 29,800 57% 31,000 55%  H:30,600 29,800 29,800 29,800 35,800 35,300
REE CRE) [ JAL JAL 27,200 60% 63% 29,400 60% 29,800 59% 29,400 29,400 29,400 35,800 36,600
5 CRE)|[ JAL JAL 27,200 60 63 29,800 59% 29,800 59% 29,800 29,800 29,800 35,400 36,600
5 CRE) [ JAL JAL 28,200 57% 60% 29,800 58% 29,800 58% 29,800 29,800 29,800 34,900 35,700
S CRE)|[ JAL JAL 24,600 63 65%  H:26.200 25,400 64%  H:27.800 27,000 62% _ H:28.200 25,400 27,800 27,800 34,600 35,700
E CRE) | JAL JAL 24,600 63% 65%  £:28,000, £:26,400, H:27.200 25,400 64%  £:30,600, T H:29,000 27,800 61%  £:30,600, T H:29,000 29,000 29,000 29,000 34,900 35,700
5 CRE)|[ JAL JAL 26,400 60 63 28,000 60 29,800 58% 28,000 28,000 28,000 35,400 35,700
£ CRE) [ JAL JAL 28,200 59% 61% 29,800 59% 29,800 59% 29,800 29,800 29,800 34,200 35,000
3 CRE)|[ JAL JAL 27,600 60% 62 29,200 60% 27,800 62 29,200 29,200 29,200 33,800 36,600
BHE=/M PREES CRE) | JAL JAL 20,300 56% 60% 21,900 57% 24,000 53% 21,900 21,900 21,900 27,500 29,300
MRS CRE) [ JAL JAL 20,100 57% 61% _ %:20,900, H:21,600 21,700 57% _ %:22,500, H:23200 23,800 53%  %:24,300, H:24,200 21,700 23,200 23,200 27,800 29,400
B =FEW PAEES CRE) |  JAL JAL 21,000 62% 64% 21,800 63% 22,100 63% 21,800 21,800 21,800 25,700 27,500
[T CRE) | JAL JAL 21,700 60% 63%  %:22,500, H:23300 22,500 62%  %:23,300, H:24,100 22,800 61%  %:23,300, H:24,100 22,500 24,100 24,100 27,000 27,600
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[ RE® | XEE i il 8/17-21 % =
ME=L& BEFE  [HEECRE)|[ JAL JAL 22,500 59% 62%  H:21.100 23,300 61 H:21.900 23,600 61 23,300 21,900 21,900 27,300 29,100
% [ERCRE| JAL JAL 21,700 61% 64%  £:24,100, H:23000 22,500 62%  £:24,900, H:24,500 23,600 61%  %:24,700, H:25500 22,500 24,500 24,500 28,200 29,500
ME=LOFH | MERX |[WRE(CHEH)| JAL JAL 22,500 62% 65% 23,300 63 24,400 62 23,300 23,300 23,300 29,300 31,100
WWOFE% (R (FE) [ JAL JAL 24,100 59% 62%  %:24,900, H:24,800 24,900 61%  %:25700, H:26,300 26,800 58%  £:27,300, H:28,100 24,900 26,300 26,300 30,200 33,200
ME=HE MEH [EECHHE)| JAL JAL 23,400 58% 61% £ H:24.900 25,100 58° 28,500 53% % H:28,600 25,100 25,100 25,100 36,500 36,500
KRB JAL JAC 25,100 52% 55% 25,100 55% 33,600 39% 25,100 25,100 25,100 33,600 33,600
HE HR (HE) [ JAL JAL 21,400 62 65%  %+:23,000 25,000 59%  %1:25.100 25,200 58% % 1:26.800 25,100 25,000 25,000 35,600 34,900
RER(EFFD| JAC JAL 25,000 52% 55% % H:25,100 25,100 55% 33,600 39% 25,100 25,100 25,100 35,200 35,200
HE=f5 ER RCEE)|[ JAL JAL 24,400 55 58% 2 1:25,100 25,100 57 21,100 54%  21:27,900 25,100 25,100 25,100 34,300 36.100
EEH CRE)|[ JAL JAL 24,400 55% 58% % H:25,100 25,100 57% 27,100 54% % H:27,600 25,100 25,100 25,100 34,300 36,200
HE=m0 EES (FE)| JAL JAL 22,100 59% 62%  ©1:22.500 22,900 61% 21:23,300 25,000 57% 21:25400 23,300 22,900 22,900 32,300 34,100
W CRE)|[ JAL JAL 22,100 59% 62%  £:22,900, H:22.800 22,900 61% 2 H:23700 25,000 57% 22,900 23,700 23,700 31,400 34,400
HE=mA GRS (FE)| JAL JAL 20,100 64% 67% 2 H:20,900 20,900 65% 2 H:21.700 23,800 61 20,900 21,700 21,700 33,500 34,900
ME CRE)|[ JAL JAL 23,300 58% 61%  £:24,900, H:24,800 26,700 56% 27,600 54% 26,700 26,700 26,700 37,200 37,000
BE=RL GE CRE)|[ JAL JAL 21,700 62% 64% £ H:22500 23,300 62% 26,000 57 23,300 23,300 23,300 35,300 37,100
[IES CRE) [ JAL JAL 23,300 59% 62% % H:24,100 25,700 58%  £:26,500, H:26,300 27,600 55% : 25,700 26,300 26,300 37,200 37,200
FE=4tAM FRE S CRHE)| JAL JAL 24,700 60% 62 26,300 60% 25,000 62% 26,300 26.300 26,300 34,800 36,600
EZRES CRHE) | JAL JAL 25,500 58% 61% £ H:27,100 27,100 59% £ H:28,700 27,400 58% £ H:27,900 27,100 28,700 28,700 35,400 36,700
ME=X% ER CHE) [ JAL JAL 24,900 59% 61 26,500 59% 28,200 56%  1:28,000 26.500 26500 26,500 34,400 36.200
AoFE  [EzCRE)| JAL JAL 26,500 56% 59% % H:27,300, £:26,100 28,100 57% % H:28900, £:27,700 29,200 55% % H:29,700 27,700 28,900 28,900 36,000 36,300
RBR(FFD | JAL JAL 29,100 44% 49% 29,100 49% 30,600 46% 29,100 29,100 29,100 36000 36.800
E=RE MEE [REIH)|[ JAL JAL 25,500 60% 62% 27,200 60% £ H:27,700 28,400 58% 27,200 27,700 21,700 35,700 37,500
RBR(FFD | JAL JAL 29,800 49% 53%  +:30.600 30,600 52% %1 H:30,700 32,200 49% __ 1£:33,000 30,700 30,700 30,700 39,500 39,500
REFE  [ERCRE)| JAL JAL 25,300 60% 63% 26,800 61% 28,400 58% £ H:28,900 26,800 26,800 26,800 36,400 37,600
KER(BFD [ JAL JAL 28,700 51 55%  £:30.600, £:29,500. H:29.000 30,700 51 31,100 51% _ £:32,600, £:31,900 30.700 30,700 30,700 36,600 41,100
ME=REX MEFE [EZRCEA)| JAL JAL 26,500 57% 60% 28,100 57% 28,400 57% 28,100 28,100 28,100 34,800 36,600
RBR(FFD | JAL JAL 29,300 489 52 30700 50 32,200 47 30,700 30,700 30,700 32,000 32,000
BAZE [Ez(EE)| JAL JAL 23,400 62% 64%  %:23700. H:25,300 25,400 61%  H:26,900 25,600 61%  2:26,100, H:27.300 25,400 26,900 26,900 35,600 36,700
KER(BFD [ JAL JAL 29,300 48% 52% _ £:30,700, H:30,100 30,700 50 31,000 49 30,700 30,700 30,700 34,000 33,600
ME==5 PEE [REEIH)|[ JAL JAL 23,100 62% 65% x £:24,700 25,700 61% £1:27.300 26,200 60% 27,300 25,700 25,700 34,800 36,200
RBR(FFD | JAL JAL 29,800 47 51% % H:30,700 30,700 50 32,200 47 30,700 30,700 30,700 37,000 37,000
BB [EZECRE)| JAL JAL 24,700 60% 62% % H:25300 26,300 60% % H:26,800 28,400 57% 26,300 26,800 26,800 36,400 36,700
RBR(FFD | JAL JAL 29,400 489 52%  1:29.800 30,700 50 31,800 48% % 1:32,200 30,700 30,700 30,700 36,200 38,600
HE=ERS MEE [REEIH)|[ JAL JAL 26,200 59% 61% 26,500 27,200 60% £ H:28,100 28,400 58% 27,200 28,100 28,100 35,700 37,500
BR(FFD | JAL JAC 28,600 52% 55% % H:29,000 30.600 52% % H:31,000 30,900 5% % H:31,000 30,600 31,000 31,000 33,900 33,900
EREE [EZE)] JAL JAL 24,700 61% 64% 25,500 26,300 61% £ H:27.100 26,400 61% % H:26.900 26,300 27,100 27,100 35,100 37,600
RFM| JAC JAL 0,200 49% 53%  £:31.900, £:31,000. H:31.400 1,900 50 30.200 53% _ £:31,800, £:30.600 1,900 31,900 1,900 35,900 35,500
[IIAINA wifiz % FCRE)|  JAL JAL 7,600 56% 60% 8,400 59% 20,200 55% 8,400 18,400 8,400 26,000 26,000
INEFE CRE)[  JAL JAL 7,400 57 61 H:18.100 8,200 59%  H:18,900 0,000 55%  H:20,700 8,200 18,900 8,900 24,400 26,000
itz =Ml Wiz % CRHE) |  JAL JAL 8,300 62% 65% 8,300 65% 8,300 65% 8,300 18,300 8,300 24,200 24,200
[EMIE CRE)|[ JAL JAL 9,000 61 64%  H:19.800 9,000 64%  H:19.800 9,000 64%  H:19.800 9,000 19,800 9,800 23,600 24,200
WL =IE8 Iz CRE) [ JAL JAL 9,800 60% 63%  H:18,400 9,800 63%  H:18,400 9,600 63%  H:19,800 9,800 18,400 8,400 25,800 25,800
L& (FE) | JAL JAL 8,400 62 66% 8,400 66% 9,000 64 8,400 18,400 8,400 24,200 25,000
WL =L OFE Iz CHED|  JAL JAL 9,800 63% 65% 9,800 65% 0,600 64% 9,800 19,800 9,800 27,800 27,800
IM=EE CRE)|[ JAL JAL 21,400 59¢ 63%  H:22.200 21,400 63%  H:22,200 23,000 60%  H:23.800 21,400 22,200 22,200 26,800 29,800
Wi =HE W% ["ECEE)| JAL JAL 19,900 60% 63% 23,000 57% 23,000 57% 23,000 23,000 23,000 35,100 35,100
RBR(FFD | JAL JAC 25,000 51% 54%  H:23.400 26,600 51%  H:25.000 32,000 41% __H:30.400 26,600 25,000 25,000 32,000 32,000
HE R (HE) | JAL JAL 20,200 59% 63% & 1:21,800 22,600 58% % +:24,200 22,600 58% % +:24,200 24,200 22,600 22,600 33,900 35,100
AR (FFD) | JAC JAL 23,400 54% 57% £ H:24.200 25,000 54% £ H:25.800 29,000 47% % H:29.800 25,000 25,800 25,800 29,000 29,000
WL =85 ;23 RCEE)|[ JAL JAL 20,900 56% 60% 20,900 60% 23,300 55% z 1:24,100 20,900 20,900 20,900 32,800 32,800
BEFR (FE) | JAL JAL 1,700 550 584 1,700 58% 23,300 55% 1,700 21,700 1,700 30,900 32,800
Wiz =m= i, Z3 CRE)[ JAL JAL 9,400 50% 63% £1:19.800 9,400 63% £1:19.800 21,200 59% £1:21,600 9,800 19,400 9,400 30,800 30,800
BIAE (FE) | JAL JAL 9,400 59% 63% 9,400 63 21,200 59% 9,400 19,400 9,400 28,000 30.800
LRy =40 Wiz % CRE)[ JAL JAL 9,000 62% 65% £ H:19.800 9,800 63% £ H:20,600 21,000 61% 9,800 20,600 0,600 32,800 32,800
Wiz =#al WL % CRE)|[ JAL JAL 9,000 62% 65% % H:19.800 9,800 64 22,200 59% % H:23,000 9,800 19,800 9,800 33,800 33,800
PIES CRE) [ JAL JAL 0,600 59% 62% 2,200 59%  H:23,800 23,800 56% 2,200 23,800 3,800 33,800 33,800
Wifg =4t M ;Z:3 CRHE)| JAL JAL 22,000 60% 63 22,800 62% 21,200 64% 22,800 22,800 22,800 33,300 33,300
Wiz =X% Iz CRHE) | JAL JAL 22,200 59% 62% 23,000 60% 24,200 58% 23,000 23,000 23,000 32,900 32,900
AH % (FE) | JAL JAL 23,800 56% 59%  +:23.400 24,600 58%  +:24,200 25,400 56% 24,200 24,600 24,600 32,600 32,900
Witz =Ry iz % CRE) | JAL JAL 22,800 60% 63% 24,200 61% 24,600 60% 24,200 24,200 24,200 34,200 34,200
RIG% (FE) | JAL JAL 22,800 60 63% 24,600 60% 24,600 60% 24,600 24,600 24,600 33,000 34,200
Wiz =HeR Wiks [ERECEHE)| JAL JAL 20,200 63% 66%  £:21,800 20,200 66%  £:22,600 24,600 59% 20,200 20,200 20,200 33,300 33,300
RER(BFD [ JAL JAL 27,300 51 54% % H:28,500, £:25.700 29,100 51%  +:28,100 29,000 52% % H:30,600, £:27.400 28,100 29,100 29,100 30,400 30.400
BAZE [Em(EE)| JAL JAL 20,200 63% 66%  H:21,800 20,200 66%  H:22,600 21,800 63%  H:23,000 20,200 22,600 22,600 32,200 33,300
KER(BFD [ JAL JAL 27,700 50 54%  £:28,500, H:29.100 29,100 51% 29,400 51%  £:30,200, H:31,000 29,100 29,100 29,100 30,800 30.400
Wiz ="t W% [RECHE)] JAL JAL 20,200 63% 66% > £:22,000 20,200 66% % +:23800 21,600 64% x £:23,800 23,800 20,200 20,200 32,500 32,500
RBR(FFD | JAL JAL 28,200 49 53% £ H:29.100 29,100 51 30,600 49% _ %:32,600, H:32.200 29,100 29,100 29,100 35,400 35,400
BB [EmCRE)| JAL JAL 22,000 60% 63% 22,800 62% 24,600 59% 22,800 22,800 22,800 33,000 33,300
RBR(FFD | JAL JAL 28,200 49% 53% £ H:29.100 29,100 51 30,600 49% % H:32.200 29,100 29,100 29,100 33,000 35,400
W =ERE W% [RECHE)] JAL JAL 20,200 65% 67%  H:22,000 20,200 67%  H:22,800 24,600 60% 20,200 22,800 22,800 32,600 32,600
R (R JAL JAC 27,000 54 57% _ £:27.400, H:25.800 29,000 54%  £:29.400, H:27.800 29,400 53% % H:29.800, £:29.300 29,000 27,800 27,800 32,300 32,300
BRBH [RmCHE)| JAL JAL 22,000 61% 64% 22,800 63% 22,600 63% 22,800 22,800 22,800 31,400 34,200
KER (D[ JAC JAL 28,600 51 55% % H:30,600, £:29.400 30,600 5% %+ H:30,700 28,600 55% % H:29.400 30,700 30,700 30,700 32,700 32,300
ie=HE (M= AR JAL JAC 22,000 56% 59% x H:22,800 23,600 56% > H:25,100, £:24,400 28,200 47% z + H:29,000 24,400 25,100 25,100 32,000 33,400
= RERUFF | JAC JAL 19,600 61% 63%  £:21,200, H:20,100 20,400 62%  %:21,200, H:22,000 29,000 46% __ %:30,000 20,400 22,000 22,000 32,800 33,800
ie=X% (= AR JAL JAL 22,400 55% 59% x H:24,000, £:23,200 25,200 54% > H:26,800, £:26,000 24,400 55% > H:26,800, £:25,200 26,000 26,800 26,800 32,800 34,200
AR |RKBREFF|[ JAL JAL 23,200 54% 57%  %:24,800, H:25600 24,400 55% % 1:26,000, H:25.200 25,200 54% ¢ 26,000 25,200 25,200 36000 36.800
e =R (= KBR(FFH | JAL JAL 21,300 62% 65% x H:22,900, £:22,100 23,700 61% > H:25,700, 1:24,900 24,100 60% 24,900 25,700 25,700 35,300 36,700
RiIGsE [ XBRUFF| JAL JAL 20,900 63% 66%  £:22,500. £:23,300 23,700 61%  £:25,300, £:26,100 25,600 58% ¢ 26,100 23,700 23,700 33,800 39,700
s =% (= AR JAL JAL 23,500 57% 60% x H:25,500 26,700 55% > H:28,700 26,800 54% 26,700 28,700 28,700 30.400 31,800
AR KRB JAL JAL 23,900 56% 59%  £:25500, H:26,300 25,500 57%  ©1:26.700. H:26.300 26.400 554 3 26,700 26,300 26,300 32,900 32,500
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e =2k JAL JAL 24,400 550 58%  £:27,200, £:25,600, H:26,800 21,200 54%  £:30,000, £:27,600, H:29,600 21,600 53%  £:30400, £:28,800, H:30,000 21,600 29,600 29,600 35,400 36.800
JAL JAL 24,400 55% 58%  £:26,800, H:26,600 25,600 56%  %:27,200, £:26,800, H:26,400 27,600 53% % H:29,700 26,800 26,400 26,400 36,200 38,600
We=ERS JAL JAC 23,200 60% 63% 21:24,000. H:23,600 25,200 59% £ H:26.400. £:26,000 26,400 57%  1:28,000 26,000 26,400 26,400 32,300 33,700
JAC JAL 24,800 57% 60% :26,100, +:25,600, H:25,100 26,000 58%  %:27,600. * H:26,800 26,800 57%  £:29,500, £:27,600, H:28,000 26,800 26,800 26,800 35,000 34,600
JAL JAC 21,800 55% 58% % +:22.600. H:21,000 22,700 56% 28,800 44% %+ H:29.600 22,700 22,700 22,700 30,800 31,200
JAC JAL 19,800 59% 62% 22,700 56%  +:22,600 28,800 44% % H:29,600 22,600 22,700 22,700 31,200 31,200
JAL JAL 21,400 56% 59% 24,200 54% 24,200 54% % H:25000 24,200 24,200 24,200 30,800 32,800
JAL JAL 21,400 56% 59% 24,200 54% 24,200 54% 24,200 24,200 24,200 32,000 32,800
JAL JAL 23,400 57% 60% %+ H:24,200 25,000 58% %+ H:26,200 27,400 54% % H:28.200, £:29.000 26,200 26,200 26,200 36,700 37,100
JAL JAL 22,200 59% 62% % H:23,400. £:22,600 25,000 58% % H:26,200, £:25,400 26,200 56% ; 25,400 26,200 26,200 32,600 37,100
JAL JAL 22,900 56% 60 E H:23.700 26,100 54% %+ H:26,900 27,400 52 26,900 26,900 26,900 29,200 29,600
JAL JAL 22,900 56% 60% 3,700, H:24,500 26,100 54% 6,900, H:27,700 26,200 54% 26,100 27,700 27,700 30,000 29,600
G JAL JAL 24,200 54% 57% % +:26,200. H:25,000 27,000 53% % +:28.300. H:27,800 28,200 50 28,300 27,800 27,800 34,200 34,600
JAL JAL 23,400 55% 59% % H:25000 26,200 54% % H:27,800 27,400 52% 26,200 27,800 27,800 32,200 34,600
HR=ER JAL JAC 3,000 59% 62% % 1:24.600. H:23.800 25,800 57% _ ©1:27.400. H:26.600 27,000 55§ 27,400 26,600 26,600 31,100 31,500
JAC JAL 3,800 57% 60% % H:24,800. £:24.600 26,600 56% % H:27,800, £:27,400 25,400 58% 27,400 27,800 27,800 31,900 31,500
/MA=FE L JAL JAL 9,500 63% 65% 119,400 20,300 64%  H:20.200 21,300 62% :22,000 20,300 20,200 20,200 26,000 27,600
JAL JAL 1,500 59% 62%  £:22,300, H:21,800 22,300 60%  H:22,600 23,300 59%  %:24,100. H:24,400 22,300 22,600 22,600 27,600 27,600
IMA=TEB Ep JAL JAL 22,200 58% 61%  £:22,800, H:21.700 23,000 60% _ %:23,600, H:22,500 23,200 59% % 1:24,000. H:24.100 23,000 22,500 22,500 28,400 30,000
B JAL JAL 21,800 59% 62%  £:23400, £:21,600, H:22,600 22,600 60%  £:24,200, £:22,400, H:23.400 24,400 57% % H:25800, £:23,600 22,400 23,400 23,400 27,700 30,000
ME=ILOFE AT CRE)|[  JAL JAL 21,000 63% 65¢ 21,700 21,800 64%  H:22,500 23,600 61%  £:24,400, H:25.100 21,800 22,500 22,500 29,600 30.800
IN=ETE CRE) [ JAL JAL 23,000 59% 62%  £:23400, H:24,200 23,800 61%  £:24,200, H:25000 26,800 56%  £:27,600, H:28.400 23,800 25,000 25,000 30,200 32,700
IMNE=HE NS CRE)|[ JAL JAL 22,600 58% 61%  £:24,200, H:24,700 24,700 57 27,600 52%  £:29.200, H:29.900 24,700 24,700 24,700 36,500 36,500
HE CRE) | JAL JAL 23,400 56% 59% % +:24,700 24,700 57% 28,500 51% % H:29,300 24,700 24,700 24,700 36,500 36.500
IMA=TER INEFE CRE)|[ JAL JAL 23,100 55% 59% % H:24,700. £:23,700 23,900 57% % H:25,500, £:24.500 27,200 51% % H:28.800 24,500 25,500 25,500 33,500 33,500
BEFE CHED|  JAL JAL 25,700 50% 54% 25,900 54% 27,900 50% 25,900 25,900 25,900 33,500 33,500
A= INEFE CRE)|[ JAL JAL 21,800 58% 61 123,200, B 22,600 59% % H:23.200 26,100 53%  £:28,500, H:26.900 22,600 23,200 23,200 32,600 34,200
BINE CRE) [ JAL JAL 22,200 57% 60% :23,000 23,000 59% %+ H:23,200 26,200 53% % H:27,000 23,200 23,200 23,200 32,100 34,500
M= INMAFE CRHE)| JAL JAL 20,200 62% 659 800, 24,200 58%  #1:24700. H:23,400 24,400 58%  #1:26.400. H:25,100 24,700 23,400 23,400 35,400 36,200
B CRE) | JAL JAL 23,000 57% 60% 800 24,700 57% 27,600 52% % H:29,200, £:27,800 24,700 24,700 24,700 36,500 36,500
A= N FE CRE)|[ JAL JAL 21,800 59% 63%  £:23400, H:24.10 25,100 57 27,600 53%  £:29.200, H:29,500 25,100 25,100 25,100 35,600 36.400
NIES CRE) [ JAL JAL 24,600 54% 58%  H:23,000 25,100 57% 28,400 51% 25,100 25,100 25,100 36,700 36,700
AA=FE UM INEASE CRHE)| JAL JAL 23,200 60% 63%  £:25,000, H:23,100 24,800 61 £:26,600. H:24,700 25,900 59%  £:27,500. H:26,500 24,800 24,700 24,700 35,200 36,700
JEAMEE CRE)|[ JAL JAL 24,000 59% 62% % H:25,600 25,600 59% H:27,200 27,400 57% % H:28200 25,600 27,200 27,200 34,900 36,200
IMA=KH INEFE CRE)|[ JAL JAL 24,600 57% 60% % +:25000, H:24.900 26,200 58% % +:26,600. H:26,500 28,800 53 8,400, H:29.500 26,600 26,500 26,500 34,700 36.300
K% CRE) [ JAL JAL 25,400 56% 59% % H:25800 27,000 56% % H:27,400 29,200 53% % H:30,000 27,000 27,400 27,400 36,800 35,800
IMA=RIG NS CRE)|[ JAL JAL 24,000 61 63%  H:23.200 26,200 60%  H:25400 26,400 60% % 1:27.200. H:27,500 26,200 25,400 25,400 36000 36,700
RIGsE CRE) [ JAL JAL 24,000 61% 63% % H:24,800 26,600 59% 28,400 56% % H:29,200 26,600 26,600 26,600 35,900 37,100
IMA=FER I FE CRE)|[ JAL JAL 25,000 57 60%  H:24,200 26,300 58%  %:26,600, H:25800 26,400 58% % 1:27.200. H:26.300 26,300 25,800 25,800 35,100 35,800
RS CRE) [ JAL JAL 25,000 57% 60% % H:25,600 26,600 58% 27,600 56% % H:28,400 26,600 26,600 26,600 35,600 36,200
IMNA=E INEFE CRE)|[ JAL JAL 24,000 59¢ 62% _ H:23.200 26,300 58% % 1:26,600. H:25.800 26,800 57%  ©1:27.200. H:27.500 26,600 25,800 25,800 35,100 36,700
T CRE) | JAL JAL 24,000 59% 62% % H:24,800 26,600 58% % H:27.400 28,400 55% % H:29,200 26,600 27,400 27,400 35,900 36,700
IMA=EEIR INEASE CRHE)| JAL JAL 25,000 59% 62 H:24,300 26,300 60%  H:25900 26,800 59%  #+:27.200, H:26,700 26,300 25,900 25,900 36.000 36,700
BEREH [Rm(RE| JAL JAL 23,800 61% 63%  £:24,200, H:25800 25,400 61%  £:25800, H:27.400 26,400 60% 25,400 27,400 27,400 34,800 37,100
ME=EE JTA__|JTA/RAC| 27,600 53% 55% % 1:30,000 33,200 6% & 27,600 55% 35,600 33,200 33,200 37,200 35,500
JTA/RAC| _JTA 24,500 58% 60% M- 30,100 51% H 24,500 60% 30,100 32,500 32,500 35,400 35,400
IME=F1E JTA JTA 25,900 59% 61% & 31,400 53% & 25,900 61 33,800 31,400 31,400 35,500 33,800
JTA JTA 28,900 55% 57% H 34,500 49% : 28,900 57% 34,500 36,900 36,900 39,800 39,800
AL=8d JTA_|JTA/RAC| 25,200 51% 54% & 30.800 44 25,200 54 33,200 30,800 30.800 33,700 32,600
JTA/RAC| _JTA 25,200 51% 54% H 30,800 44% 25,200 54% 30,800 33,200 33,200 35,000 35,000
BL=51E JTA JTA 23,500 59% 61% % 1:25900 29,000 52 23,500 61 31,400 29,000 29,000 32,000 30,900
JTA JTA 26,500 54% 56%  H:28,900 32,100 47% 26,500 56% 32,100 34,500 34,500 36,300 36,300
BH=2k JAL JAC 4,800 43 48% _ %:25,600, T H:24.400 25,800 46" 7,100 43% 25,800 25,800 25,800 27,200 7,200
JAC JAL 4,800 43% 48% & +:25600, H:22,200 5,800 46% 7,200 43% 5,800 25,800 5,800 27,200 7,200
BEXB=5#H JAC JAC 6,600 38 38% £ H:17.100 8,200 32% 9,400 28% 8,200 18,200 8,200 19.400 9,400
[ E JAC JAC 6,600 38% 38%  +:17,100 8,200 32% 9,400 28% 8,200 18,200 8,200 19,400 9,400
BERE=HKRE JAC JAC 5,500 48% 48% 5,500 48% 6,500 44% 5,500 15,500 5,500 16.500 6,500
i JAC JAC 5500 48% 48% 5500 48% 6,500 44% 5500 15,500 5500 16,500 6,500
(B =F& [ FR (HH) [JAL/JTA|  JAL 34,100 52% 55% & H:35.000 36,700 51 34,900 54%  £:36,100. H:37,100 36,700 36.700 36,700 43,600 43,600
EH%E [ER(@E)|[ JAL [JAL/JTA] 33300 53% 56%  £:36,700, £:35,100 35,200 53% F H:35400, % 1:36,700 34,100 55%  £:37,700, £:36,100 36,700 35,400 35,400 42,000 42,000
JAL JAL — 36,600 51% % 1:38,200 35,400 53% % 1:37.000 38,200 36,600 36,600 42,800 42,800
SRR (R = E JAL/JTA|_JAL 32,500 54% 56%  H:36,000 35,700 5%  H:36,700 33,300 55%  H:37,300 35,700 36,700 36,700 41,200 41,200
£ JAL _|JAL/JTA| 30,200 57 60% _ %:34,100 33,000 56% H 1 H:34,600, £:36.700 31,000 58%  %:34,900 34,600 34,600 34,600 38,400 39,200
ShHE(IRER) =B [ GRE) % JAL/JTA] _JAL 30,800 53% 56% x H:31,000 34,000 51% H:34,300 31,900 54% 2,400, H:33,800 34,000 34,300 34,300 42,200 42,200
MER JAL _|JAL/JTA| 28,500 56° 59%  £:31,600 31,300 55% 31,900 54 32,900 32,900 32,900 39,500 41,300
JAL JAL — 36,600 49% 35,400 51% 38,200 36,600 36,600 41,200 41,200
B (AR ER) = 1LTy (R GRE) JAL/JTA] _JAL 28,100 52% 56%  H:32,100 30,500 52% 28,100 56 30,500 33,600 33,600 38,800 38,800
IZ3 JAL_[JAL/JTA[ 25,700 56% 59%  £:27,300 26,200 59% 25,800 59% 28,600 28,600 28,600 35,300 35,300
JAL JAL — 35,000 50% 33,800 52% £ 1:35.400. H:32.200 36,600 33,400 33,400 39,600 39,600
T =1LE [HEGREH) % JTA JAL 28,600 60% 62% £1:29.400 32,200 57% 33,600 55% 33,000 32,200 32,200 40,800 40,800
[ JAL JTA 28,600 60 62% 31,400 58% 32,000 58%  %:33,000, £:32,200 31,400 31,400 31,400 40,000 41,900
RHEGIRER) =/Ma [FRE GRER) JAL/JTA] _JAL 29,300 53% 56%  2::30,100, H:31,300 32,500 51%  £:33,300, H:34,100 31,900 52%  £::32,700, H:35,600 32,500 34,100 34,100 41,700 41,700
MRS JAL _|JAL/JTA| 29,300 53 56%  £:31.900, £:31,100. H:28,500 31,200 53% _ H:31,400, %£:34.400, £:33,600, H:31.100 29,900 55%  £:34,400, £:32,700. H:29.400 33,600 31,100 31,100 39,800 40,500
SRR =BA R GRE) % JTA JAL 24,700 52% 55% 24,700 55% 30,800 44% 24,700 24,700 24,700 31,900 31,900
=% JAL JTA 24,700 52 55% 24,700 55% 29,200 47% __ %:30,200, £:29.400 24,700 24,700 24,700 31,900 31,900
PR GRER) =42l [hE RE) % JTA JAC 25,400 47% 52%  %::26,200, £:25,800, H:24,200 29,500 44% _ H:29.000 30,700 42% x + H:30,900 29,500 29,000 29,000 34,200 34,200
NIt JAC JTA 25,400 47 52% _ H:24,600 27,800 47% __B:25.800 32,800 38%  £:33.900, £:33,000 27,800 25,800 25,800 36,700 36,700
R (RE) =BEAR|RR(RA) R JAL JAC 27,800 55% 58%  H:29,500 27,800 58%  H:30,400 29,800 55% % H:30,400 27,800 30,400 30,400 45,300 45,300
JAL JAL 32,900 44% 48% A% 1:33.800 39,500 37% A% 1:40,400 39,500 37% A% 1:40,400 40,400 39,500 39,500 44,800 43,900
BEXBR JAC JAL 27,800 55% 58% % H:20,700 27,800 58% % H:31,000 28,800 57% % H:29,300 27,800 31,000 31,000 45,300 45,300
JAL JAL 32,000 45% 49% __ H:32.500 40,400 36%  £:40.900, H:40.700 39,500 37% _ £:40.900, H:40.400 40,400 40,700 40,700 43,900 43,900
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HRCPR)=ERB|RRCAB)%| ERE JAL JAC 32,600 48% 50% % 37,200 43% 37,200 43% 37,200 37.200 37,200 45,100 45,100
FERS | JAL JAC 34,200 39% 41% 43,700 25% 43,700 25% 43,700 43,700 43,700 45,100 45,100
ERGR ERE JAC JAL 31,400 50% 52% %1 37,200 43% 37,200 43 37.200 37,200 37.200 45,100 45,100
RRECHR) =#2B|RRCABE) X[ _ERE JAL JAC 32,300 51% 54% H: 38,600 45% _H:40,100 40,100 43% 38,600 40,100 40,100 46,500 46,500
BEKRE | JAL JAC 36,500 39% 41% £+ H:36.700 43,100 30 46,900 24 43,100 43,100 43,100 47,300 47,300
EzBE | ERE JAC JAL 32,800 50% 53% 40,100 43% 40,100 43% 40,100 40,100 40,100 46,500 46,500
ZXE8 | JAC JAL 36,500 39% 41% %+ H:36.700 43,100 30 46,900 24 43,100 43,100 43,100 47,300 47,300
R (AE) =HARB[EZCAE) %] ERE JAL JAC 35,700 48% 49% %+ H:36,200 41,400 41% 41,400 41% 41,400 41,400 41,400 47,900 47,900
HkRERE | ERE JAC JAL 34,200 50% 52% £ H:35,100. £:34,800 40,100 43% £ H:41.400 41,100 42% £ H:41.400 40,100 41,400 41,400 47,900 47,900
JAC JAL 38,700 39% 41% _ +:39,000 44,100 32% 47,900 27% 44,100 44,100 44,100 47,900 47,900
HR(CHA) =5# JAL JAC 34,000 51% 53% % +:36,000. H:34,600 40,500 44% % 1:41,900 40,400 44% % 1:41,700 41,900 40,500 40,500 48,300 48,300
JAC JAL 34,300 51% 52% % +:34900, H:36,700 40,800 43% _ H:42,600 40,600 44% _ H:42,400 40,800 42,600 42,600 48,300 48,300
3 JAC JAL 40,400 39% 41% % H:40,700 44,400 359 48,200 29 44,400 44,400 44,400 48,200 48,200
KR (B =BEAB| KR (B %[ ! JAC JAC 25,500 49% 53%  £:26,300, T:25800 25,900 52%  £:26,800, T:26,300 26,300 52%  £:26.400 26,300 25,900 25,900 37,500 37,900
BEABE | B! JAC JAC 25,300 49% 53 25,800 5% -+ H:27.300 25,800 52 27,300 27,300 27,300 37,900 37,900
KR (FFH) =ERB| Xk () X[_E! JAC JAC 27,700 46% 48% > £:29,000, H:28,100 31,800 40% £ +:32,700 32,300 39%  +:34,100 32,700 31,800 31,800 36.600 37,000
BEKRES | JAL JAC 28,800 37% 40% %+ H:28.900 35,600 26" 35,600 26% 35,600 35,600 35,600 39,900 39,900
ERER [ ER JAC JAC 28,100 45% 47% % H:29,900, £:29,500 32,700 39% 2 H:33.600 32,700 39% % H:34,100, £:33,600 33,600 33,600 33,600 37,000 37,000
HEEKRE | JAC JAL 28,800 37% 40% %+ H:28.900 35,600 26% 35,600 26% 35,600 35,600 35,600 39,900 39,900
AR () =Bz AR X ERE JAC JAC 28,600 47% 51% > £:29,500 34,700 40% % +:35,600 35,200 39%  +:36.600 35,600 34,700 34,700 40,800 41,200
wzBR ERE JAC JAC 29,500 45% 49% 29,800, £:30,400. H:30.800 35,600 39% %+ H:36,500 35,600 39% _ %:36.600, £:36,500, H:37,000 36,500 36,500 36,500 41,200 41,200
FEAE | JAC JAL 31,100 37% 40% H:31,300 38,500 26% 38,800 25% 38,500 38,500 38,500 42,400 42,400
KR () =ik B8 KIR (1) %[ Ee! JAC JAC 30.800 45% 47% % +:32,200. H:31,300 36.000 38% 3 36,500 38% 8,300 36,900 36000 36.000 41,300 41,700
P RERFE | JAC JAC 31,700 44% 46%  %:32,300, +:33,100, H:33,500 36,900 37% 36,900 37% 8,100, £:37,800. H:38,300 37,800 37,800 37,800 41,700 41,700
KIR () =55 JAC JAC 31,200 46% 48% € 1:32,700, H:31,800 37,200 38% 37,700 37 9,500 38,100 37.200 37,200 42,600 43,000
JAC JAC 32,100 44% 47% 38,100 37% 38,100 37% H:39.500. £:39,000 39,000 39,000 39,000 43,000 43,000
BE=8XXE JAC JAC 22,400 46% 51 22,400 51 22,400 51 21,500 21,500 21,500 32,300 32,300
JAC JAC 22,400 46% 51% 22,400 51% 22,400 51% & 21,500 21,500 21,500 32,300 32,300
BEE=ERE JAC JAC 26,300 37 37% % 27,400 34 33,200 204 27,400 27.400 27,400 33,200 33,200
JAC JAC 24,100 44% 4T % 28,300 37% T H:27,400 28,300 37% T H:27,400 27,400 27,400 27,400 32,900 32,900
EE=1EZ8 JAC JAC 25,500 44 499 30,200 399 31,200 37% 30200 30,200 30200 33,700 33,700
JAC JAC 28,600 37% 37% 2 H:28.800 30,200 33% 33,700 26% 30,200 30,200 30,200 33,700 33,700
JAC JAC 25,500 44 49% 30.200 39% 31,200 37% 30.200 30,200 30.200 33,700 33,700
JAC JAC 28,600 37% 37% % H:28.800 30,200 33% 33,700 26% 30,200 30,200 30,200 33,700 33,700
18R =ik REB [HEES ERE JAC JAC 27,700 42 45% _ £:28,200, 1 H:27.800 31,700 37 32,500 35% 31,700 31,700 31,700 34,800 34,800
KREE | ERE JAC JAC 21,200 43% 46% %+ H:27.800 31,700 37% 32,500 35% 31,700 31,700 31,700 34,800 34,800
EEKXS | JAC JAC 30,800 37! 37% 1,100 31,700 35Y% 34,800 29% 31,700 31,700 31,700 34,800 34,800
B =55 [EIEED ERE JAC JAC 28,100 43 46% 8,700, £ H:27.800 32,100 38% 33,700 35% 1+ H:32.800 32,100 32,100 32,100 35,200 35,200
5% FEAE | JAC JAC 32100 38% 38% 32100 38% 35,200 32% 32100 32100 32100 35200 35,200




